R A RUJIR

PRECISION INDEXABLE CUTTING TOOLS

GENERTEC HMCT is one of the larges precision measuring and cutting tool manufacturers in
China, itis also an 1ISO 9001quality system certified enterprise.

ssssss

(T
!

|

T
3 [}

210-08-98065 451
@

www.links-china.com



>, BRARRREBAT BWETNDE] &N
7 Y % NCN TOOLS INTRODUCTION

- & ™=
4 !
R TS &
PRI

i
O
e | J

HRARARGEEARHETIR ZRHIE

19894, FIBTIA] FHERK™, AF-LTARFRTHMIIA;

19974, MIBHBEINAARITMEAR ML, EF-ERT ARG, P
AN TI R . M RIRE RFLEBETT

20034F, myEEBKEIIRARITHELF KL,

20034F, JFEE I (KELCH) A ] ;

20064F, SK. HSKHE# JIWE A 7 48 2 s

20074F, FEIREALIN T ] B AL T E 4 S

20124F, KEHEPSCIIMET=;

20214, HEHXABEAFHZIIE] KL,



B s ARG A S

BTHE A 152 7]
JTIREAR K 1B Z$E T)
STHREEA X IEZE T
WSTHEE 12 T R B4
TMG21 IR TR &%
CE:0 i A\WIES

PSCHRZETIZR S

TAER[ AR T] HO1 — H30

SAER[ R EET] 101 - 150



@, AR ABEAT B ERET]

NERTEC HMCT Monolithic Precision Boring Cutters

BEXENRY, TEATERLXBENARMERENIAONK, R

IMFEEHAE: ENIXRARGCKEN, SNKEEEE, FUIZZ I EZEMEN
iR, FHBEE. EALEE X, £F WA, ATXHNEL. RE. fAHERE
MIEXK,

BUXENZATESE&MEN L, EATHESmBMI,




BTHE{F X IEZET] W RK-F 425

BT Monolithic Precision Boring Cutters

BTREAXEEE )

HARFRAESER .o A02
RRIBFRE TIF o A03
HAMBEEIN A04
BRI BBESET] oo A06

ATRSESL TR e A07




/,‘:, AR KR BT F X 15Z5ET]

BT Monolithic Precision Boring Cutters

H AR EHER

Taper Shanks Type of Japan HZ< MAS 403 BT Z&32{FJIS B 6339-1998

% ‘

D1

BT30 31.75 48.4 13.6 16.3 2 16.1
BT40 44.45 63 M16 65.4 25 16.6 22.6 2 16.1
BT50 69.85 100 M24 101.8 35 23.2 35.4 3 25.7
BT60 107.95 155 M30 161.8 45 28.2 60.1 3 25.7

_ A lloz



BTRZEMKNIFZEET]

BT Monolithic Precision Boring Cutters

B RARA-FEE

R B FEE TIHF

Angular Mounting Square Bits Boring Bars

440.0090.022
440.0091.022
440.0092.022
440.0093.022
440.0094.022
440.0095.022
440.0096.022
440.0097.022
440.0098.022
440.0099.022
440.0100.022
440.0113.022
440.0114.022
440.0115.022
440.0116.022
440.0117.022
440.0118.022
440.0119.022
440.0120.022
440.0121.022
440.0122.022
440.01283.022
440.0124.022
440.0127.022
440.0128.022
440.0129.022
440.0130.022

BT40-TQC25-135
BT40 - TQC30 - 165
BT40-TQC38 - 180
BT40-TQC42-210
BT40 - TQC50 - 180
BT40 - TQC50 - 225
BT40-TQC62 - 180
BT40 — TQC62 — 240
BT40-TQC72-180
BT40 - TQC72 - 240
BT40 - TQC90 - 180
BT50 - TQC25 - 135
BT50-TQC30 - 165
BT50 - TQC38 — 180
BT50 - TQC42-210
BT50 - TQC50 - 180
BT50 — TQC50 — 240
BT50 - TQC62 - 195
BT50 - TQC62 - 270
BT50 - TQC72 - 195
BT50 - TQC72 - 285
BT50 - TQC90 -210
BT50 — TQC90 — 300
BT60 - TQC50 - 240
BT60 - TQC62 - 270
BT60 - TQC72 — 285
BT60 - TQC90 - 300

®25- 038
®30- ©42
®38- 50
®42 - ©56
®50- ©65
®50- 65
®62- D90
®62- ©90
®72- 0110
®72- 0110
®90- 9125
®25- 038
®30- 942
®38 - ®50
®42 - 056
®50- ©65
®50- ©65
®62- ©90
®62- D90
®72- 0110
®72- 0110
®90- ®125
®90- ®125
®50- 65
®62- D90
®72- ©110
®90- ®125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

26
33
37
44
44
56
56
66
66
66
25
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

10
10
13
13
16
16
19
19
19

10
10
13
13
16
16
19
19
19
19
13
16
19
19

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-116-45-L

M6x13
M8x13
M6x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M12x13
M12x13
M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

1.46
1.34
1.69
2.15
2.38
2.78
2.97
4.11
3.41
5.36
4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

iE:

¥ TQCA#A B FHSE T13¥ D08 T
¥ TQCIAAIBEE T EEE A8 MITE,

oalllf A



BTiRZEF N EZET]

BT Monolithic Precision Boring Cutters

HAZHEETIF

Mounting Square Bite Boring Bars with Radial Adjustment

TZC8-20-90-L

440.0001.023 BT40-TZC25-135 ®25- ®50 135 M6x15  M6x6
TZC8-29-90-L
TZC10-32-90-L

440.0002.023 BT40-TZC38-180 ®38-®70 180 30 33 10 M8xi5  Msx10  1.79
TZC10-49-90-L
TZC13-43-90-L

440.0003.023 BT40-TZC50-180 ®50- ®90 180 40 44 13 M10x15  M10x14  2.61
TZC13-64-90-L
TZC13-43-90-L

440.0004.023 BT40-TZC50-225 ®50- ®90 225 40 44 13 M10x15  M10x14  3.00
TZC13-64-90-L
TZC16-53-90-L

440.0005.023 BT40-TZC62-180 ®62- ®115 180 50 56 16 Mi2x15  Mi2x18 342
TZC16-80-90-L
TZC16-53-90-L

440.0006.023 BT40-TZC62-225 ®62- ®115 225 50 56 16 Mi2x15  Mi2x18  3.94
TZC16-80-90-L
TZC19-62-90-L

440.0007.023 BT40-TZC72-180 ®72- ®135 180 60 66 19 Mi2x15  Mi2x22  4.36
TZC19-90-90-L
TZC19-62-90-L

440.0008.023 BT40-TZC72-225 ®72- 0135 225 60 66 19 Mi2x15  Mi2x22  4.83
TZC19-90-90-L
TZC19-79-90-L

440.0009.023 BT40-TZC90-180 ®90- ®150 180 75 66 19 Mi2x15  M12x30  5.60
TZC19-113-90-L
TZC19-79-90-L

440.0010.023 BT40-TZC90-225 ®90- ®150 225 75 66 19 Mi2x15  M12x30  6.74
TZC19-113-90-L
TZC8-20-90-L

440.0023.023 BT50-TZC25-135 ®25-®50 135 20 19 8 M6x15  M6x6 2.94
TZC8-29-90-L
TZC10-32-90-L

440.0024.023 BT50-TZC38-180 ®38-®70 180 30 33 10 M8x15  M6x6 3.57
TZC10-49-90-L
TZC13-43-90-L

440.0025.023 BT50-TZC50-180 ®50- ®90 180 40 44 13 M10x15  M10x14  4.28

TZC13-64-90-L

_ A lllos

;¥ TZCEfmEESE T D08 T,

x ERS A A E FFTZWA 052 7], ¥ D075

X TZCERBMBENRE

BERBEMITE,



e RS R

BT Monolithic Precision Boring Cutters

HATMEETIHF

Mounting Square Bite Boring Bars with Radial Adjustment

AT3 Taper

TZC13-43-90-L
440.0026.023  BT50-TZC50-240 ®50- ®90 240 40 M10x15 M10x14

TZC13-64-90-L

TZC16-53-90-L
440.0027.023 BT50-TZC62-195 ®62-d115 195 50 56 16 M12x15 M12x18  5.54
TZC16-80-90-L

TZC16-53-90-L
440.0028.023 BT50-TzZC62-270 ®62-d115 270 50 56 16 M12x15 M12x18 6.57
TZC16-80-90-L

TZC19-62-90-L
440.0029.023 BT50-TZC72-195 ®72-®135 195 60 66 19 M12x15 Mi12x22  6.74
TZC19-90-90-L

TZC19-62-90-L
440.0030.023 BT50-TZC72-285 ®72-®135 285 60 66 19 M12x15 M12x22 9.1
TZC19-90-90-L

TZC19-79-90-L
440.0031.023 BT50-TZC90-210 ®90-d150 210 75 80 19 M12x15 M12x30  9.63
TZC19-113-90-L

TZC19-79-90-L
440.0032.023 BT50-TZC90-300 ®90-®150 300 75 80 19 M12x15 M12x30  12.94
TZC19-113-90-L

TZC25-91-90-L
440.0033.023 BT50-TZC105-195 ®105-®190 195 90 90 25 M16x15 M16x34  10.53
TZC25-136-90-L

TZC25-91-90-L
440.0034.023 BT50-TZC105-285 ®105-®190 285 90 94 25 M16x15 M16x34 154
TZC25-136-90-L

TZC16-53-90-L
440.0181.023 BT60-TZC62-270 ®62-d115 270 50 56 16 M12x15 M12x18  15.92
TZC16-80-90-L

TZC19-62-90-L
440.0182.023 BT60-TZC72-285 ©72-0135 285 60 66 19 M12x15 M12x22  18.45
TZC19-90-90-L

4400183.023 BT60-TZC90-300 ®90- ®150 300 75 80 19 T2C19-78-90-L Mi2x15  M12x30 22.29
TZC19-113-90-L

TZC25-91-90-L
440.0184.023 BT60-TZC105-300 ®105-®190 300 90 94 25 M16x15 M16x34  24.75
TZC25-136-90-L

i % TZCH B E#A% 71i¥ W D08 T
¥ BRI ERFTZW A R R0ASE 7], ¥ D07TT ;
% TZCHARMENEEZ A BMITHE,




@,ﬁma ARIBE L BTHREMAXIEZ5ET]

BT Monolithic Precision Boring Cutters

{0 $2 7

Angular Mounting Micro—adjustable Boring Cutters

440.0049.031 BT40-TQW38-150 ®38- ®50 150 TQW38 M3x10 Méx10 1.66
440.0050.031 BT40-TQW38-210 ®38- ®50 210 35 38 TQW38 M3x10 M6x10 2.06
440.0051.031 BT40-TQW48-150 ®48- ®65 150 41 44 TQW48 M3x10 Méx12 2.13
440.0052.031 BT40-TQW48-210 ®48- ®65 210 41 45 TQW48 M3x10 Méx12 2.77
440.0053.031 BT40-TQW62-150 ®62—- ®85 150 54 53 TQW62 Mbx12 M8x15 2.99
440.0054.031 BT40-TQW62-210 62— ®85 210 54 56 TQW62 Mb5x12 M8x15 4.10
440.0055.031 BT40-TQW82-150 ®82-®110 150 68 60 TQWS82 Méx15 M8x18 3.92
440.0056.031 BT40-TQW82-210 ®8-®110 210 68 60 TQWS82 M6x15 M8x18 5.24
440.0057.031 BT40 - TQW105-150 ®105-®140 150 85 60 TQW105 Méx15 M10x20  4.96
440.0058.031 BT40-TQW105-210 ®105-®140 210 85 60 TQW105 Méx15 M10x20  6.70
440.0079.031 BT50 - TQW38-165 ®38- ®50 165 35 37 TQW38 M3x10 M6éx10 3.70
440.0080.031 BT50-TQW38-195 ®38- ®50 195 35 38 TQW38 M3x10 M6éx10 3.80
440.0081.031 BT50 - TQW48 - 165 ®48- ®65 165 41 44 TQW48 M3x10 Méx12 4.07
440.0082.031 BT50 - TQW48 -255 48— ®65 255 41 45 TQW48 M3x10 Méx12 4.80
440.0083.031 BT50 - TQW62-240 ®62—- ®85 240 54 55 TQW62 Mbx12 M8x15 6.40
440.0084.031 BT50 - TQW62-300 ®62- ®85 300 54 56 TQW62 M5x12 M8x15 7.90
440.0085.031 BT50-TQW82-240 ®8-®110 240 68 72 TQWS82 Mbx12 M8x18 8.50
440.0086.031 BT50-TQW82-315 ®8-®110 315 68 74 TQWS82 Mb5x12 M8x18 11.8
440.0087.031 BT50-TQW105-240 ®105-®140 240 85 90 TQW105 Méx15 M10x20  12.4
440.0088.031 BT50 - TQW105-315 ®105-®140 315 85 90 TQW105 Méx15 M10x20  14.8
440.0089.031 BT50 - TQW135-210 ®135-®170 210 114 90 TQW135 Méx15 M10x30  14.5
440.0090.031 BT50 - TQW165-210 ®165-®200 210 144 90 TQW135 Méx15 M10x30  17.4
440.0376.031 BT60 - TQW48 -255 48— ®65 255 41 44 TQW48 M3x10 Méx12  13.42
440.0377.031 BT60 - TQW62-300 ®62- ®85 300 54 55 TQW62 M3x10 Meéxi12  15.75
440.0378.031 BT60-TQW82-315 ®82-®110 315 68 72 TQWS82 M5x12 M8x15  17.85
440.0379.031 BT60 - TQW105-315 ®105-®140 315 85 90 TQW105 Mbx12 M8x15  21.75
440.0380.031 BT60 - TQW135-315 ®135-®170 315 114 90 TQW135 Méx15 M10x20  23.85
440.0381.031 BT60 - TQW165-315 ®165-®200 315 144 90 TQW135 Méx15 M10x20  26.75

% TQWHREIE$E 713 I D07 T

4 llos



BT 2 A5 45 I R R R

BT Monolithic Precision Boring Cutters

Al E LTI 4R

Adjustable Shanks of Boring Heads

440.0010.020 BT40 - TK16 - 150 150 ®10-9 320 TD1-16;TD2-16;TD3-16;TD4-16
440.0003.020 BT50 - TK16 — 150 90 16 150 ®10-320 TD1-16;TD2-16;TD3-16;TD4-16
440.0030.020 BT60 - TK16 - 150 90 16 150 ®10-®320 TD1-16;TD2-16;TD3-16;TD4-16

i X SETITD1-165 —REEHISEE B 10- 068, B i EISEE HD56-0124;
X TITD2-16% — R EEISEE AD16-076, F_RELITEE HDO72-0132;
¥ $2TITD3-16% — R EEBISEE AD30-090, F_REEEITERE HD86-D146;
¥ $# 71 TD4-1652 HSE Bl AP 145-9320;

* BLASETI¥EDO6 71, HERMITE,




@,iﬁﬁﬂfimﬂﬁﬁ’/}ﬁ] JTW%Wﬁ%%}%ﬂ
GE

JT Monolithic Precision Boring Cutters

JTHREAR T T)

EBRFRAEEM ..o BO1
A BUAESE TIHFF oo BO2
BERABMEIIFN BO3
BRIBIEET] oo BO5

ATREESLTIRE e B06



Rl SR G5 OK-E R

JT Monolithic Precision Boring Cutters

= Brin i HEAR

Taper Shanks International Type E B 1ISO 7388/1, GB10944-2006 Z3y F1&E DIN 69871-1-1995

D1

JT30 31.75 46.05 47.80 16.40 19.0 16.10
JT40 44.45 63.55 50 M16 68.40 22.80 25.0 18.5 16.10
JT50 69.85 97.50 80 M24 101.75 35.50 37.7 30.0 25.70

JT60 107.95 155 130 M30 161.8 54.5 59.3 49 25.70




S BRBRAREAT JTREREETET]
*’ GENERTEC HMCT JT Monolithic Precision Boring Cutters

R B FEEE TIHF

Angular Mounting Square Bits Boring Bars

440.0001.022 JT40-TQC25-135 ®25- ®38 135 TQC8-30-45-L M6x13 M6x6 1.46
440.0002.022 JT40-TQC30-165 ®30-®42 165 24 26 8 TQC8-37-45-L M6x13 M6x8 1.34
440.0003.022 JT40-TQC38-180 ®38-®50 180 30 33 10 TQC10-48-45-L M8x13 M8x10  1.69
440.0004.022 JT40-TQC42-210 ®42-d56 210 34 37 10 TQC10-53-45-L M8x13 M8x10  2.15
440.0005.022 JT40-TQC50-180 ®50- ®65 180 40 44 13 TQC13-63-45-L M10x13 M10x12 2.38
440.0006.022 JT40-TQC50-225 ®50- ®65 225 40 44 13 TQC13-63-45-L M10x13 M10x12 2.78
440.0007.022 JT40-TQC62-180 ®62-d90 180 50 56 16 TQC16-79-45-L M12x13 M12x15  2.97
440.0008.022 JT40-TQC62-240 ®62- ®90 240 50 56 16 TQC16-79-45-L M12x13 M12x15  4.11
440.0009.022 JT40-TQC72-180 ®72-®110 180 60 66 19 TQC19-90-45-L M12x13 M12x18  3.41
440.0010.022 JT40-TQC72-240 ®72-®110 240 60 66 19 TQC19-90-45-L M12x13 M12x18 5.36
440.0011.022 JT40-TQC90-180 ®90-®125 180 75 66 19 TQC19-116-45-L M12x13 M12x24 4.9
440.0024.022 JT50-TQC25-135 ®25-®38 135 20 22 8 TQC8-30-45-L M6x13 M6x6 2.94
440.0025.022 JT50-TQC30-165 ®30- ®42 165 24 26 8 TQC8-37-45-L M6x13 M6x8 3.14
440.0026.022 JT50-TQC38-180 ®38- ®50 180 30 33 10 TQC10-48-45-L M8x13 M8x10  3.51
440.0027.022 JT50-TQC42-210 ®42- 56 210 34 37 10 TQC10-53-45-L M8x13 M8x10  3.83
440.0028.022 JT50-TQC50-180 ®50- ®65 180 40 44 13 TQC13-63-45-L M10x13 M10x12 5.25
440.0029.022 JT50-TQC50-240 ®50- ®65 240 40 44 13 TQC13-63-45-L M10x13 M10x12  4.73
440.0030.022 JT50-TQC62-195 ®62- D90 195 50 56 16 TQC16-79-45-L M12x13 M12x15  5.30
440.0031.022 JT50-TQC62-270 ®62- P90 270 50 56 16 TQC16-79-45-L M12x13 M12x15 5.64
440.0032.022 JT50-TQC72-195 ®72-®110 195 60 60 19 TQC19-90-45-L M12x13 M12x18 7.18
440.0034.022 JT50-TQC72-285 ®72-®110 285 60 60 19 TQC19-90-45-L M12x13 M12x18  8.99
440.0035.022 JT50-TQC90-210 ®90-®125 210 75 80 19 TQC19-116-45-L. M12x13 M12x24 9.05
440.0036.022 JT50-TQC90-300 ®90- ®125 300 75 80 19 TQC19-116-45-L. M12x13 M12x24 11.98
440.0075.022 JT60-TQC50-240 ®50- ®65 240 40 44 13 TQC13-63-45-L M10x13 M8x10  14.6
440.0076.022 JT60-TQC62-270 ®62- ®90 270 50 56 16 TQC16-79-45-L M12x13 M12x15 14.65
440.0077.022 JT60-TQC72-285 ®72-®110 285 60 60 19 TQC19-90-45-L M12x13 M12x18 16.53
440.0078.022 JT60-TQCY0-300 ®90-d125 300 75 80 19 TQC19-116-45-L M12x13 M12x24 18.4

i % TQCRAIEAESE T1i¥ D08 T,
¥ TQCIRRBESE N EER P BMITH,

e |lloz



JTHREAE X EZET]

JT Monolithic Precision Boring Cutters

B RARA-FEE

HAZHEETINF

Mounting Square Bite Boring Bars with Radial Adjustment

440.0041.023

440.0042.023

440.0043.023

440.0044.023

440.0045.023

440.0046.023

440.0047.023

440.0048.023

440.0049.023

440.0050.023

440.0063.023

440.0064.023

440.0065.023

JT40-TZC25-135

JT40-TZC38 - 180

JT40-TZC50 - 180

JT40 - TZC50 - 225

JT40-TZC62 - 180

JT40 - TZC62 - 225

JT40-TZC72-180

JT40 - TZC72 - 225

JT40-TZC90 - 180

JT40-TZC90 - 225

JT50 - TZC25 - 135

JT50-TZC38 - 180

JT50-TZC50 - 180

®25- 050

®38- ®70

®50- ®90

®50- ®90

®62- 115

®62- D115

O72- 0135

®72- 135

®90 - ®150

®90 - 150

®25- ©50

®38- ®70

®50- 90

135

180

180

180

225

180

225

180

225

180

225

135

180

50

50

60

20

30

40

33

44

44

56

56

66

66

66

66

19

33

44

10

13

16

16

19

19

19

19

13

M2

TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L

M6x15

M8x15

M10x15

M10x15

M12x15

M12x15

M12x15

M12x15

M12x15

M6x15

M8x15

M10x15

M10x15

M6x6

M8x10

M10x14

M10x14

M12x18

M12x18

M12x22

M12x22

M12x30

M12x30

M6x6

M8x10

M10x14

1.79

2.61

3.00

3.42

3.94

4.36

4.83

5.60

6.74

2.94

3.57

4.28

i#: X TZCEAEAE T3 I D08,
x O MIBAEAFTNG RO T], 1 £MD075T;
X TZCEARMEENEEZFBMITE,




@ﬁma ARIBEA JTIREEXIEZRET]

JT Monolithic Precision Boring Cutters

BAZMEETIN

Mounting Square Bite Boring Bars with Radial Adjustment

HRC53-58

TZCH L
440.0066.023  JT50-TZC50-240 ®50- ®90 C13-43-90 M10x15  M10x14

TZC13-64-90-L
TZC16-53-90-L

440.0067.023  JT50-TZC62-195 ®62- ®115 195 50 56 16 M10x15  Mi12x18 5.54
TZC16-80-90-L

440.0068.023  JT50-TZC62-270 ©62- @115 270 50 56 16 2009390l s Mizxis 657
TZC16-80-90-L
TZC19-62-90-L

440.0069.023  JT50-TZC72-195 ®72- ®135 195 60 66 19 C19-62-90-L  \1ovis  Mioxe2  6.74
TZC19-90-90-L

440.0070.023  JT50-TZC72-285 ®72-®135 285 60 66 19 T2C19-62-90-L  \oiis Mizxe2 9.1
TZC19-90-90-L

440.0071.023  JT50-TZC90-210 ©90- 0150 210 75 80 19 201079 90L o5 Mi2x30 963
TZC19-113-90-L
TZC19-79-90-L

440.0072.023  JT50-TZC90-300 ®90- ®150 300 75 80 19 C19-79-90 M12x15  M12x30 12.94
TZC19-113-90-L
TZC25-91-90-L

440.0073.023  JT50-TZC105-195 ®105- ®190 195 90 90 25 Mi12x15  M16x34 10.53
TZC25-136-90-L

440.0074.023  JT50-TZC105-285 ©105- ©190 285 90 94 25 1202091-90-L x5 Miexaa 154
TZC25-136-90-L
TZCH L

440.0037.023  JT60-TZC62-270 ®62- ®115 270 50 56 16 C16-53-90-L  \liexi5  Mi2xis  15.92
TZC16-80-90-L

440.0038.023  JT60-TZC72-285 ©72-®135 285 60 66 19 12010082901 o5 Mizxe2 1845
TZC19-90-90-L

440.0039.023  JT60-TZC90-300 ®90- 0150 300 75 80 19 CCIOTO0L s Mi2x30 2229
TZC19-113-90-L
TZC25-91-90-L

440.0040.023  JT60-TZC105-300 ®105- ®190 300 90 94 25 ©25-91-90 M16x15  M16x34 24.75

TZC25-136-90-L

i % TZCEfARYES 711 W DOSTT, \
x P MAR AT EFAFTZWS - R0AEE 7], ¥R D07 |
X TZCEHARMETNEEE A RMITE,

e Jllos



JTHREAE X EZET]

JT Monolithic Precision Boring Cutters

B RARA-FEE

B R 55 )

Angular Mounting Micro—adjustable Boring Cutters

HRC53-58

440.0004.031
440.0005.031
440.0006.031
440.0007.031
440.0008.031
440.0009.031
440.0010.031
440.0011.031
440.0012.031
440.0013.031
440.0034.031
440.0035.031
440.0036.031
440.0037.031
440.0038.031
440.0039.031
440.0040.031
440.0041.031
440.0042.031
440.0043.031
440.0044.031
440.0045.031
440.0370.031
440.0371.031
440.0372.031
440.0373.031
440.0374.031
440.0375.031

JT40 - TQW38 - 150
JT40 - TQW38 -210
JT40 - TQW48 - 150
JT40 - TQW48 - 210
JT40 - TQW62 - 150
JT40-TQW62-210
JT40 - TQW82 - 150
JT40 - TQW82-210
JT40 - TQW105 - 150
JT40-TQW105-210
JT50 - TQW38 - 165
JT50 - TQW38 - 195
JT50 - TQW48 - 165
JT50 - TQWA48 — 255
JT50 - TQW62 - 240
JT50 - TQW62 - 300
JT50 - TQW82 - 240
JT50 - TQW82 - 315
JT50 - TQW105 - 240
JT50 - TQW105 - 315
JT50 -TQW135-210
JT50 - TQW165 -210
JT60 - TQW48 - 255
JT60 - TQW62 - 300
JT60 - TQW82 - 315
JT60 - TQW105 - 315
JT60 - TQW135-315
JT60 - TQW165 - 315

i % TQWHRASE 713 D07 I,

®38- ®50
®38- ®50
®48 - ©65
D48 - ©65
®62- ©85
®62- ©85
®82- ®110
®82- ®110
®105- ®140
®105- ®140
®38- ®50
®38- ®50
D48 - ©65
®48 - ©65
®62 - O85
®62- ©85
®82- ®110
®82- ®110
®105- ®140
®105- ®140
®135- 0170
®165 - ®200
®48 - ©65
®62- ©85
®82- ®110
®105- ®140
®135- 0170
®165 - ©200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
90
90
90
90
44
55
72
90
90
90

TQW38
TQW38
TQw48
TQW48
TQwe2
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW38
TQW38
TQW48
TQW48
TQwe2
TQW62
TQws2
TQW82
TQW105
TQW105
TQW135
TQW135
TQw48
TQW62
TQWS82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15

M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
M6x12
M6x12
M8x15
M8x15
M10x20
M10x20

1.66
2.06
2.13
277
2.99
4.10
3.92
5.24
4.96
6.70
3.70
3.80
4.07
4.80
6.40
7.90
8.50
11.8
124
14.8
14.5
17.4
13.42
15.75
17.85
21.75
23.85
26.75

ol 5



JTHREE X EZET]

€, BABABEAT
*’ T JT Monolithic Precision Boring Cutters

AIESE K TR

Adjustable Shanks of Boring Heads

HRC53-58

L —I_] E
Y — my

150 ®10-® 320 TD1-16;TD2-16;TD3-16;TD4-16

440.0009.020 JT40-TK16 - 150
440.0007.020 JT50 - TK16 - 150 90 16 150 ®10-® 320 TD1-16;TD2-16;TD3-16;TD4-16
440.0031.020 JT60-TK16 - 150 90 16 150 ®10-0 320 TD1-16;TD2-16;TD3-16;TD4-16

i X EIITD1-16F—JSEHISEE D O010 068, FZRIEHISEE HP56-124;
¥ $#T1TD2-16 5 — L HITEE AD16-076, FREHISERE AHO72-0132;
% $#T]TD3-16 % — R EITEE AD30-090, &~ RiEHISEE HD86-D146;
% $8 71 TDA-1652H13E Bl AP 145-9320;
x ERASETIIELDO6 T, BESAIMITE,



STHRERNIFETET]

ST Monolithic Precision Boring Cutters

STIRERKXIFHEET]

FEARAEER oo Co02
IR BIAHSE TIHFF o Co03
BERABMEEIIFN Co4
RIBIRAETT C06
AISESLTI oo, co7

B RARA-FEE




@ﬁms ARIBEA STHREMAFRBZIET]

ST Monolithic Precision Boring Cutters

F [ A o S A

Taper Shanks Type of China E#r GB/T 3837-2001%%1F1S0297-1988E (F 3 E)

L1

ST40 44.45 93.4 225 16.1
ST50 69.85 97.5 M24 126.8 12 32 35.3 25.7
ST60 107.95 156 M30 206.8 16 32 60.0 25.7

_clllloz



STHEKINIFZET]

ST Monolithic Precision Boring Cutters

B RARA-FEE

R B FEE TIHF

Angular Mounting Square Bits Boring Bars

440.0200.022
440.0201.022
440.0202.022
440.0203.022
440.0204.022
440.0205.022
440.0206.022
440.0207.022
440.0208.022
440.0209.022
440.0210.022
440.0223.022
440.0224.022
440.0225.022
440.0226.022
440.0227.022
440.0228.022
440.0229.022
440.0230.022
440.0231.022
440.0232.022
440.0233.022
440.0234.022
440.0235.022
440.0236.022
440.0237.022
440.0238.022

ST40 - TQC25 - 135
ST40 - TQC30 - 165
ST40 - TQC38 - 180
ST40 - TQC42-210
ST40 - TQC50 - 180
ST40 - TQC50 - 225
ST40 - TQC62 - 180
ST40 - TQC62 - 240
ST40-TQC72-180
ST40 - TQC72 - 240
ST40 - TQCY0 - 180
ST50 - TQC25 - 135
ST50 - TQC30 - 165
ST50 - TQC38 - 180
ST50 - TQC42-210
ST50 - TQC50 - 180
ST50 - TQC50 - 240
ST50 - TQC62 - 195
ST50 - TQC62 - 270
ST50 - TQC72 - 195
ST50 - TQC72 - 285
ST50 - TQC90-210
ST50 - TQCY0 - 300
ST60 - TQC50 - 240
ST60 - TQC62 - 270
ST60 - TQC72 - 285
ST60 - TQCY0 - 300

®25- 038
®30- 042
®38- 050
D42 - 056
®50- ®65
®50- ©65
®62- 090
®62- 090
®72- 0110
®72- 0110
®90- ®125
®25- 038
®30- 042
®38- ©50
D42 - ©56
®50- ©65
®50- ®65
®62- ©90
®62- 090
®72- 0110
®72- 0110
®90- 0125
®90- ®125
®50- ©65
®62- 090
®72- 0110
®90- ©125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

26
33
37
44
44
56
56
66
66
66
22
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

10
10
13
13
16
16
19
19
19

10
10
13
13
16
16
19
19
19
19
13
16
19
19

M1

o —_ /, o4
A—-—g A 5 ~
a4y
)\)l 7\
L L b3
M
L

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-116-45-L

M6x13
M8x13
M6x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M10x13
M12x13
M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

1.46
1.34
1.69
2.15
2.38
2.78
297
4.11
3.41
5.36

4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

% TQCRAIBAESE 711 D08 TT ,
¥ TQCIRMBEIRE T EE R A HBMITE,

oo lllfc



STARE R T T]

ST Monolithic Precision Boring Cutters

HAZMEETIN

Mounting Square Bite Boring Bars with Radial Adjustment

HRC53-58

+

@

B[
nfn
njn
'3

_j__“____
)
i

15

A
a1/ \M2

440.0101.023  ST40-TZC25-135 ®25-®50 135 T2C8-20-90-L M6x15 M6x6
TZC8-29-90-L

440.0102.023  STA0-TZC38-180 ®38-®70 180 30 33 10 12C10-82-90-L  yeiis Mexto 1.79
TZC10-49-90-L

440.0103.023  ST40-TZC50-180 ®50-®90 180 40 44 13 T2C13-43-90-L 0x15 M10x14 2.61
TZC13-64-90-L

4400104023  STAO-TZC50-225 ©50— @90 225 40 44 13 12C18-43-90-L  \hinii5 Miox14 3.00
TZC13-64-90-L

440.0105.023  STA0-TZC62-180 62— ®115 180 50 56 16 12C16758-90-L  \1iois Mioxis 342
TZC16-80-90-L

440.0106.023  STA0-TZC62-225 ©62- 0115 225 50 56 16 12C16788-90-L 1o 15 Mix1s 3.94
TZC16-80-90-L

4400107.023  STAO-TZC72-180 ®72- 135 180 60 66 19 12C19762790-L o1 Mizxe2 4.36
TZC19-90-90-L

440.0108.023  STAO-TZC72-225 ©72- 0135 225 60 66 19 12019762-90-L o1 Mixe2 4.83
TZC19-90-90-L

440.0109.023  ST40-TZC90-180 ©90- ®150 180 75 66 19 12C1979-90-L o5 Mi2x30 5.60
TZC19-113-90-L

4400110023  STA0-TZC90-225 ©90- 0150 225 75 66 19 12C1979-90-L  \hiois Mi2xa0 674
TZC19-113-90-L

440.0123.023  ST50-TZC25-135 ®25-®50 135 20 19 8 T2C8-20-90-L M6x15 M6éx6  2.94
TZC8-29-90-L

440.0124.023  ST50-TZC38-180 ®38-©70 180 30 33 1o 12C10782790-L  yeiis Mexto 357
TZC10-49-90-L

4400125023  ST50-TZC50-180 ®50— 90 180 40 44 13  12C18-43-90-L  \hiniis Miox14 428

TZC13-64-90-L

i X% TZCEMAEEETIEI D08,
¥ BB MR R FAFTZW A R 0EEE 7], i WDO75T
* TZCEHARMETNEER A RMITE,

_ o]l



SRRt A Sk 5 R AR B E S

ST Monolithic Precision Boring Cutters

HAZMEETIF

Mounting Square Bite Boring Bars with Radial Adjustment

nfn
njn
'S

Il
cs

o
)
i’

15
AT3 Taper HRC53-58
TZC13-43-90-L
440.0126.023 ST50 - TZC50 - 240 O50- ®90 M10x15 M10x14 5.59

TZC13-64-90-L

TZC16-53-90-L
440.0127.023 ST50-TZC62-195 ®62-d115 195 50 56 16 M12x15 M12x18 5.54
TZC16-80-90-L

TZC16-53-90-L
440.0128.023 ST50-TZC62-270 ®62-®115 270 50 56 16 M12x15 M12x18 6.57
TZC16-80-90-L

TZC19-62-90-L
440.0129.023 ST50-TZC72-195 ®72-®135 195 60 66 19 M12x15 M12x22 6.74
TZC19-90-90-L

TZC19-62-90-L
440.0130.023 ST50-TZC72 -285 ®72-®135 28 60 66 19 M12x15 M12x22 9.1
TZC19-90-90-L

TZC19-79-90-L
440.0131.023 ST50-TZC90-210 ®90-®150 210 75 80 19 M12x15 M12x30 9.63
TZC19-113-90-L

TZC19-79-90-L
440.0132.023 ST50 - TZC90 - 300 ®90-®150 300 75 80 19 M12x15 M12x30 12.94
TZC19-113-90-L

TZC25-91-90-L
440.0133.023 ST50-TZC105-195 ®105-®190 195 90 90 25 M16x15 M16x34 10.53
TZC25-136-90-L

TZC25-91-90-L
440.0134.023 ST50-TZC105-285 ®105-®190 285 90 94 25 M16x15 M16x34 15.4
TZC25-136-90-L

TZC16-53-90-L
440.0169.023 ST60-TZC62-270 ®62-®115 270 50 56 16 M12x15 M12x18 15.92
TZC16-80-90-L

TZC19-62-90-L
440.0170.023  ST60-TZC72-285 ®72-®©135 28 60 66 19 M12x15 M12x22 18.45
TZC19-90-90-L

TZC19-79-90-L
440.0171.023 ST60-TZC90-300 ®90- ®150 300 75 80 19 M12x15 M12x30 22.29
TZC19-113-90-L

TZC25-91-90-L
440.0172.023  ST60-TZC105-300 ®105-®190 300 90 94 25 M16x15 M16x34 24.75
TZC25-136-90-L

i X TZCEMAEEE TIE D08,
% BB EEAFTZWS FAROAET], #$ 0 D07 535
X TZCHARBMENEEZASMITE,




C

STHREM XIS

ST Monolithic Precision Boring Cutters

52 T]

R

B §E 7]

Angular Mounting Micro—adjustable Boring Cutters

HRC53-58

440.0149.034
440.0150.034
440.0151.034
440.0152.034
440.0153.034
440.0154.034
440.0155.034
440.0156.034
440.0157.034
440.0158.034
440.0179.034
440.0180.034
440.0181.034
440.0182.034
440.0183.034
440.0184.034
440.0185.034
440.0186.034
440.0187.034
440.0188.034
440.0189.034
440.0190.034
440.0191.034
440.0192.034
440.0193.034
440.0194.034
440.0195.034
440.0196.034

ST40 - TQW38 - 150
ST40 - TQW38-210
ST40 - TQW48 - 150
ST40 - TQW48 - 210
ST40 - TQW62 - 150
ST40 - TQW62 -210
ST40 - TQW82 - 150
ST40- TQW82 -210
ST40-TQW105 - 150
ST40 - TQW105 -210
ST50 - TQW38 - 165
ST50 - TQW38 - 195
ST50 - TQW48 - 165
ST50 - TQW48 - 255
ST50 - TQW62 - 240
ST50 - TQW62 - 300
ST50 - TQW82 - 240
ST50 - TQW82 - 315
ST50 - TQW105 - 240
ST50 - TQW105 - 315
ST50 - TQW135 -210
ST50 - TQW165 - 210
ST60 - TQW48 - 255
ST60 - TQW62 - 300
ST60 - TQW82 - 315
ST60 - TQW105 - 315
ST60 - TQW135 - 315
ST60 - TQW165 - 315

i K TQWHREATESET1IE D07 7T

_c]llloe

®38 - ®50
®38 - ®50
D48 - ©65
48 - ©65
®62- ©85
P62 - ©85
®82-d110
®82- d110
D105- ®140
®105- ®140
®38- 50
®38 - ®50
48 - ©65
®48 - ©65
D62 - ©85
P62 - ©85
®82-d110
®82-d110
®105- ®140
®105- ®140
®135- ®170
®165 - ®200
48 - ©65
®62 - ©85
®82-d110
®105- ®140
®135- ®170
®165 - ®200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
9%
90
<)
90
44
55
72
2
)
90

TQW38
TQW38
TQwW48
TQW48
TQwe2
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW38
TQW38
TQW48
TQW48
TQwe2
TQW62
TQWS82
TQWS82
TQW105
TQW105
TQW135
TQW135
TQwW48
TQW62
TQWS82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
Méx15
M6x15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M5x12
M5x12
Méx15
M6x15

M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M6x10
M6x10
M6x12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
M6x12
M6x12
M8x15
M8x15
M10x20
M10x20

1.66
2.06
2.13
2.77
2.99
4.10
3.92
5.24
4.96
6.70
3.70
3.80
4.07
4.80
6.40
7.90
8.50
11.8
12.4
14.8
14.5
17.4
13.42
15.75
17.85
21.75
23.85
26.75



STHEEXIBFEZET] R -F5EEF

ST Monolithic Precision Boring Cutters

AL SE Sk TR

Adjustable Shanks of Boring Heads

440.0002.020 ST40-TK16 - 150 150 10 -® 320 TD1-16;TD2-16;TD3-16-TD4-16
440.0004.020 ST50 - TK16 - 150 90 16 150 ®10 -® 320 TD1-16;TD2-16;TD3-16-TD4-16
440.0035.020 ST60 - TK16 - 150 90 16 150 10 -® 320 TD1-16;TD2-16;TD3-16-TD4-16

M % EITITD1-165—KEHISER HD10-068, F - REHSEE AD56-D124;
¥ 2 TITD2-16% — R HISEE AD16-076, £ REFHISEEAD72-0132;
¥ $27]TD3-16% — L2 HISEE A D30-D90, £ RFHISEE AHD86-D146;
¥ §871TD4-1652 K35 Bl AP 145-0320;

* FEASE EMDO6 TR, HEHMITE,




@, AR KR WSTHREEXEZET]

NERTEC HMCT WST Monolithic Precision Boring Cutters

WSTIR AR B E$E 7]

FRHTRREM oo DO
RIBIAHSE TIFF o D02
BERABMEEIIFN D03
FRRIBIREASET] oo D05
RSESLTIM oo D06
AAETITIMMBELRAET] D06
TQWHREBASETT oo D07
FTZWARHMIRET] o D07
TQCHRAIBIFETT ..o, D08

TZCERMBIMEET] i D08



WSTHE KR 15T B %R -5 %

WST Monolithic Precision Borlng Cutters

FHTEHR

Manual shank without tail

L3 Lt

Lz

WST40 44.45 65.4 22.5 16.1
WST50 69.85 100 M24 101.8 12 3.2 35.3 25.7
WST60 107.95 156 M30 161.8 16 3.2 60.0 257




WSTHREEXEZET]

WST Monolithic Precision Boring Cutters

R B HH 5= TI T

Angular Mounting Square Bits Boring Bars

440.0240.022
440.0241.022
440.0242.022
440.0243.022
440.0244.022
440.0245.022
440.0246.022
440.0247.022
440.0248.022
440.0249.022
440.0250 022
440.0263.022
440.0264.022
440.0265.022
440.0266.022
440.0267.022
440.0268.022
440.0269.022
440.0270.022
440.0271.022
440.0273.022
440.0274.022
440.0275.022
440.0290.022
440.0292.022
440.0294.022
440.0296.022

WST40 - TQC25 - 135
WST40 - TQC30 - 165
WST40 - TQC38 - 180
WST40 - TQC42 - 210
WST40 - TQC50 - 180
WST40 - TQC50 - 225
WST40 - TQC62 - 180
WST40 - TQC62 - 240
WST40-TQC72 - 180
WST40 - TQC72 - 240
WST40-TQC90 - 180
WST50 - TQC25 - 135
WST50 - TQC30 - 165
WST50 - TQC38 - 180
WST50 - TQC42 - 210
WST50 - TQC50 - 180
WST50 - TQC50 - 240
WST50 - TQC62 - 195
WST50 - TQC62 - 270
WST50 - TQC72 - 195
WST50 - TQC72 - 285
WST50 - TQC90 - 210
WST50 - TQC90 - 300
WST60 - TQC50 - 240
WST60 - TQC62 - 270
WST60 - TQC72 - 285
WST60 - TQC90 - 300

®25- ©38
®30- 42
®38 - 50
®42 - ©56
®50- ©65
®50 - ©65
®62- ©90
®62- ®90
®72- 0110
®72- 0110
D90 - d125
®25- ©38
®30- v42
®38- ®50
®42 - ©56
®50 - ®65
®50- ®65
®62 - ©90
®62 - ©90
®72- ®110
®72- 0110
®90- 125
D90 - ®125
®50 - ©65
®62- ©90
®72-®110
®90- ®125

135
165
180
210
180
225
180
240
180
240
180
135
165
180
210
180
240
195
270
195
285
210
300
240
270
285
300

24
30
34
40
40
50
50
60
60
75
20
24
30
34
40
40
50
50
60
60
75
75
40
50
60
75

26
33
37
44
44
56
56
66
66
66
22
26
33
37
44
44
56
56
60
60
80
80
44
56
60
80

M1
d
a 8| — 52
L F— i
A s
)\)l 7\
L ya b3
M

10
10
13
13
16
16
19
19
19

10
10
13
13
16
16
19
19
19
19
13
16
19
19

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L
TQC10-53-45-L
TQC13-63-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-90-45-L
TQC19-116-45-L
TQC19-116-45-L
TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L
TQC19-116-45-L

M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M6x13
M6x13
M8x13
M8x13
M10x13
M10x13
M12x13
M12x13
M12x13
M12x13
M12x13
M12x13
M10x13
M12x13
M12x13
M12x13

M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M6x6
M6x8
M8x10
M8x10
M10x12
M10x12
M12x15
M12x15
M12x18
M12x18
M12x24
M12x24
M8x10
M12x15
M12x18
M12x24

45°

1.46
1.34
1.69
2.15
2.38
2.78
2.97
4.11
3.41
5.36
4.9
2.94
3.14
3.51
3.83
5.25
4.73
5.30
5.64
7.18
8.99
9.05
11.98
14.6
14.65
16.53
18.4

i XTQCRFELIEETI# D08
KTQCEAMEEE NEE R A BMITH,

_ 0 lloz



WSTHREE R 5

= 5E ]

WST Monolithic Precision Boring Cutters

B RARA-FEE

HAZMEEITIN

Mounting Square Bite Boring Bars with Radial Adjustment

AT3 Taper

HRC53-58

440.0135.023

440.0136.023

440.0137.023

440.0138.023

440.0139.023

440.0140.023

440.0141.023

440.0142.023

440.0143.023

440.0144.023

440.0157.023

440.0158.023

440.0159.023

WST40-TZC25-135

WST40 - TZC38 — 180

WST40 - TZC50 - 180

WST40 - TZC50 - 225

WST40 - TZC62 - 180

WST40 - TZC62 — 225

WST40 - TZC72 - 180

WST40 - TZC72 — 225

WST40 - TZC90 - 180

WST40 - TZC90 - 225

WST50 - TZC25 - 135

WST50 - TZC38 — 180

WST50 - TZC50 — 180

©25- 50

®38- D70

D50- ®90

®50- ®90

®62- d115

®62- 0115

O72- 0135

®72- D135

®90- ®150

®90 - ®150

®25- ®50

®38-d70

O50- ©90

180

180

225

180

225

180

225

180

225

135

180

180

30

40

40

50

50

60

60

75

75

20

30

40

33

44

44

56

56

66

66

66

66

19

33

44

10

13

13

16

16

19

19

19

19

10

13

TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L

M6x15

M8x15

M10x15

M10x15

M12x15

M12x15

M12x15

M12x15

M12x15

M12x15

M6x15

M8x15

M10x15

M6x6

M8x10

M10x14

M10x14

M12x18

M12x18

M12x22

M12x22

M12x30

M12x30

M6x6

M8x10

M10x14

1.79

2.61

3.00

3.42

3.94

4.36

4.83

5.60

6.74

2.94

3.57

4.28

i RTZCEMEEE TIIEIDO8 T
I MR AT E FAFTZWAS R0 T, ¥ RD075T
XTZCEﬁ&#ﬁéﬁﬂ*Eg)ﬂimﬂfo




@ﬁm? ARIBEAT WSTHIEE (e iE 24 7]

WST Monolithic Precision Boring Cutters

HATVHEE T

Mounting Square Bite Boring Bars with Radial Adjustment

TZC13-43-90-L

440.0160.023 M10x15 M10x14
WST50-TZC50-240 ®50- ®90 240 40 TZC13-64-90-L X X

TZC16-53-90-L

440.0161.023 - - - M12x15 M12x18 5.54
WST50-TZC62-195 ®62-®115 195 50 56 16 TZC16-80-90-L X X

TZC16-53-90-L

440.0162.023 - - - 1 M12x15 M12x18 6.57
WST50-TZC62-270 ®62-®115 270 50 56 6 TZC16-80-90-L X X

TZC19-62-90-L

440.0163.02 - - - M12x15 M12x22 .74
0.0163.023  WST50-TZC72-195 ®72-®135 195 60 66 19 TZC19-90-90-L x15 6

TZC19-62-90-L

440.0164.023 - - - 6 19 M12x15 Mi12x22 9.1
WST50-TZC72-285 ®72-®135 285 60 6 TZC19-90-90-L X X

TZC19-79-90-L

440.0165.023 - - - 0 9.63
WST50-TZC90-210 ®90-®150 210 75 80 19 TZC19-113-90-L M12x15 M12x3

TZC19-79-90-L
440.0166.023 - - - M12x15 M12x30 12.94
WST50-TZC90-300 ®90-®150 300 75 80 19 TZC19-113-90-L X X

TZC25-91-90-L

440.0167.023 - - - M16x15 M16x34 10.53
WST50-TZC105-195 ®105- ®190 195 90 90 25 TZC25-136-90-L X X

TZC25-91-90-L

440.0168.023 - - - 4 2 M16x15 M16x34 154
WST50-TZC105-285 ®105- ®190 285 90 9 5 TZC25-136-90—L. 6x15 X

TZC16-53-90-L

440.0185.023 - - - M12x15 M1i2x1 15.92
0 WST60-TZC62-270 ®62-®115 270 50 56 16 TZC16-80-90-L x15 x18  15.9

TZC19-62-90-L

440.0186.023 - - - 6 19 M12x15 M12x22 18.45
WST60-TZC72-285 ®72-®135 285 60 6 TZC19-90-90-L X X

TZC19-79-90-L

440.0187.023 - - - 0 2229
WST60-TZC90-300 ®90-®150 300 75 80 19 TZC19-113-90-L M12x15 M12x3

TZC25-91-90-L
440.0188.023 - - - 5 M16x15 M16x34 24.75
WST60-TZC105-300 ®105- ®190 300 90 94 2 TZC25-136-90-L X ¢

i KTZCE BB TIIENDOSTT
NERS AR FIEFFTZW S L (B2 7], £ MD07 T
KTZCHARMRE IEER A BMmITE,

_ o llos



WSTHRER K

WST Monolithic Precision Boring Cutters

=52 T]

B RARA-FEE

R B R $2 70

Angular Mounting Micro—adjustable Boring Cutters

440.0104.034
440.0105.034
440.0106.034
440.0107.034
440.0108.034
440.0109.034
440.0110.034
440.0111.034
440.0112.034
440.0113.034
440.0134.034
440.0135.034
440.0136.034
440.0137.034
440.0138.034
440.0139.034
440.0140.034
440.0141.034
440.0142.034
440.0143.034
440.0144.034
440.0145.034
440.0197.034
440.0198.034
440.0199.034
440.0200.034
440.0201.034
440.0202.034

WST40 - TQW38 - 150
WST40 - TQW38 -210
WST40 - TQW48 - 150
WST40 - TQW48 - 210
WST40 - TQW62 - 150
WST40 - TQW62 - 210
WST40 - TQW82 - 150
WST40 - TQW82 -210
WST40 - TQW105 - 150
WST40 - TQW105 - 210
WST50 - TQW38 - 165
WST50 - TQW38 - 195
WST50 - TQW48 - 165
WST50 - TQWA48 - 255
WST50 - TQW62 - 240
WST50 - TQW62 - 300
WST50 - TQWS82 - 240
WST50 - TQW82 - 315
WST50 - TQW105 - 240
WST50 - TQW105 - 315
WST50 - TQW135-210
WST50 - TQW165 - 210
WST60 - TQW48 - 255
WST60 - TQW62 — 300
WST60 - TQW82 - 315
WST60 - TQW105 - 315
WST60 - TQW135 - 315
WST60 - TQW165 - 315

i ox TQWHIEE 713F D071,

®38- ®50
®38 - ®50
®48 - ©65
®48 - ©65
®62- 985
®62 - ©85
®82- 110
®82- 0110
®105- ®140
®105- ®140
®38- ®50
®38 - ®50
®48 - ©65
D48 - ©65
P62 - 85
®62 - 85
®82- 0110
®82- ®110
®105- ®140
®105- ®140
®135- 170
®165- ®200
®48 - 65
®62 - ©85
®82- 110
®105- ®140
®135- ®170
®165- ®200

150
210
150
210
150
210
150
210
150
210
165
195
165
255
240
300
240
315
240
315
210
210
255
300
315
315
315
315

35
41
41
54
54
68
68
85
85
35
35
41
41
54
54
68
68
85
85
114
144
41
54
68
85
114
144

38
44
45
53
56
60
60
60
60
37
38
44
45
55
56
72
74
90
90
90
90
44
45
72
90
90
90

TQW38
TQwW38
TQW48
TQW48
TQW62
TQWe62
TQW82
TQwW82
TQW105
TQW105
TQW38
TQW38
TQW48
TQw48
TQW62
TQW62
TQW82
TQW82
TQW105
TQW105
TQW135
TQW135
TQwW48
TQW62
TQW82
TQW105
TQW135
TQW135

M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M3x10
M3x10
M5x12
M5x12
M5x12
M5x12
M6x15
M6x15
M6x15
M6x15
M3x10
M3x10
M5x12
M5x12
M6x15
M6x15

M6x10
M6x10
M6éx12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M6x10
M6x10
M6éx12
M6x12
M8x15
M8x15
M8x18
M8x18
M10x20
M10x20
M10x30
M10x30
M6x12
M6x12
M8x15
M8x15
M10x20
M10x20

13.42
15.75
17.85
21.75
23.85
26.75

os[llf 0



@,ﬁmf AR WSTHREEXEZET]

WST Monolithic Precision Boring Cutters

AiEsE LTI

Adjustable Shanks of Boring Heads

440.0033.020 WST40 - TK16 - 150 150 ®10-9 320 TD1-16;TD2-16;TD3-16TD4-16
440.0032.020 WST50-TK16 —150 90 16 150 ©10-®320 TD1-16;,TD2-16;TD3-16TD4-16
440.0034.020 WST60 - TK16 - 150 90 16 150 ®10-®320 TD1-16;TD2-16;TD3-16TD4-16

% ETITD1-16%E —REHITEEADI0-068, £ FeHE|TEEHD56-D124;
X $ETITD2-16FE —REHIER A P16-076, FE_HKEHSEEAG72-0132;
X 2 T1TD3-165% —REEHISEE A D30-90, &R HIEE A D86-D146;
¥ $E 71 TDA-16$EHISE Bl A ©145-0320;
x BLASE ¥ D06 T, BHEBMITE,

AL $E L TIHRBL A $E T

Boring Cutters for Adjustable Boring Heads

Lt

016
|
g
|
‘e
<
D

i y <3 {

aame—
IRNCERE RS TSN N R ) NP NG

|

|

|

|

|
R

440.0023.020 TDI-16-50 50 U3-8003-L M2X5X60°

440.0024.020 TD2-16-90 90 30 16 | i TPGT110304 M3X7X60° T9
440.0025.020 TD3-16-100 100 30 30 | HhiE TPGT110304 M3X7X60° T9
440.0026.020 TD4-16-140 140 30 17 Il 2 TPGT110304 M3X7X60° T9



= TIEC

Accessories Of Boring cutter

B RARA-FEE

TQWHRLiE$E 7]

TQW Micro—adjustable Boring Bits

440.0096.130 TQW38 $38-450 U3-8003-L M2X5X60°
440.0097.130 TQW48 $48-$65 M6 50 U3-8003-L M2X5X60° T5
440.0098.130 TQW62 $62-$85 M8 68 TCMT110204 M2.5X6X60° T7
440.0099.130 TQWS82 $82-$110 M8 85 TCMT110204 M2.5X6X60° T7
440.0136.130 TQW105 $105- 4140 M10 110 TCMT16T308 M4X9X60° T15
440.0137.130 TQW135 $135-$ 200 M10 130 TCMT16T308 M4X9X60° T15
Ay , AY LY 4
FTZW7 B i 5 T
FTZW Square Type Microadjusting Boring Cutter
=] | E—— \ —
] |; =
L1
L S

440.0037.130 FTZW16-40-9 10.5 U4-8004-L M2.5X6X60°

440.0038.130  FTZW16-50-9 56 50 10.5 16 © U4-8004-L M2.5X6X60° T7 0.09
440.0039.130 FTZW16-63-9 69 63 10.5 16 9 U4-8004-L M2.5X6X60° T7 0.13
440.0040.130 FTZW20-63-11 72 63 12.5 16 11 TCMT110204HF  M2.5X6X60° T7 0.21
440.0041.130 FTZW20-80-11 90 80 17.5 20 1 TCMT110204HF  M2.5X6X60° T7 0.25
440.0042.130 FTZwW20-100-11 110 100 175 20 11 TCMT110204HF  M2.5X6X60° T7 0.3
440.0043.130 FTZW25-80-11 92 80 17.5 20 1 TCMT110204HF  M2.5X6X60° T7 0.4
440.0044.130 FTZW25-100-11 112 100 175 20 1 TCMT110204HF  M2.5X6X60° T7 0.8
440.0045.130 FTZwW32-100-18 121 100 28 25 18 TCMT16T308HF M4X9X60° T15 1
440.0046.130 FTZW32-125-18 146 125 28 32 18 TCMT16T308HF M4X9X60° T15 1.3
440.0047.130 FTZW32-160-18 181 160 28 32 18 TCMT16T308HF M4X9X60° T15 1.6
440.0052.130 FTZW40-160-24 181 160 29 40 24 TCMT16T308HF M4X9X60° T15 1.9




= TIEC

Accessories Of Boring cutter

TQC{a# L tH$E 7]

TQC Square Bits

L1

45°

440.0141.131
440.0142.131
440.0143.131
440.0144.131
440.X054.130
440.X055.130
440.X056.130
440.X057.130

TQC8-30-45-L
TQC8-37-45-L
TQC10-48-45-L

TQC10-53-45-L

TQC13-63-45-L
TQC16-79-45-L
TQC19-90-45-L

$25-$38
$30- 42
$38-650
$42-$56
$50-$65
$62-$90
$72-$110

TQC19-116-45-L  ¢$90-¢125

TZCHAEHET]

TZC Square Bits

M6
M8
M8
M10
M12
M12
M12

37
48
53
63
79
90
116

10
10
13
16
19
19

U3-8003-L
U3-8003-L
U4-8004-L
U4-8004-L
V'IV'CMT171 0204
TCMT110204
TCMT16T308
TCMT16T308

M2X5X60°
M2X5X60°
M2.5X6X60°
M2.5X6X60°
Mé.5X6X60°
M2.5X6X60°
M4X9X60°
M4X9X60°

L1

90°

T5
T7
T7
T7
T7
T15
T15

440.0151.131
440.0152.131
440.0153.131
440.0154.131
440.X064.130
440.X065.130
440.X066.130
440.X067.130
440.X068.130
440.X069.130
440.X070.130
440.X071.130
440.X072.130
440.X073.130

TZC8-20-90-L
TZC8-29-90-L
TZC10-32-90-L
TZC10-49-90-L
TZC13-43-90-L
TZC13-64-90-L
TZC16-53-90-L
TZC16-80-90-L
TZC19-62-90-L
TZC19-90-90-L
TZC19-79-90-L
TZC19-113-90-L
TZC25-91-90-L
TZC25-136-90-L

$25-650
$25-$50
$38-$70
$38-¢70
$50-$90

) 7<|>50—¢90 )

$62-¢115
$62-¢115
$72-$135
$72-0135
$90-$150
$90- 150
$105-¢190
$105-$190

M6
M8
M8
M10
M10
M12
M12
M12
M12
M12
M12
M16
M16

29
32

49

43
64
53
80
62
90
79

13
o1

136

8
10
10
13
13
16
16
19
19
19
9
25
25

U3-8003-L
U3-8003-L
U4-8004-L

 U4-8004-L
TCMT110204
TCMT110204
 TCMT110204
TCMT110204
TCMT16T308
TCMT16T308
TCMT16T308
TCMT16T308
TCMT16T308
TCMT16T308

M2X5X60°
M2X5X60°

M2.5X6X60°

M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M4XIX60°
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°

T5

T7

T7

T7

T7

T7

T7
T15
T15
T15
T15
T15
T15



TMG21ER TR R 5 B R-H5EEF

TMG21 Modular Tooling System

TMG 21K TR &%

TMG21ERKX TE RS R TIAER . hEER, TEER=MHHERK, R
ZEPEEXARERAEE D, RRHETHE. mHEBEEEHE, EEEHN—IHA
L, Z—imAM, AEBANGESHREITHE, EEA—DRETIF, R
XNEMEMRES. FHHE. EERMEF. FRAEX, ENEREAHMERIR
BMIEE, BFEERRNZEZRAZETENKE, REERATHITESHERE, W
RRERREERESHR, BEEEABE=T,

TIIRIER A7 . 2444EE, HI1SO. GB. JIS(MAS). ASME(ANSI). DIN.
TOCTE Z fiRA&EFI30, 40, 50, 60SFEMFMIE, HERIREFMMISLA @A
RMEIEFRIT R, TIREPL A HSKH#EMET, BRIERNERMAES0. 63, 80, 1007
Mo

TIERRBREEE. #. 8. £, ¥, WLEsMMIhEgE, 2250 EE5 TEER
YIEl, XEETREREVIEIEE




i HE/\E 21 i ‘I'/E\'/ sg-L
@,ﬁmﬁmm A TMG21#&EH =K 2%

TMG21 Modular Tooling System




TMG21#ERR TE RS

TMG21 Modular Tooling System

B RR -FFF

TMG21HERX TRE RS

TMG21ERXTE RS ... E02
BT TEEMER ... E04
FHBMINTEEMER ... EO5
ERAMAFIERER ... E05
HSK-AB R TI TRAEMESR............ E06
HSK-CFzh# 7] T EHEMER ............ E06
ZRFEREER E07
TERAERERR E07
wRERKEEALER EO8
JESH IS ABHEREI EO08
FHITREMIEER ... E09
T E EAREIFR BRI &R ...E09
REXUMIN="ETBIIER.............. E10
BAEE AR E10
A, BEFHMEPEIIER ... E11
FCRFHMEBTIREI E11
SHEFEMRBER .. E11
IR FLERARSR (2D ) .o E12
AT AL FLEAAEIR (3D ) i, E14
AR FLAEIR (2D ) oo, E16

ARG FLAEIR (38D ) v E18

AT FLEREIRBE! (2D ) v E20
AT FLEREIRBE! (3D ) v E21
HIEEMATEAI%FLER (2D) ... E22
HIEEMATEA%FLE (3D) ... E23
BIRRTIEESK (8D) v, E24
AR FLEREEVIRISE R ... E25
90° WIIFE AT FE 8 TIHRRBEL ... E26
90° MIILIA R FEAI$E TIREHR ... E27
HAMAFHMETILBE ... E27
90° MIIKRFLMIBEITIER................. E28
TMCA M TIFTA AT F i T B TR S 4 ... E28
BHAMBRTHMAETER E29
BHAMBARHMETIAR E29
I RHE AT AR AL TIARBR ... E30
R ROARTERE T E30
AR SRR E31
BT e, E32
RIEERISET] e E32
TMG21ERX T ERGMH................ E33




TMG21 Modular Tooling System

= TMG21#ERR TE RS
-

E04

e 21A+JT/BT _21CD77
YR E12

21CD-K
E16 |-

ﬁ—
E07
21A ST
¢—E05

21CD-TSW
E27

—1

21CD-TS90 gl

214 M Eop ™
E05 -

E07

2icp-17y el

oo
% 21CD-TQW e/ §

E30

_E Jlloz



TMG21IERKX T B RS B %R -5 %

TMG21 Modular Tooling System

21C-7ZB
E31

21C-72
EO8

21C-XP
EO9

21C-M
EO8

21C-XMC
E11

21C-ER
E10

21C-G

S
——
g
So—
~ i

==

E11




@,ﬁma AR TMG21#ERR TE RS

TMG21 Modular Tooling System

B Zhi 7] T B #ERER

Basic Holders for Auto Changing Tool

461.0001.035 21A . JT40.25-50 0.90
461.0002.035 21A . JT40 . 32-50 40 32 16 50 0.97
461.0003.035 21A . JT40 . 40-50 40 40 20 50 1.05
461.0004.035 21A . JT40 . 50 - 50 40 50 28 50 1.10
461.0005.035 21A . JT40.63-90 40 63 34 90 3.20
440.0308.080 21A. JT50. 25 - 50 50 25 13 50 3.40
461.0011.035 21A . JT50 . 32-60 50 32 16 60 3.51
461.0012.035 21A . JT50 . 40-60 50 40 20 60 3.67
461.0013.035 21A . JT50 . 50 - 60 50 50 28 60 4.00
461.0014.035 21A . JT50 . 63 -60 50 63 34 60 4.48
461.0015.035 21A . JT50 . 80-70 50 80 46 70 5.25
461.0016.035 21A . JT50 . 100- 115 50 100 56 115 6.88

440.0301.080 21A . JT50 . 125-120 50 125 70 120 15.0
440.0304.080 21A . JT60 . 63 - 60 60 63 34 60 8.55
440.0305.080 21A . JT60 . 80-100 60 80 46 100 9.55
440.0306.080 21A . JT60 . 100-115 60 100 56 115 10.95
440.0307.080 21A . JT60 . 125-120 60 125 70 120 19.07

440.0001.080  21A . BT40.25-50 0.90
440.0002.080  21A . BT40.32-60 40 32 16 60 097

440.0003.080  21A . BT40 . 40-60 40 40 20 60 1.05

440.0004.080  21A . BT40.50-70 40 50 28 70  1.10

440.0005.080  21A . BT40 . 63-90 40 63 34 90 320

440.0011.080 21A. BT50 . 25 - 60 50 25 13 60 3.40

L 440.0012.080  21A . BT50 . 32-60 50 32 16 60  3.51

1 440.0013.080  21A . BT50 . 40— 60 50 40 20 60 @ 3.67

// ]D o 440.0014.080  21A . BT50.50-80 50 50 28 80  4.00
ﬂv&jﬂ_'_ = f_f{'j’ T 440.0015.080 21A . BT50 . 63 -80 50 63 34 80 448
T }i 440.0016.080  21A . BT50 . 80-80 50 80 46 80 525

440.0017.080 21A . BT50 . 100-115 50 100 56 115 6.88
440.0018.080 21A . BT50 . 125-120 50 115 70 120 15.0
440.0031.080 21A . BT60 . 63 -100 60 63 34 100 8.55
440.0032.080 21A . BT60 . 80 - 100 60 80 46 100 9.55
440.0033.080 21A . BT60 . 100-120 60 100 56 120 10.95
440.0034.080 21A . BT60 . 125-130 60 125 70 130 19.07

e Jllos



TMG21iE kst TR &% N O S

TMG21 Modular Tooling System

F B T] TEHEMRR

Basic Holders for Manual Changing Tool

HRC53-58

1.0101.035 21A . ST40.25- 50 ll.. 0.88
461.0102.035 21A . ST40.32- 50 40 32 16 50 38 0.95
461.0103.035 21A . ST40.40- 50 40 40 20 50 38 1.07
461.0104.035 21A . ST40 .50- 50 40 50 28 50 38 1.17
461.0105.035 21A . ST40.63- 70 40 63 34 70 58 1.71
461.0111.035 21A . ST50 . 32- 60 50 32 16 60 44 1.45
461.0112.035 21A . ST50 . 40- 60 50 40 20 60 44 2.70
461.0113.035 21A . ST50 . 50 - 60 50 50 28 60 44 3.10
461.0114.035 21A . ST50 .63 - 60 50 63 34 60 44 3.30
461.0115.035 21A . ST50 . 80— 80 50 80 46 80 64 4.20

= 461.0116.035 21A . ST50. 100-100 50 100 56 100 84 6.58
461.0117.035 21A . ST50 . 125-125 50 125 70 125 110 8.89
461.0118.035 21A . ST60 . 63 - 80 60 63 34 80 60 10.88
461.0119.035 21A . ST60 . 80— 80 60 80 46 80 60 11.56
461.0120.035 21A . ST60 . 100 - 100 60 100 56 100 90 13.75
461.0121.035 21A . ST60 . 125-110 60 125 70 110 90 15.65

iE: ITWF R EERETIME, WEES MRS WST40---, WST50--

B PR A0 K ) SEAR R

Basic Holders with Morse and Metric System

440.0001.076  21A. .25-38 5 440.0017.076  21A. .40-44

440.0002.076  21A . M5 .32-38 5 32 16 38 440.0018.076 21A . M80 . 50 — 44 80 50 28 44
440.0003.076  21A . M5.40-44 5 40 20 44 440.0019.076 21A . M80 . 63 -60 80 63 34 60
440.0004.076  21A . M5 .50-44 5 50 28 44 440.0020.076 21A . M80 . 80 - 60 80 80 46 60
440.0005.076  21A . M6 . 25-38 6 25 13 38 440.0012 076 21A . M80 . 100 -90 80 100 56 90
440.0006.076  21A . M6 . 32-38 6 32 16 38 440.0014.076 21A.M80.125-90 80 125 70 90
440.0007.076  21A . M6 .40-44 6 40 20 44 440.0021.076 21A.M100.40-44 100 40 20 44
440.0008.076  21A . M6 . 50— 44 6 50 28 44 440.0022.076 21A.M100.50-44 100 50 28 44
440.0009.076  21A . M6 . 63 -60 6 63 34 60 440.0023.076 21A.M100.63-60 100 63 34 60
440.0010.076  21A . M6 .80-70 6 80 46 70 440.0024.076 21A.M100.80-60 100 80 46 60
440.0011.076  21A . M6 . 100-100 6 100 56 100 440.0013.076 21A.M100.100-90 100 100 56 90

440.0015.076 21A.M100.125-90 100 125 70 90




@ﬁﬁﬂ? AR TMG21#ERR TE RS

TMG21 Modular Tooling System

HSK-AB zh# 7] T B4 iRtEiR

HSK-A Basic Holders for Auto Changing Tool

“ JECETE e ==
= — - 440.0150.080  21A . HSK-AB3 . 25 - 50
—OH 43+ @gc 440.0151.080 21A . HSK-A63 . 32 -50 32 50 16 82 0.9
e = 440.0152.080 21A . HSK-AB3 . 40 - 60 40 60 20 92 1.0
440.0153.080 21A . HSK-A63 . 50— 70 50 70 28 102 12
] 440.0154.080 21A . HSK-A63 . 63 -80 63 80 34 112 15
‘ 440.0155.080 21A.HSK-A63.80-100 80 100 46 132 15
440.0156.080 21A.HSK-A100-25-60 25 60 13 110 2.0
440.0157.080 21A.HSK-A100.32-60 32 60 16 110 2.0
440.0158.080 21A.HSK-A100.40-80 40 80 20 130 2.3
440.0159.080 21A.HSK-A100.50-80 50 80 28 130 25
440.0160.080 21A.HSK-A100.63-80 63 80 34 130 2.8
440.0161.080 21A.HSK-A100.80-90 80 90 46 140 3.8
440.0162.080 21A . HSK-A100.100-100 100 100 56 150 4.0

HSK-CFzhi#e 7] T B HEfRtEiR

HSK-C Basic Holders for Manual Changing Tool

— 440.0163.080 21A . HSK—C63 . 25— 40
440.0164.080 21A.HSK-C63.32-40 32 40 16 72 05
o I rf‘\ J o 440.0165.080 21A.HSK-C63.40-45 40 45 20 77 0.8
) H_W 440.0166.080 21A.HSK-C63.50-50 50 50 28 82 15
440.0167.080 21A.HSK-C63.63-60 63 60 34 92 22
— 440.0168.080 21A.HSK-C100.32-50 32 50 16 100 14
L 440.0169.080 21A.HSK-C100.40-50 40 50 20 100 1.2
' 440.0170.080 21A.HSK-C100.50-55 50 55 28 105 13
440.0171.080 21A.HSK-C100.63-60 63 60 34 110 26
440.0172.080 21A.HSK-C100.80-70 80 70 46 120 42
440.0173.080 21A . HSK-C100.100-80 100 80 56 130 6.1

_E Jllos



TMG21#EtR X TR

TMG21 Modular Tooling System

B RARA-FEE

F1Z hE R R

Extension

d1
o
1
T
Amg

L2 E R IR

Reducer

d2

261
261
261
261
261
261
261
261
261
261
261
261
261
261
261

261
261
261
261
261
261

1.0222.035

.0202.035
.0223.035
.0203.035
.0224.035
.0204.035
.0225.035
.0205.035
.0226.035
.0206.035
.0227.035
.0207.035
.0228.035
.0208.035
.0229.035
.0209.035

.0242.035

.0243.035
.0244.035
.0245.035
.0246.035
.0247.035

240.0262.084
240.0263.084

261
261

.0248.035
.0249.035

240.0264.084

261
261
261
261
261
261
261
261
261
261
261
26

—

.0250.035
.0251.035
.0252.035
.0253.035
.0254.035
.0255.035
.0256.035
.0257.035
.0258.035
.0259.035
.0260.035
.0261.035

21B.

21B.
21B.
21B.
21B.
21B.
21B.
21B.
21B.
21B.
21B.
21B.

25/25 - 45
25/25 - 60
32/32 - 50
32/32 - 70
40/40 - 60
40/40 - 90
50/50 - 65
50/50 - 100
63/63 - 85
63/63 — 125
80/80 - 85
80/80 - 125

21B.100/100 - 125

21B

.100/100 - 160

21B.125/125 - 160

21B.

125/125 - 200

21B.32/25 - 40

21B.40/25 - 40 40
21B.40/32 - 40 40
21B.50/25 - 50 50
21B.50/32 - 50 50
21B.50/40 - 50 50
21B.63/25 - 60 63
21B.63/32 — 60 63
21B.63/40 - 60 63
21B.63/50 - 60 63
21B.80/32 - 60 80
21B.80/40 - 60 80
21B.80/50 - 60 80
21B.80/63 - 60 80
21B.100/40 — 80 100
21B.100/50 — 80 100
21B.100/63 — 80 100
21B.100/80 — 80 100
21B.125/40 —-100 125
21B.125/50 - 100 125
21B.125/63 - 100 125
21B.125/80 — 100 125
21B.125/100-100 125

60
50
70
60
90
65
100
85
125
85
125
125
160
160
200

20
20
28
28
28
34
34
34
34
46
46
46
46
56
56
56
56
70
70
70
70
70

13
16
16
20
20
28
28
34
34
46
46
56
56
70
70

25
32
25
32
40
25
32
40
50
32
40
50
63
40
50
63
80
40
50
63
80
100

13
16
13
16
20
13
16
20
28
16
20
28
34
20
28
34
46
20
28
34
46
56

25
32
32
40
40
50
50
63
63
80
80
100
100
125
125

40
40
50
50
50
60
60
60
60
60
60
60
60
80
80
80
80
100
100
100
100
100

13
16
16
20
20
28
28
34
34
46
46
56
56
70
70

28
28
35
35
35
40
40
40
35
35
35
35
50
50
50
50
50
50
50
50
50
50

0.20
0.31
0.45
0.40
0.60
0.90
0.90
1.45
2.10
2.90
3.14
6.70
7.35
9.70
13.5
17.0

0.18
0.24
0.27
0.50
0.55
0.63
1.01
1.05
1.15
1.20
1.60
1.80
1.83
2.00
3.24
3.44
3.46
3.50
6.00
6.50
700
7.50
8.00

orflfE



@zﬁms AR TMG21#ERR TE RS

TMG21 Modular Tooling System

™ R B I B #EFLA IR

Adaptors for Morse Taper with Tang

] ———
ohA i i

L1

261.0281.035  21C . 50-M1 - 90 1 0.46
261.0282.035 21C.50-M2-105 50 28 30 2 105 93 0.68
261.0283.035  21C.50-M3-125 50 28 36 3 125 113 0.89
261.0284.035 21C.63-M4-150 63 34 48 4 150 135 3.47
dE S
I Eh T LT HEAR IR
Modular with Drill Chuck Tapers
a
O — |
(68
o | = | | e 7———Q"’V

240.0393.071 21C . 32-2716-35 B16 15.733 5 20 517 41” 0.65
240.0394.071 21C.40-716-40 40 20 B16 40 15733 24 5 2° 517 41” 0.70
240.0395.071 21C.40-2718-40 40 20 B18 40 17.780 32 5 2° 517 417 0.75
240.0396.071 21C.50-216-50 50 28 B16 50 15.733 24 5 2° 517 417 0.85
240.0397.071 21C.50-218-50 50 28 B18 50 17.780 32 5 2° 517 41” 0.90
240.0398.071 21C . 63-216-50 63 34 B16 50 15733 24 5 2° 51’ 41”7 1.00
240.0399.071 21C.63-718-50 63 34 B18 50 17.780 32 5 2° 517 417 1.20

_E Jlloe



TMG21ER TR R 5 B R-H5EEF

TMG21 Modular Tooling System

e HI| T2 B AR 7] BRI

Adaptors for Tool with L ]
Flatted Parallel Shanks '®

)

= ERR

d
d1
B
i
‘
s
HIL
s

I [ NJ
-——-H 3 =

=

™ L

240.0001.085 21C . 50 - XP6 -45 | 0.51
240.0002.085 21C . 50 - XP8 -45 50 28 8 M8 28 45 | 0.49
240.0003.085 21C . 50 - XP10 - 55 50 28 10 M10 35 55 | 0.62
240.0004.085 21C . 50 - XP12 - 65 50 28 12 M10 42 65 | 0.81
240.0005.085 21C . 50 - XP16 - 65 50 28 16 M14 48 65 | 0.85
240.0006.085 21C . 50 - XP20 - 65 50 28 20 M16 52 65 | 1.03
240.0007.085 21C . 50 - XP25 - 75 50 28 25 M18 65 75 Il 1.70
240.0008.085 21C . 63 -XP10-55 63 34 10 M10 35 55 | 0.88
240.0009.085 21C . 63 - XP12-65 63 34 12 M12 42 65 | 1.02
240.0010.085 21C . 63 -XP16 - 65 63 34 16 M14 48 65 | 1.15
240.0011.085 21C . 63 - XP20 - 65 63 34 20 M16 52 65 | 1.26
240.0012.085 21C . 63 -XP25-75 63 34 25 M18 65 75 ] 1.86
240.0013.085 21C . 63 - XP32-80 63 34 32 M20 72 80 Il 2.25
240.0014.085 21C . 80 - XP16 - 65 80 46 16 M14 48 65 | 1.51
240.0015.085 21C . 80 - XP20 - 65 80 46 20 M16 52 65 | 1.84
240.0016.085 21C . 80 - XP25-75 80 46 25 M18 65 75 ] 2.41
240.0017.085 21C . 80 - XP32-80 80 46 32 M20 72 80 I 2.62

ST HI TR ER Bk @
Adaptors for Flatted Parallel Shanks
with Axial Positioning

d
d
i
\
i
=
‘
1
-

sJa

240.0001.087 21C . 25-XPD6 -55 0.21
240.0002.087  21C . 25 - XPD8 -55 25 13 8 28 55 47 36 8 M6 0.25
240.0003.087 21C . 25-XPD10-60 25 13 10 35 60 52 40 10 M10 0.41
240.0004.087  21C . 32 - XPD6 -55 32 16 6 25 55 30 36 10 M6 0.25
240.0005.087 21C . 32 -XPD8 -55 32 16 8 28 55 30 36 10 M8 0.29
240.0006.087  21C . 32-XPD10-60 32 16 10 35 60 50 40 10 M10 0.43
240.0007.087 21C . 32 -XPD12-65 32 16 12 42 65 57 45 10 M12 0.65
240.0008.087  21C . 40 - XPD6 -55 40 20 6 25 55 30 36 10 M6 0.34
240.0009.087 21C . 40 - XPD8 -55 40 20 8 28 55 30 36 10 M8 0.38
240.0010.087  21C . 40 - XPD10-60 40 20 10 35 60 45 40 10 M10 0.48
240.0011.087 21C . 40 - XPD12-65 40 20 12 42 65 57 45 10 M12 0.68
240.0012.087  21C . 40-XPD16-70 40 20 16 48 70 63 48 10 M14 0.91
240.0013.087 21C . 50 - XPD6 -55 50 28 6 25 55 30 36 10 M6 0.53
240.0014.087  21C . 50 - XPD8 -55 50 28 8 28 55 30 36 10 M8 0.57
240.0015.087 21C . 50 - XPD10 - 60 50 28 10 35 60 40 40 10 M10 0.66
240.0016.087  21C . 50 - XPD12 - 65 50 28 12 42 65 50 45 10 M12 0.81
240.0017.087 21C . 50 -XPD16-70 50 28 16 48 70 55 48 10 M14 1.01
240.0018.087  21C . 50 - XPD20 - 75 50 28 20 52 75 65 50 10 M16 1.20
240.0019.087 21C . 63 - XPD10-60 63 34 10 35 60 35 40 10 M10 0.96
240.0020.087  21C . 63 - XPD12-65 63 34 12 42 65 45 45 10 M12 1.08
240.0021.087 21C . 63 -XPD16-70 63 34 16 48 70 50 48 10 M14 1.27
240.0022.087  21C . 63 - XPD20 - 75 63 34 20 52 75 55 50 10 M16 1.43
240.0023.087 21C . 63 - XPD25 - 80 63 34 25 65 80 70 56 10 M18 2.00
240.0024.087  21C . 80-XPD16-70 63 46 16 48 70 50 48 10 M14 1.80
240.0025.087 21C . 80 - XPD20 - 75 80 46 20 52 75 52 50 10 M16 1.98
240.0026.087  21C . 80— XPD25 - 80 80 46 25 65 80 60 56 10 M18 2.50
240.0027.087 21C . 80 - XPD32 - 90 80 46 32 72 90 70 60 10 M20 3.02

oolllf €



@,ﬁmf AR TMG21#ERR TE RS

TMG21 Modular Tooling System

M2 v 4k 7] = B T S TSR

Arbors for Shell End and Side Milling Cutters

L1

L2

240.0001.017 21C . 50 —XSL16 - 49 0.49
240.0002.017 21C . 50 — XSL22 - 53 53 31 19 31 50 28 22 M10 0.52
240.0003.017 21C . 63 —XSL16- 53 53 27 17 27 63 34 16 M8 1.02
240.0004.017 21C . 63 —XSL22 - 57 57 31 19 31 63 34 22 M10 1.15
240.0005.017 21C . 63 - XSL27 - 59 59 33 21 33 63 34 27 M12 1.26
240.0006.017 21C . 80 —XSL22 - 64 64 31 19 31 80 46 22 M10 1.84
240.0007.017 21C . 80 — XSL27 - 66 66 33 21 33 80 46 27 M12 2.10
240.0008.017 21C . 80 —XSL32- 71 71 38 24 38 80 46 32 M16 2.30
240.0009.017 21C . 80 —XSL40- 74 74 41 27 41 80 46 40 M20 2.50
240.0010.017 21C . 100 - XSL27 - 69 69 33 21 33 100 56 27 M12 3.30
240.0011.017 21C . 100 - XSL32 - 74 74 38 24 38 100 56 32 M16 3.50
240.0012.017 21C . 100 - XSL40 - 77 77 41 27 41 100 56 40 M20 3.60
240.0013.017 21C . 100 - XSL50 - 82 82 46 30 46 100 56 50 M24 3.70
240.0014.017 21C . 100-XSL60-104 104 66 50 66 100 56 60 M30 3.90
240.0015.017 21C . 125-XSL60-108 108 66 50 66 125 70 60 M30 5.80

Ee xR, TERARE, MEEASRERIIRERLMEE,

5B S SK AR '

Collet Chucks
~| =| =Lk 3
L1
261.0301.035 21C . 25-ER16-40 4 ER16 0.12
261.0302.035 21C . 32 - ER20 - 50 32 16 34 50 9 6 ER20 0.25
261.0303.035 21C . 40 - ER25 - 60 40 20 42 60 12 7 ER25 0.42
261.0304.035 21C . 50 - ER32-70 50 28 50 70 18 8 ER32 0.85
261.0305.035 21C . 63 - ER40-80 63 34 63 80 20 12 ER40 1.52

i MERFEMEFELEETINER.

el



TMG21iE kst TR &% W R -BE S

TMG21 Modular Tooling System

FeA BIE AT H HE TR

Arbors for Indexable Face Milling Cutters Type A ,B

A KB B K W4T
e U ]
- 5| HEE e = - FqE}%—%
|
|

L1

240.0005.019 . 50- XMA22 -45 M10 0.55
240.0001.019 21C . 50 - XMA(B)27 - 45 50 28 27 45 21 M12 0.65
240.0002.019 21C . 63 - XMA(B)27 - 50 63 34 27 50 21 M12 1.26
240.0003.019 21C . 80- XMA(B)32 - 55 80 46 32 55 24 M16 2.50
240.0004.019 21C . 100-XMB40 -60 100 56 40 60 27 M20 3.70

i XEERFREBETIRER

S C K T HE AT TSt TR AR L

L1

Arbors for Indexable Face Milling Cutters Type C
res
| [l | 17
| |
= | = :::\‘( J'_‘}_-______, al 8
o
A =
240.0016.017 21C . 100 — XMC40 - 62 4-M12 3.40
240.0018.017 21C . 125-XMC60-75 125 70 70 60 130 75 40 4-Mi6 5.20
L R EMRIER
Tapping Chucks L

L1

‘ |
| ‘—‘4———— ‘ ——»:£ a

261.0201.559 21C.50- G3 - 70 G3-M0O0 0.80
261.0202.559 21C .50- G8 —-102 50 28 31 58 102 81 G8 - MO0 1.40
261.0203.559 21C.63- G3 - 76 63 34 19 41 76 41 G3-M0O0 1.30
261.0204.559 21C.63- G8 - 88 63 34 31 58 88 55 G8 - MO0 1.50
261.0205.559 21C .63 -G14-155 63 34 48 83 155 120 G14-M0O0 3.80

i KEELERENBEITIMER,

e



TMG21#&E R TR RS

TMG21 Modular Tooling System

A% FLERIE R (2D)

Indexable Short Hole Drills

di

Lt

D+0.2

240.0009.141  21CD.50-221-77-2W4 WCMX040208 M2.5x6x60° 0.55
240.0010.141 21CD.50-222-79-2W4 50 28 22 79 44 WCMX040208 M2.5x6x60° T7 0.55
240.0011.141 21CD.50-723-81-2W4 50 28 23 81 46 WCMX040208 M2.5x6x60° T7 0.60
240.0012.141 21CD.50-724-83-2W4 50 28 24 83 48 WCMX040208 M2.5x6x60° T7 0.60
240.0013.141 21CD.50-225-85-2W4 50 28 25 85 50 WCMX040208 M2.5x6x60° T7 0.60
240.0014.141 21CD.50-226-87-2W5 50 28 26 87 52 WCMX050308  M3x7x60° T9 0.60
240.0015.141 21CD.50-227-89-2W5 50 28 27 89 54 WCMX050308  M3x7x60° T9 0.65
240.0016.141 21CD.50-728-91-2W5 50 28 28 91 56 WCMX050308  M3x7x60° T9 0.65
240.0017.141 21CD.50-729-93-2W5 50 28 29 93 58 WCMX050308  M3x7x60° T9 0.65
240.0018.141 21CD.50-Z30-100-2W5 50 28 30 100 60 WCMX050308  M3x7x60° T9 0.70
240.0019.141 21CD.50-Z31-102-2W6 50 28 31 102 62 WCMX06T308 M3.5x8x60°  T10 0.75
240.0020.141 21CD.50-Z32-104-2W6 50 28 32 104 64 WCMX06T308 M3.5x8x60°  T10 0.75
240.0021.141 21CD.50-Z33-106-2W6 50 28 33 106 66 WCMX06T308 M3.5x8x60°  T10 0.80
240.0022.141 21CD.50-Z34-108-2W6 50 28 34 108 68 WCMX06T308 M3.5x8x60°  T10 0.85
240.0023.141 21CD.50-Z35-110-2W6 50 28 35 110 70 WCMX06T308 M3.5x8x60°  T10 0.90
240.0024.141 21CD.50-Z36-112-2W6 50 28 36 112 72 WCMX06T308 M3.5x8x60°  T10 0.95
240.0025.141 21CD.50-Z37-124-2W6 50 28 37 124 74 WCMX06T308 M3.5x8x60°  T10 1.10
240.0026.141 21CD.50-Z38-126-2W6 50 28 38 126 76 WCMX06T308 M3.5x8x60°  T10 1.20
240.0027.141 21CD.50-Z39-128-2W6 50 28 39 128 78 WCMX06T308 M3.5x8x60°  T10 1.25
240.0028.141 21CD.50-Z40-130-2W6 50 28 40 130 80 WCMX06T308 M3.5x8x60°  T10 1.30
240.0029.141 21CD.50-Z41-132-2W6 50 28 41 132 82 WCMX06T308 M3.5x8x60°  T10 1.35
240.0030.141 21CD.50-742-134-2W8 50 28 42 134 84 WCMX080412  M4x9x60° T15 1.40
240.0031.141 21CD.50-743-136-2W8 50 28 43 136 86 WCMX080412  M4x9x60° T15 1.45
240.0032.141 21CD.50-Z44-138-2W8 50 28 44 138 88 WCMX080412  M4x9x60° T15 1.50

E: XTIREERREMITE,

e[l



TMG21HEH X TR &%

TMG21 Modular Tooling System

B RARA-FEE

Al &% FLERHEBR (2D)

Indexable Short Hole Drills

dt

[~}
jax|
I

Lt

\

1@

©
D402

240.0033.141 21CD.63-Z45 -145-2W8 145 WCMX080412  M4x9x60° T15 1.70
240.0034.141 21CD.63-Z46 —-147-2W8 63 34 46 147 92 WCMX080412  M4x9x60° T15 1.80
240.0035.141 21CD.63-Z47 -149-2W8 63 34 47 149 94 WCMX080412  M4x9x60° T15 2.00
240.0036.141 21CD.63-Z48 -151-2W8 63 34 48 151 96 WCMX080412  M4x9x60° T15 2.30
240.0037.141 21CD.63-Z49 -153-2W8 63 34 49 153 98 WCMX080412  M4x9x60° T15 2.30
240.0038.141 21CD.63-Z50 -155-2W8 63 34 50 155 100 WCMX080412  M4x9x60° T15 2.50
240.0039.141 21CD.63-Z51 -157-2W8 63 34 51 157 102 ~ WCMX080412  M4x9x60° T15 2.50
240.0040.141 21CD.63-Z52 -159-2W8 63 34 52 159 104 WCMX080412  M4x9x60° T15 2.70
240.0041.141 21CD.63-Z53 -161-2W8 63 34 53 161 106  WCMX080412  M4x9x60° T15 2.90
240.0042.141 21CD.63-Z54 -163-2W8 63 34 54 163 108  WCMX080412  M4x9x60° T15 2.90
240.0043.141 21CD.80-Z55 -165-2W8 80 46 55 165 110  WCMX080412  M4x9x60° T15 3.00
240.0044.141 21CD.80-Z56 —-167-2W8 80 46 56 167 112 WCMX080412  M4x9x60° T15 3.20
240.0045.141 21CD.80-Z57 -169-2W8 80 46 57 169 114 WCMX080412  M4x9x60° T15 3.40
240.0046.141 21CD.80-Z58 -171-2W8 80 46 58 171 116  WCMX080412  M4x9x60° T15 3.60
240.0047.141 21CD.80-Z59 -173-2W8 80 46 59 173 118  WCMX080412  M4x9x60° T15 3.80
240.0048.141 21CD.80-Z60 -175-2W8 80 46 60 175 120 WCMX080412  M4x9x60° T15 4.00

E XTREEPBEMITS,




TMG21#EtR X TR

TMG21 Modular Tooling System

Rt

A% FLER IR (3D)

Indexable Short Hole Dirills

240.0059.141
240.0060.141
240.0061.141
240.0062.141
240.0063.141
240.0064.141
240.0065.141
240.0066.141
240.0067.141
240.0068.141
240.0069.141
240.0070.141
240.0071.141
240.0072.141
240.0073.141
240.0074.141
240.0075.141
240.0076.141
240.0077.141
240.0078.141
240.0079.141
240.0080.141
240.0081.141
240.0082.141

21CD.50-221-98-3W4
21CD.50-222-101-3W4
21CD.50-223-104-3W4
21CD.50-224-107-3W4
21CD.50-225-110-3W4
21CD.50-226-113-3W5
21CD.50-227-116-3W5
21CD.50-228-119-3W5
21CD.50-229-122-3W5
21CD.50-Z30-130-3W5
21CD.50-231-133-3W6
21CD.50-232-136-3W6
21CD.50-Z33-139-3W6
21CD.50-234-142-3W6
21CD.50-235-145-3W6
21CD.50-Z36-148-3W6
21CD.50-237-161-3W6
21CD.50-238-164-3W6
21CD.50-Z39-167-3W6
21CD.50-240-170-3W6
21CD.50-241-173-3W6
21CD.50-242-176-3W8
21CD.50-243-179-3W8
21CD.50-744-182-3W8

E: XTREEPBRMITS,

el

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28

22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44

dt

101
104
107
110
113
116
119
122
130
133
136
139
142
145
148
161
164
167
170
173
176
179
182

66
69
72
75
78
81
84
87
920
93
96
99
102
105
108
111
114
117
120
123
126
129
132

WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX080412
WCMX080412
WCMX080412

Ly

M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M4x9x60°
M4x9x60°
M4x9x60°

©
D10.2 |

T7
T7
T7
T7
T9
T9
T9
T9
T9
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T15
T15
T15

0.55
0.55
0.60
0.60
0.60
0.60
0.65
0.65
0.65
0.70
0.75
0.75
0.80
0.85
0.90
0.95
1.10
1.20
1.25
1.30
1.35
1.40
1.45
1.50



TMG21HEH X TR &%

TMG21 Modular Tooling System

A5 {7 % FLEAIRIR(3D)

B RARA-FEE

Indexable Short Hole Drills

d
di1

0 :

Lt

@ /0
D0.2

240.0083.141 21CD.63-745-190-3W8 190 135  WCMX080412  M4x9x60° T15 1.70
240.0084.141 21CD.63-746-193-3W8 63 34 46 193 138  WCMX080412  M4x9x60° T15 1.80
240.0085.141 21CD.63-Z47-196-3W8 63 34 47 196 141 WCMX080412  M4x9x60° T15 2.00
240.0086.141 21CD.63-Z48-199-3W8 63 34 48 199 144  WCMXO080412  M4x9x60° T15 2.30
240.0087.141 21CD.63-749-202-3W8 63 34 49 202 147 WCMX080412  M4x9x60° T15 2.30
240.0088.141 21CD.63-750-205-3W8 63 34 50 205 150 WCMXO080412  M4x9x60° T15 2.50
240.0089.141 21CD.63-7Z51-208-3W8 63 34 51 208 153  WCMX080412  M4x9x60° T15 2.50
240.0090.141 21CD.63-752-211-3W8 63 34 52 211 156  WCMXO080412  M4x9x60° T15 2.70
240.0091.141 21CD.63-753-214-3W8 63 34 53 214 159  WCMX080412  M4x9x60° T15 2.90
240.0092.141 21CD.63-754-217-3W8 63 34 54 217 162  WCMX080412  M4x9x60° T15 2.90
240.0093.141 21CD.80-755-220-3W8 80 46 55 220 165  WCMX080412  M4x9x60° T15 3.00
240.0094.141 21CD.80-Z56-223-3W8 80 46 56 223 168  WCMX080412  M4x9x60° T15 3.20
240.0095.141 21CD.80-Z57-226-3W8 80 46 57 226 171 WCMX080412  M4x9x60° T15 3.40
240.0096.141 21CD.80-758-229-3W8 80 46 58 229 174  WCMX080412  M4x9x60° T15 3.60
240.0097.141 21CD.80-759-232-3W8 80 46 59 232 177  WCMX080412  M4x9x60° T15 3.80
240.0098.141 21CD.80-Z60-235-3W8 80 46 60 235 180 WCMXO080412  M4x9x60° T15 4.00

i XTREERBRMITS,




TMG21#EtR X TR

Rt

TMG21 Modular Tooling System

AJ (Y FLEAIRER (2D)

Indexable Boring Drills

223.0101.192
223.0102.192
223.0103.192
223.0104.192
223.0105.192
223.0106.192
223.0107.192
223.0108.192
223.0109.192
223.0110.192
223.0111.192
223.0112.192
223.0113.192
223.0114.192
223.0115.192
223.0116.192
223.0117.192
223.0118.192
223.0119.192
223.0120.192
223.0121.192
223.0122.192
223.0128.192
223.0124.192
223.0125.192
223.0126.192
223.0127.192
223.0128.192
223.0129.192

21CD.50-K22-79
21CD.50-K23-81
21CD.50-K24-83
21CD.50-K25-85
21CD.50-K26-87
21CD.50-K27-89
21CD.50-K28-91
21CD.50-K29-93
21CD.50-K30-100
21CD.50-K31-102
21CD.50-K32-104
21CD.50-K33-106
21CD.50-K34-108
21CD.50-K35-110
21CD.50-K36-112
21CD.50-K37-124
21CD.50-K38-126
21CD.50-K39-128
21CD.50-K40-130
21CD.50-K41-132
21CD.50-K42-134
21CD.50-K43-136
21CD.50-K44-138
21CD.63-K45-145
21CD.63-K46-147
21CD.63-K47-149
21CD.63-K48-151
21CD.63-K49-153
21CD.63-K50-155

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
63
63
63
63
63
63

28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
34
34
34
34
34
34

23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

d1

81
83

85

87

89

91

93

100
102
104
106
108
110
112
124
126
128
130
132
134
136
138
145
147
149
151
153
155

46
48
50
52
54
56
58
60
62
64
66
68
70
72
74
76
78
80
82
84
86
88
90
92
94
96
98

100

WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412

L1

M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°

T7
T7
T7
T9
T9
T9
T9
T9
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T15
T15
T15
T15
T15
T15
T15
T15
T15

0.55
0.60
0.60
0.60
0.60
0.65
0.65
0.65
0.70
0.75
0.75
0.80
0.85
0.90
0.95
1.10
1.20
1.25
1.30
1.35
1.40
1.45
1.50
1.70
1.80
2.00
2.30
2.30
2.50

iE: XTIREERRERITE,

el



TMG21#ER R TE RS

TMG21 Modular Tooling System

B RARA-FEE

AIER ALY FLEGEHR(2D)

Indexable Boring Drills

223.0130.192
223.0131.192
223.0132.192
223.0133.192
223.0134.192
223.0135.192
223.0136.192
223.0137.192
223.0038.192
223.0039.192
223.0040.192
223.0041.192
223.0042.192
223.0043.192
223.0044.192
223.0045.192
223.0046.192
223.0047.192
223.0048.192
223.0049.192
223.0150.192
223.0151.192
223.0152.192
223.0153.192

21CD.63-K51-157
21CD.63-K52-159
21CD.63-K53-161
21CD.63-K54-163
21CD.80-K55-165
21CD.80-K56-167
21CD.80-K57-169
21CD.80-K58-171
21CD.80-K59-173
21CD.80-K60-175
21CD.80-K61-177
21CD.80-K62-179
21CD.80-K63-181
21CD.80-K64-183
21CD.80-K65-185
21CD.80-K66-187
21CD.80-K67-189
21CD.80-K68-191
21CD.80-K69-203
21CD.80-K70-205
21CD.80-K71-207
21CD.80-K72-209
21CD.80-K73-211
21CD.80-K74-213

E: XTREERBMITS,

63
63
63
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

34
34
34
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46

52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74

d
di

157
159
161
163
165
167
169
171
173
175
177
179
181
183
185
187
189
191
203
205
207
209
211
213

102
104
106
108
110
112
114
116
118
120
122
124
126
128
130
132
134
136
138
140
142
144
146
148

WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412

L1

M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°

T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15

2.50
2.70
2.90
2.90
3.00
3.10
3.20
3.60
3.80
4.00
4.10
4.30
4.30
4.40
4.70
4.80
4.90
5.00
5.30
5.50
5.70
5.80
6.00
6.30




TMG21#EtR X TR

Rt

TMG21 Modular Tooling System

Al 3R ALY FLEG1EHR(3D)

Indexable Boring Drills

223.0201.192
223.0202.192
223.0203.192
223.0204.192
223.0205.192
223.0206.192
223.0207.192
223.0208.192
223.0209.192
223.0210.192
223.0211.192
223.0212.192
223.0213.192
223.0214.192
223.0215.192
223.0216.192
223.0217.192
223.0218.192
223.0219.192
223.0220.192
223.0221.192
223.0222.192
223.0223.192
223.0224.192
223.0225.192
223.0226.192
223.0227.192
223.0228.192

21CD.50-K22-101
21CD.50-K23-104
21CD.50-K24-107
21CD.50-K25-110
21CD.50-K26-113
21CD.50-K27-116
21CD.50-K28-119
21CD.50-K29-122
21CD.50-K30-130
21CD.50-K31-133
21CD.50-K32-136
21CD.50-K33-139
21CD.50-K34-142
21CD.50-K35-145
21CD.50-K36-148
21CD.50-K37-161
21CD.50-K38-164
21CD.50-K39-167
21CD.50-K40-170
21CD.50-K41-173
21CD.50-K42-176
21CD.50-K43-179
21CD.50-K44-182
21CD.63-K45-190
21CD.63-K46-193
21CD.63-K47-196
21CD.63-K48-199
21CD.63-K49-202

iE: XTIREERRMITE,

e e

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
63
63
63
63
63

28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
28
34
34
34
34
34

23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

di
I

|

L1

101
104
107
110
113
116
119
122
130
133
136
139
142
145
148
161
164
167
170
173
176
179
182
190
193
196
199
202

69
72
75
78
81
84
87
90
93
96
99
102
105
108
111
114
117
120
123
126
129
132
135
138
141
144
147

WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX050308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX06T308
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412

M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3x7x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°

T7
T7
T7
T9
T9
T9
T9
T9
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T10
T15
T15
T15
T15
T15
T15
T15
T15

0.55
0.60
0.60
0.60
0.60
0.65
0.65
0.65
0.70
0.75
0.75
0.80
0.85
0.90
0.95
1.10
1.20
1.25
1.30
1.35
1.40
1.45
1.50
1.70
1.80
2.00
2.30
2.30



TMG21#ER R TE RS

TMG21 Modular Tooling System

B RARA-FEE

AT ALY FLEGHEER(3D)

Indexable Boring Drills

223.0229.192
223.0230.192
223.0231.192
223.0232.192
223.0233.192
223.0234.192
223.0235.192
223.0236.192
223.0237.192
223.0238.192
223.0239.192
223.0240.192
223.0241.192
223.0242.192
223.0243.192
223.0244.192
223.0245.192
223.0246.192
223.0247.192
223.0248.192
223.0249.192
223.0250.192
223.0251.192
223.0252.192
223.0253.192

21CD.63-K50-205
21CD.63-K51-208
21CD.63-K52-211
21CD.63-K53-214
21CD.63-K54-217
21CD.80-K55-220
21CD.80-K56-223
21CD.80-K57-226
21CD.80-K58-229
21CD.80-K59-232
21CD.80-K60-235
21CD.80-K61-238
21CD.80-K62-241
21CD.80-K63-244
21CD.80-K64-247
21CD.80-K65-250
21CD.80-K66-253
21CD.80-K67-256
21CD.80-K68-259
21CD.80-K69-272
21CD.80-K70-275
21CD.80-K71-278
21CD.80-K72-281
21CD.80-K73-284
21CD.80-K74-287

63
63
63
63
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

34
34
34
34
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46
46

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74

d1

208
211
214
217
220
223
226
229
232
235
238
241
244
247
250
253
256
259
272
275
278
281
284
287

150
153
156
159
162
165
168
171
174
177
180
183
186
189
192
195
198
201
204
207
210
213
216
219
222

WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412
WCMX080412

L1

M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°

T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15
T15

2.50
2.50
2.70
2.90
2.90
3.00
3.10
3.20
3.60
3.80
4.00
4.10
4.30
4.30
4.40
4.70
4.80
4.90
5.00
5.30
5.50
5.70
5.80
6.00
6.30

E: XTI RBEERBEMITE,




TMG21#&E R TR RS

TMG21 Modular Tooling System

AIEE A% FLEGIRERBEY (2D)

Indexable Short Hole Drills

240.0009.142  21CD.50-Z21-77-2S6 SPGT060204 M2.2x5x60° T6 0.55
240.0010.142 21CD.50-Z22-79-256 50 28 22 79 44  SPGT060204 M2.2x5x60°  T6 0.55
240.0011.142 21CD.50-Z23-81-257 50 28 23 81 46 SPGT07T308 M2.5x6x60°  T7 0.55
240.0012.142 21CD.50-Z24-83-257 50 28 24 83 48  SPGTO7T308 M2.5x6x60°  T7 0.60
240.0013.142 21CD.50-Z25-85-257 50 28 25 85 50 SPGT07T308 M2.5x6x60°  T7 0.60
240.0014.142 21CD.50-Z26-87-257 50 28 26 87 52  SPGT07T308 M25x6x60° T7 0.60
240.0015.142 21CD.50-Z27-89-257 50 28 27 89 54 SPGT07T308 M2.5x6x60°  T7 0.65
240.0016.142 21CD.50-Z28-91-257 50 28 28 91 56  SPGTO7T308 M2.5x6x60° T7 0.65
240.0017.142 21CD.50-Z29-93-259 50 28 29 93 58 SPGT090408 M3.5x8x60° T10 0.65
240.0018.142 21CD.50-Z30-1002S9 50 28 30 100 60 SPGT090408 M3.5x8x60° T10 0.70
240.0019.142 21CD.50-Z31-102-289 50 28 31 102 62 SPGT090408 M3.5x8x60° T10 0.75
240.0020.142 21CD.50-Z32-1042S9 50 28 32 104 64  SPGT090408 M3.5x8x60° T10 0.75
240.0021.142 21CD.50-Z33-106-289 50 28 33 106 66 SPGT090408 M3.5x8x60° T10 0.80
240.0022.142 21CD.50-Z34-108-2S9 50 28 34 108 68 SPGT090408 M3.5x8x60° T10 0.85
240.0023.142 21CD.50-235-110-2511 50 28 3 110 70 SPGT110408  M4x9x60°  T15 0.90
240.0024.142 21CD.50-Z36-112-2511 50 28 36 112 72 SPGT110408  M4x9x60°  T15 0.95
240.0025.142 21CD.50-Z37-124-2511 50 28 37 124 74 SPGT110408  M4x9x60°  T15 1.10
240.0026.142 21CD.50-Z38-126-2S11 50 28 38 126 76 SPGT110408  M4x9x60°  T15 1.20
240.0027.142 21CD.50-Z39-128-2S11 50 28 39 128 78 SPGT110408  M4x9x60°  T15 1.25
240.0028.142 21CD.50-740-130-2S11 50 28 40 130 80 SPGT110408  M4x9x60°  T15 1.30
240.0029.142 21CD.50-Z41-132-2S511 50 28 41 132 82 SPGT110408  M4x9x60°  T15 1.35
240.0030.142 21CD.50-Z42-134-2S511 50 28 42 134 84  SPGT110408 M4x9x60°  T15 1.40
240.0031.142 21CD.50-Z43-136-2511 50 28 43 136 86 SPGT110408  M4xox60°  T15 1.45

_E Jll20

E: XTVREERBMITES,



TMG21#ER R TE RS

TMG21 Modular Tooling System

B RARA-FEE

RAI iR FLERIERBEY (3D)

Indexable Short Hole Drills

L1

240.0059.142  21CD.50-Z21-98-356 SPGT060204 M2.2x5x60°  T6 0.55
240.0060.142 21CD.50-722-101-356 50 28 22 101 66 SPGT060204 M2.2x5x60°  T6 0.55
240.0061.142 21CD.50-Z23-104-357 50 28 23 104 69 SPGT07T308 M2.5x6x60°  T7 0.55
240.0062.142 21CD.50-224-107-357 50 28 24 107 72  SPGTO7T308 M2.5x6x60° T7 0.60
240.0063.142 21CD.50-225-110-357 50 28 25 110 75 SPGT07T308 M2.5x6x60°  T7 0.60
240.0064.142 21CD.50-226-113-357 50 28 26 113 78  SPGTO7T308 M2.5x6x60°  T7 0.60
240.0065.142 21CD.50-227-116-357 50 28 27 116 81 SPGT07T308 M2.5x6x60°  T7 0.65
240.0066.142 21CD.50-Z28-119-357 50 28 28 119 84  SPGTO7T308 M2.5x6x60°  T7 0.65
240.0067.142 21CD.50-Z29-122-339 50 28 29 122 87 SPGT090408 M3.5x8x60° T10 0.65
240.0068.142 21CD.50-Z30-130-3S9 50 28 30 130 90 SPGT090408 M3.5x8x60° T10 0.70
240.0069.142 21CD.50-Z31-133-359 50 28 31 133 93 SPGT090408 M3.5x8x60° T10 0.75
240.0070.142 21CD.50-Z32-136-359 50 28 32 136 96 SPGT090408 M3.5x8x60° T10 0.75
240.0071.142 21CD.50-Z33-139-359 50 28 33 139 99 SPGT090408 M3.5x8x60° T10 0.80
240.0072.142 21CD.50-Z34-142-359 50 28 34 142 102  SPGT090408 M3.5x8x60° T10 0.85
240.0073.142 21CD.50-235-145-3511 50 28 35 145 105  SPGT110408 M4x9x60°  T15 0.90
240.0074.142 21CD.50-Z36-148-3511 50 28 36 148 108  SPGT110408 M4x9x60°  T15 0.95
240.0075.142 21CD.50-Z37-161-3511 50 28 37 161 111 SPGT110408 M4x9x60°  T15 1.10
240.0076.142 21CD.50-738-164-3S11 50 28 38 164 114  SPGT110408 M4x9x60°  T15 1.20
240.0077.142 21CD.50-Z39-167-3S11 50 28 39 167 117 SPGT110408 M4x9x60°  T15 1.25
240.0078.142 21CD.50-Z40-170-3511 50 28 40 170 120  SPGT110408 M4x9x60°  T15 1.30
240.0079.142 21CD.50-Z41-173-3511 50 28 41 173 123 SPGT110408 M4x9x60°  T15 1.35
240.0080.142 21CD.50-Z42-176-3511 50 28 42 176 126  SPGT110408 M4x9x60°  T15 1.40
240.0081.142 21CD.50-243-179-3511 50 28 43 179 129  SPGT110408 M4x9x60°  T15 1.45

E: ij}:'-l %Fi?ﬂ’\l Dlo




TMG21#EtR X TR

Rt

TMG21 Modular Tooling System

HI FER AT # A% FLER(2D)

Indexable Boring Drills with Flatted Parallel Shanks

240.0109.142
240.0110.142
240.0111.142
240.0112.142
240.0113.142
240.0114.142
240.0115.142
240.0116.142
240.0117.142
240.0118.142
240.0119.142
240.0120.142
240.0121.142
240.0122.142
240.0123.142

XP25-721-66-256
XP25-722-68-256
XP25-723-70-257
XP32-224-72-2S57
XP32-725-74-2S57
XP32-226-76-2S7
XP32-227-78-257
XP32-228-80-2S57
XP32-229-82-259
XP32-230-89-2S9
XP32-Z31-91-259
XP32-232-93-2S9
XP32-733-95-259
XP40-234-97-2S9
XP40-235-99-2S11

240.0124.142 XP40-Z36-101-2S11
240.0125.142 XP40-Z37-113-2S11
240.0126.142 XP40-Z38-115-2S11
240.0127.142 XP40-Z39-117-2511
240.0128.142 XP40-Z40-119-2S11
240.0129.142 XP40-Z41-121-2S511
240.0130.142 XP40-Z42-123-2S11
240.0131.142 XP40-743-125-2S11

22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43

25
25
32
32
32
32
32
32
32
32
32
32
40
40
40
40
40
40
40
40
40
40

32
32
40
40
40
40
40
40
40
40
40
40
50
50
50
50
50
50
50
50
50
50

68
70
72
74
76
78
80
82
89
91
93
95
97
99
101
113
115
117
119
121
123
125

44
46
48
50
52
54
56
58
60
62
64
66
68
70
72
74
76
78
80
82
84
86

56
56
60
60
60
60
60
60
60
60
60
60
70
70
70
70
70
70
70
70
70
70

SPGT060204
SPGT060204
SPGT07T308
SPGT07T308
SPGT07T308
SPGT07T308
SPGT07T308
SPGT07T308
SPGT090408
SPGT090408
SPGT090408
SPGT090408
SPGT090408
SPGT090408
SPGT110408
SPGT110408
SPGT110408
SPGT110408
SPGT110408
SPGT110408
SPGT110408
SPGT110408
SPGT110408

M2.2x5x60°
M2.2x5x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M3.5x8x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°
M4x9x60°

T6
T7
T7
T7
T7
T7
T7
T10
T10
T10
T10
T10
T10
T15
T15
T15
T15
T15
T15
T15
T15
T15

0.55
0.55
0.60
0.60
0.60
0.60
0.65
0.65
0.65
0.70
0.75
0.75
0.80
0.85
0.90
0.95
1.10
1.20
1.25
1.30
1.35
1.40
1.45

E: XTREERBEMITS,

_E ]l



TMG21#ER R TE RS

TMG21 Modular Tooling System

B RARA-FEE

HI F B4R AT 42 4% FLEL (3D)

Indexable Boring Drills with Flatted Parallel Shanks

240.0159.142 XP25-7221-87-3S6 SPGT060204 M2.2x5x60° 0.55
240.0160.142 XP25-722-90-3S6 22 25 32 90 66 56 ~ SPGT060204 M2.2x5x60°  T6 0.55
240.0161.142 XP25-723-93-3S7 23 25 32 93 69 56  SPGT07T308 M2.5x6x60°  T7 0.60
240.0162.142 XP32-724-96-3S7 24 32 40 96 72 60 SPGTO7T308 M2.5x6x60°  T7 0.60
240.0163.142 XP32-725-99-3S7 25 32 40 99 75 60 SPGTO7T308 M2.5x6x60° T7 0.60
240.0164.142 XP32-726-102-3S7 26 32 40 102 78 60 SPGTO7T308 M2.5x6x60°  T7 0.65
240.0165.142 XP32-727-105-3S7 27 32 40 105 81 60 SPGTO7T308 M2.5x6x60°  T7 0.65
240.0166.142 XP32-728-108-3S7 28 32 40 108 84 60 SPGTO7T308 M2.5x6x60°  T7 0.65
240.0167.142 XP32-729-111-389 29 32 40 111 87 60 SPGT090408 M3.5x8x60° T10 0.65
240.0168.142 XP32-Z30-119-3S9 30 32 40 119 90 60 SPGT090408 M3.5x8x60° T10 0.70
240.0169.142 XP32-Z31-122-3S9 31 32 40 122 93 60 SPGT090408 M3.5x8x60° T10 0.75
240.0170.142 XP32-732-125-3S9 32 32 40 125 96 60 SPGT090408 M3.5x8x60° T10 0.75
240.0171.142 XP32-733-128-3S9 33 32 40 128 99 60 SPGT090408 M3.5x8x60° T10 0.80
240.0172.142 XP40-7Z34-131-3S9 34 40 50 131 102 70  SPGT090408 M3.5x8x60° T10 0.85
240.0173.142  XP40-Z35-134-3S11 35 40 50 134 105 70  SPGT110408  M4x9x60° T15 0.90
240.0174.142  XP40-Z36-137-3S11 36 40 50 137 108 70  SPGT110408  M4x9x60° T15 0.95
240.0175.142  XP40-Z37-150-3S11 37 40 50 150 111 70  SPGT110408  M4x9x60° T15 1.10
240.0176.142  XP40-Z38-153-3S11 38 40 50 153 114 70  SPGT110408  M4x9x60° T15 1.20
240.0177.142  XP40-Z39-156-3S11 39 40 50 156 117 70  SPGT110408  M4x9x60° T15 1.25
240.0178.142  XP40-Z40-159-3S11 40 40 50 159 120 70  SPGT110408  M4x9x60° T15 1.30
240.0179.142  XP40-Z41-162-3S11 41 40 50 162 123 70  SPGT110408  M4x9x60° T15 1.35
240.0180.142  XP40-Z42-165-3S11 42 40 50 165 126 70  SPGT110408  M4x9x60° T15 1.40
240.0181.142  XP40-Z43-168-3S11 43 40 50 168 129 70  SPGT110408  M4x9x60° T15 1.45

E: XTREERBMITS,




TMG21#&E R TR RS

TMG21 Modular Tooling System

BITIFN Tk (3D)

Single-blade Double—-edged Drills

L2

dl

—_—

Hii
i

240.0001.143 XP20-Z12-68-3P P600.-D12.00R  FS1396 0.22
240.0002.143 XP20-713-72-3P 13 20 25 72 4 50 P600.-D13.00R FS1396 T7 0.22
240.0003.143 XP20-7Z14-76-3P 14 20 25 76 45 50 P600.-D14.00R  FS1397 T8 0.22
240.0004.143 XP20-Z15-80-3P 15 20 25 80 48 50 P600.-D15.00R  FS1397 T8 0.25
240.0005.143 XP20-216-84-3P 16 20 25 84 51 50 P600.-D16.00R  FS1398 T8 0.25
240.0006.143 XP20-217-88-3P 177 20 25 88 54 50 P600.-D17.00R  FS1398 T8 0.26
240.0007.143 XP20-718-92-3P 18 20 25 92 57 50 P600.-D18.00R  FS1399 T15 0.28
240.0008.143 XP20-219-96-3P 19 20 25 96 61 50 P600.-D19.00R  FS1399 T15 0.29
240.0009.143 XP20-220-100-3P 20 20 25 100 64 50 P600.-D20.00R  FS1400 T20 0.31
240.0010.143 XP20-221-104-3P 21 20 25 104 67 50 P600.-D21.00R FS1400 T20 0.33
240.0011.143 XP25-722-109-3P 22 25 32 109 70 56 P600.-D22.00R  FS1401 T20 0.48
240.0012.143 XP25-723-113-3P 23 25 32 113 73 56 P600.-D23.00R FS1401 T20 0.5
240.0013.143 XP25-724-117-3P 24 25 32 117 76 56 P600.-D24.00R FS1402 T20 0.5
240.0014.143 XP25-725-121-3P 25 25 32 121 80 56 P600.-D25.00R FS1402 T20 0.6
240.0015.143 XP25-726-125-3P 26 25 32 125 83 56 P600.-D26.00R FS1403 T25 0.6
240.0016.143 XP25-727-129-3P 27 25 32 129 86 56 P600.-D27.00R  FS1403 T25 0.6
240.0017.143 XP32-728-134-3P 28 32 42 134 89 60 P600.-D28.00R  FS1404 T25 0.9
240.0018.143 XP32-729-138-3P 29 32 42 138 92 60 P600.-D29.00R FS1404 T25 0.9
240.0019.143 XP32-Z30-142-3P 30 32 42 142 95 60 P600.-D30.00R FS1404 T25 1

240.0020.143 XP32-7Z31-146-3P 31 32 42 146 99 60 P600.-D31.00R FS1404 T25 1

240.0021.143 XP40-Z32-150-3P 32 40 50 150 102 70 P600.-D32.00R FS1404 T25 1.3

~fi: XP20-Z12-68-3P JIEHA[F A D=12.00mm ZE 12.99mm (&) 715
INRITM P600.-D12.00R MIgHI 71
P6003, 5% fA#t R WMP35(1SO P, ISO M #1 I1SO S):P6003-D12.00R WMP35 & £ #

P6001, % FI#& WPP45C(1SO P):P6001-D12.00R WPP45C

P6006, 5% A# i WPP25(1SO P, & 44X ):P6006-D12.00R WPP25
i TR BSTER A RIMITE

I |1/



TMG21IERA TR R4 B E R-5 T 3

TMG21 Modular Tooling System

AL FLEH R VIR SR

16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.09
TR 80-200 31.0-38.0 0.06-0.10 200 (170-240)
39.0-46.0 0.07-0.11
47.0-58.0 0.08-0.12
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.12
RREAW 150-260 31.0-38.0 0.06-0.14 170 (140-220)
39.0-46.0 0.08-0.16
47.0-58.0 0.10-0.20
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.12
BAEW 150-320 31.0-38.0 0.06-0.16 150 (120-180)
39.0-46.0 0.08-0.18
47.0-58.0 010-0.22
16.0-23.0 0.05-0.08
24.0-30.0 0.05-0.08
%M 180-250 31.0-38.0 0.06-0.10 140 (120-170)
39.0-46.0 0.07-0.11
47.0-58.0 0.07-0.12
16.0-23.0 0.05-0.09
TEE 24.0-30.0 0.05-0.12
PRE 150-270 31.0-38.0 0.06-0.16 160 (110-230)
O Rk 39.0-46.0 0.08-0.18
47.0-58.0 0.10-0.22
M 16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.11
B 150-275 31.0-38.0 0.06-0.13 140 (110-220)
39.0-46.0 0.08-0.14
47.0-58.0 0.10-0.16
16.0-23.0 0.05-0.10
24.0-30.0 0.05-0.14
150-230 31.0-38.0 0.08-0.16 160 ( 120-220)
39.0-46.0 0.10-0.20
47.0-58.0 0.12-0.24
16.0-23.0 0.05-0.10
24.0-30.0 0.05-0.14
150-220 31.0-38.0 0.08-0.16 200 (170-240)
39.0-46.0 0.10-0.20
47.0-58.0 0.12-0.24
16.0-23.0 0.05-0.09
24.0-30.0 0.05-0.12
160-250 31.0-38.0 0.06-0.14 160 ( 130-200 )
39.0-46.0 0.06-0.16
47.0-58.0 0.10-0.20
16.0-23.0 0.05-0.10
24.0-30.0 0.05-0.14
60-110 31.0-38.0 0.08-0.16 300 (250-350)
39.0-46.0 0.10-0.20
47.0-58.0 0.12-0.24

2slllE



@ﬁﬁﬂ? ARIBEAT TMG21#ERX TR RS

TMG21 Modular Tooling System

90° I 7 RIE AT $% {2 T IR BEY

90° Double Edges Adjustable Indexable Boring Cutters

&)

i)}

240.0201.137  21CD.25-T$9025-50- C6 $25-¢33 M2.5X6X60° CCMT060204  0.50
240.0202.137  21CD.32-TS9032-60- C6 $32-¢42 32 16 60  M2.5X6X60° T8  CCMT060204  0.60
240.0203.137  21CD.32-TS9032-100- C6 $32-¢42 32 16 100  M2.5X6X60° T8 ~ CCMT060204  0.70
240.0204.137  21CD.32-TS9041-60- C9 $4-¢54 32 16 60  M4X9X60° Ti5  CCMT09T308  0.80
240.0205.137  21CD.40-TS9041-120- C9 $M-¢54 40 20 120 M4X9X60° Ti5  CCMTO09T308  1.00
240.0206.137  21CD.40-TS9053-70- C9 $53- 71 40 20 70 M4X9X60° Ti5  CCMT09T308  1.20
240.0207.137  21CD.50-TS9053-135- C9 $53-¢71 50 28 135  M4X9X60° Ti5  CCMT09T308 1.36
240.0208.137  21CD.50-TS9068-70- C12 $68-¢88 50 28 70  M5x13x60°  T20 CCMT120408  1.50
240.0209.137  21CD.63-TS9068-135- C12 $68-$88 63 34 135 M5X13X60°  T20 CCMT120408  3.20
240.0210.137  21CD.63-TS9086-80- C12 $86-¢106 63 34 80  MsX13x60°  T20 CCMT120408 3.80
240.0211.137  21CD.80-TS90100-90- C12 $100- 130 80 46 90  M5X13X60°  T20 CCMT120408  6.80
240.0212.137  21CD.80-TS90125-100- C12 $125-¢155 80 46 100 M5X13X60°  T20 CCMT120408 7.18
240.0213.137  21CD.100-TS90125-100— C12 $125-¢155 100 56 100  M5X13X60°  T20 CCMT120408 9.15

90° XTI R E Rl 5§ TI1ERBEY

90° Double Edges Adjustable Indexable Boring Cutters

S
(G RN

D1
di
L
|
|
|

| eee
|

240.0070.137 21CD.100-TS90150-105B  ®150-®200 100 105  Mb5x11x60° CCMT120408 10.12
240.0071.137 21CD.100-TS90195-105B  ®195-0265 100 56 105 Mb5x11x60° T20 CCMT120408 11.00
240.0072.137 21CD.125-TS90260-130B  ®260-®330 125 70 130 Mb5x11x60° T20 CCMT120408 12.00
240.0073.137 21CD.125-TS90325-130B  ®325-0395 125 70 130 Mb5x11x60° T20 CCMT120408 13.94
240.0074.137 21CD.125-TS90390-130B  ®390-0460 125 70 130 Mb5x11x60° T20 CCMT120408 16.03
240.0075.137 21CD.125-TS90455-130B  ®455-0525 125 70 130 Mb5x11x60° T20 CCMT120408 17.85

I 1/



TMG21EHRKX TR R %5 ¥R -F %%

TMG21 Modular Tooling System

90° XTI i AT #E {55 T AR

90° Twin-blade Micro—adjustable Indexable Boring Cutters

4]
|

223.0101.810 21CD . 100-TSW90196-88 @196 - ®271 100 165 T10 TZwW25/77.5A
223.0102.810 21CD . 125-TSW90196-88 ®196- ®271 125 70 165 T10 TZW25/77.5A
223.0103.810 21CD . 125-TSW90261-90 ®261-®335 125 70 230 T10 TZW25/77.5A
223.0104.810 21CD . 125-TSW90326-112 ®326- ®401 125 70 295 T10 TZwW25/77.5A
223.0105.810 21CD . 125-TSW90395-122 ®395- ®501 125 70 360 T10 TZW25/77.5A

9.0
10.5
13
15

i ITIREBRIE TR, ERBSEEM “B” BEESEMNA “0” THX “17 .

B AR tE JIBE

Micro—adjustable Indexable Boring with Radial Adjustment

<X

240.0162.130 TZW16/45B 47 CCMT060204-HF M2.5x5x60°
240.0163.130 TZW20/56B ®58 56 20 7 145 CCMTO060204-HF M2.5x6x60°
240.0164.130 TZW25/77.5B 79 775 25 8 16 CCMTO09T304-HF M4x7x60°
240.0165.130 TZW32/97B ®100 97 32 11 19 CCMTO09T304-HF M4x9x60°

240.0166.130 TZW32/131B »138 131 32 11 19 CCMTO09T304-HF M4x9x60°

T7
T7
T15
T15
T15

0.11
0.17
0.31
1.05
1.25




@,ﬁmf AR TMG21#ER R TE RS

TMG21 Modular Tooling System

90° W71 KFLIFERUASE TR

90° Twin-blabe Big Diameter Micro—adjustable Indexable Boring Cutters

Dmin~Dmax
P M
t,’
- | = E | o |
L
Fe
DI 018 K
_\ 1 ; 1
| } 7 7 Y \)
‘ ¥ C T = /(
\ B 8 45° ‘L 45°
240.0101.137 XD60-TSW90261-115  ®261-10335 115 ®101.6 TZW25/77 5A
240.0102.137 XD60- TSW90326-115 ©326-0401 115 310 ®101.6 18 TZW25/77 .5A 16
240.0108.137 XD60-TSW90370-115  ®370-®501 115 350 ®101.6 18 TZW25/77 .5A 18.4
240.0104.137 XD60-TSW90490-120 ®490-d610 120 380 D177.8 22 TZW25/77.5A 24
240.0105.137 XD60-TSW90590-120 ®590-d710 120 480 ®177.8 22 TZW25/77.5A 28
240.0106.137 XD60-TSW90690-120 D690-D750 120 580 D177.8 22 TZW25/77.5A 30
e TTAEEBRISE IS, AFRESEEmM “B” JBEKSEMA “0” TR “17
S TMG21 W A AT s A T R R IS
L RN 120-180 120-180 0.2-0.4 0.08-0.2
KEEW 120-210 120-210 0.2-0.4 0.08-0.2
BERESEN 100-170 100-170 0.2-0.4 0.08-0.2
60-110 60-110 0.2-0.4 0.08-0.2
75-150 75-150 0.2-0.4 0.08-0.2

I 1/



TMG21HEH X TR &%

TMG21 Modular Tooling System

B RARA-FEE

B AR E 5 TR

Micro-adjustable Indexable Boring Cutters with Radial Adjustment

d1

s—g

223.0023.810  21CD . 40-TZW47 - 60 047 - O57 TZW16/45A 0.52
223.0024.810  21CD . 40— TZW56 — 60 56 - D66 60 40 20 TZW16/45A 0.53
223.0025.810  21CD . 50- TZW58 - 70 58 - O71 70 50 28 TZW20/56A 0.97
223.0026.810  21CD . 50—~ TZW70 - 70 70 - ®83 70 50 28 TZW20/56A 1.00
223.0027.810  21CD . 63-TZW79 - 70 O79 - D94 70 63 34 TZW25/77.5A 1.58
223.0028.810  21CD . 63-TZW93 - 70 ®93 - ®108 70 63 34 TZW25/77.5A 1.61
223.0029.810  21CD . 80-TZW100 - 90 ®100- ®121 20 80 46 TZW32/97A 3.33
223.0030.810  21CD . 80— TZW120- 90 ©120- O 141 90 80 46 TZW32/97A 3.37
223.0031.810  21CD . 100-TZW138- 90 ®138- ®159 20 100 56 TZW32/131A 6.56
223.0032.810  21CD . 100-TZW158 - 90 ©158- ®179 20 100 56 TZW32/131A 6.80
223.0033.810  21CD . 100-TZW178- 90 ©178- ®199 90 100 56 TZW32/131A 6.61

i ITMEBRE TR, ERESEEN “B” JEEHKSEMA “0” TH 17

HARA AL EE TIAZY

Micro—adjustable Indexable Boring Heads with Radial Adjustment

L= .
ES

e

240.0152.130
240.0153.130
240.0154.130
240.0155.130
240.0156.130

TZW16/45A
TZW20/56A
TZW25/77.5A
TZW32/97A
TZW32/131A

47
®58
79
®100
®138

56 20
77.5 25
97 32
131 32

11
11

14.5
16
19
19

T7
T7
T7
T7

M2.5X5X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°

TCMT 090204
TCMT 090204
TCMT 110204
TCMT 110204
TCMT 110204

0.06
0.12
0.26
1.00
1.20

2o lllfE



TMG21#EtR X TR

TMG21 Modular Tooling System

Rt

fE SRR P 4% {58 T] AR AR

Angular Micro- adjustable Indexable Boring Cutters

223.0040.810 21CD.40-TQW45 - 60.9 D45 - ©54.6 60.9 TQW16/45 0.58
223.0041.810 21CD . 40-TQW50 - 63.8 ®50 - ©59.6 63.8 40 20 TQW16/50 0.59
223.0042.810 21CD.50-TQW56 - 70.5 ®56 - ©68 70.5 50 28 TQW20/56 1.02
223.0043.810 21CD . 50-TQW64 - 73.5 D64 - O76 73.5 50 28 TQW20/64 1.09
223.0044.810 21CD.63-TQW72 - 90.5 72 - 088 90.5 63 34 TQW25/72 2.06
223.0045.810 21CD .63-TQW80 - 93.5 ®80 - ©96 93.5 63 34 TQW25/80 2.21
223.0046.810 21CD.80-TQW90 -110.5 ®90 - 0114 110.5 80 46 TQW32/90 4.06
223.0047.810 21CD . 80-TQW100-114.5 ®©100- ®124 114.5 80 46 TQW32/100 4.46
223.0048.810 21CD.100-TQW110-125.8 ®110- 0134 125.8 100 56 TQW32/110 7.65
223.0049.810 21CD . 100-TQW125-131.4 125 - ©149 131.4 100 56 TQW32/125 8.24

{ SR PT S L 55 T]

Angular Micro—adjustable Indexable Boring Heads

240.0015.130 TQW16/45 D45 — ©54.6(60) M2.5x6x60°  U4-8004-L 0.07
240.0016.130 TQW16/50 ®50 — ©59.6(68) 57 16 6 T7 M2.5x6x60°  U4-8004-L 0.08
240.0017.130 TQW20/56 ®56 - ®68(78) 63 20 7.5 T7 M25x6x60°  U4-8004-L 0.11
240.0018.130 TQW20/64 ®64 — ©76(90) 71 20 7.5 T7 M2.5x6x60°  U4-8004-L 0.13
240.0019.130 TQW25/72 ®72 — ©88(100) 81 25 10 T9 M3 x 7 x 60° U5-8005-L 0.22
240.0020.130 TQW25/80 ®80 — ©96(144) 91 25 10 T9 M3 x 7 x 60° U5-8005-L 0.24
240.0021.130 TQW32/90 ®90 - ®114(126) 102 32 15 T9 M3 x 7 x 60° U5-8005-L 0.45
240.0022.130 TQW32/100 ®100- ®124(140) 112 32 15 T9 M3 x 7 x 60° U5-8005-L 0.51
240.0023.130 TQW32/110 ®110- ®134(150) 127 32 15 T9 M3 x 7 x 60° U5-8005-L 1.04
240.0024.130 TQW32/125 ®125- ®149(175) 142 32 15 T9 M3 x 7 x 60° U5-8005-L 1.09

I | 1/E



CTEZ% . .
TMG2TRR A TS5 bR -F xS

Micro—adjustable Boring Heads

D16H7.

63
34
T
L)
==
|
I
|
|
[

WORAREESLIERA S . 21C.63/ZB16-T0250-45, 2. 240.0100.133,
*EEHIERE: ¢ 2- ¢ 50,

*wEEEIER, ERTRINFHEFRBEMI,

YOEITIE: FEHE4.5mm,

YOREREE. ERZIE: ¢0.01mm/A&, BIRZIE: ¢0.001mm/4&

RAEREIR, T#HITER
¢ 0.001BEHEEME

RORTEtE LER T X HENRAET A

1. BEEHATF BT R IR

2, IMEETERN, ERESEMNITEEELESR, NFRIEX,

3. WIRRHSTHS mEEshZI R, AEARAMERT, TEERMBRZEUREROELE, EF E
Ui E RFOEI RO SE

4, ELITRBHMUBIRT, MRS RVRIBET, TRUEFRTHEE,

EEEI:

* RRFETE KRR R | S 1T FEIE 10000rpm, EREImmER EMRERETHSHE HNRSHE,
EREERULENARITER, IMEREERFE, BIZTENEHREN, EFERIEEFSE
FRfE o

* HWMELRYIEISEAR, REVREHMTIE, EERERHER FILFZERFETRISH,
* It SKHIITIER4.5mm, BA THEIEENTE, HRARETEIMMIUARER,

K It S A R SE AT BR Tl 5 $2 KRR B R $E T

s e




TMG21#&E R TR RS

TMG21 Modular Tooling System

EURRKEETT (42-08)

Carbide Boring

E

16
|
|
|
|
|
|
|

Dmin

340.0116.133
340.0117.133
340.0118.133
340.0119.133

TD3x15x100xZB16
TD4x20x100xZB16
TD5x25x100xZB16
TD6x30x100xZB16

ﬂﬁg{ﬁ%ﬂ ($8-450)

Indexable Boring

3
4
5
6

100
100
100
100

20
25
30

216

4
ﬁ

2.5

0.35
0.40
0.45
0.50

340.0120.133
340.0121.133
340.0122.133
340.0123.133
340.0124.133
340.0125.133
340.0126.133
340.0127.133
340.0128.133
340.0129.133
340.0130.133
340.0131.133
340.0132.133
340.0133.133
340.0134.133
340.0135.133

TD8x32x90xZB16
TD10x40x90xZB16
TD12x48x100xZB16
TD14x56x110xZB16
TD16x64x110xZB16
TD18x65x110xZB16
TD20x65x110xZB16
TD22x65x110xZB16
TD24x65x110xZB16
TD26x65x110xZB16
TD28x65x110xZB16
TD30x65x110xZB16
TD32x65x110xZB16
TD34x65x110xZB16
TD36x65x110xZB16
TD42x65x110xZB16

E: XTREERRRMITE,

I 13

10
12
14
16
18
20
22
24
26
28
30
32
34
36
42

90
100
110
110
110
110
110
110
110
110
110
110
110
110
110

40
48
56
64
65
65
65
65
65
65
65
65
65
65
65

o N o O

11
12
13
14
15
16
17
18
21

T5
T7
T7
T7
T7
T7
T7
T7
T7
T7
T7
T7
T7
T7
T7

M2x5x60°
M2x5x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°
M2.5x6x60°

TCGTO6T104
TCGT06T104
TCGT090204
TCGT090204
TCGT090204
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304
TCGT110304

0.30
0.35
0.40
0.45
0.5
0.55
0.60
0.65
0.70
0.75
0.80
0.85
0.90
0.95
1.00
1.05



TMG21iRH X TR RS B R-FEF

TMG21 Modular Tooling System

BERXTE RS-

SNERRET
External Taper Clamping Screw
L

21A . 25 —E1 M6 x 0.75 9
21A .32 —E1 M8 x 0.75 12
o| T N 21A. 40 -E1 M10x0.75 15
""" / 21A .50 —E1 M12x 1 17
21A . 63 —E1 M16 x 1 22
21A . 80 —E1 M20 x 1 26
21A . 100 - E1 M24x 1.5 32
21A . 125 —E1 M30 x 1.5 40
R ET
Internal Taper Clamping Screw ---
: 21A .25 —E2 M6 x 0.75 5
21A. 32 —E2 M8 x 0.75 6.5
N 21A .40 -E2 M10 % 0.75 8.5
IS i7a g 21A .50 —E2 Mi2x 1 95
) 21A .63 —E2 M16 x 1 12.5
21A .80 —E2 M20 x 1 14.5
21A . 100-E2 M24 x 1.5 19.5
21A . 125 E2 M30x 1.5 235
BB
L 21B .25 —E3 7 1.5
. 21B .32 —E3 9 14.5
I 21B . 40 -E3 11 18.5
EY 21B .50 —E3 13 26
— 21B .63 —E3 17 32
21B . 80 —-E3 21 44
21B . 100-E3 25 53
21B . 125-E3 32 66.5
TE LY
L 21B .25 —E4 2.6 8 M2
21B . 32 —E4 46 9 M3X0.35
A= e 21B. 40 —E4 5.5 12 M4X0.5
=Y 21B .50 —-E4 6.5 15 M5X0.5
21B. 63 —E4 9.5 20 M8X1
21B .80 -E4 11.5 24 M10X1
21B . 100- E4 15.5 30 M12X1
21B . 125-E4 19.5 36 M16X1

|l E



NERTEC HMCT Indexable Precision Cartridges

@, BARKARKEAT AR INTI K
GE

QESERNWIPS
AEABENTIRZERAAFIRETL.. PIHT A FL I T F Z 8 557~
m, BEMNIREETIF LPNARASG, TU—XERERXRHHL. BH. KEF
MEAMI, RAAUREAFHEMIER. NIATHSHESE, RITHERAE
MERTIR, BREAPKHIZER, RTHEAPRMANTRAKIN, RARARE
ARPHEXRRERH#EEHREMREHN @,

FIEMREENTIRB S ... FO1 25T EX/NTIESTTCB0° ..., FO05
25T R ERX/NTTELSSRC75° ... F02 BT ERX/NTTFESTWCE0° ............. FO5
BET R EK/NTTFSSSCA5° ... F02 BETRERX/NTIFLSTSCA5° ..o, FO06
1247 EHK /N TIFSSKCT75° ... FO3 INTIRBRER oo, FO6
1247 EHK /N TIESCLCI5 .............. FO3 INTIRZTHERK FO7
5T ER/NTTESTGC0° ..., F04 AR ETITIRMERS FO8

BEET R ZXX/NTIESTFCI0° ... F04




QeI 5 % R - % 3

Indexable Precision Cartridges

REE Y PSR T

SRR
KRS | R | RS mR

. BE
‘796
5

dhs

K |75

TIRZEE

0
0
: 45
Lj h INT)

it
Kt

it

S| |T||W||C||R||20| (C| |A||-]|09

HIKS || IRRRKS | | IBRER | BERS it DTN

C R E 7 N [ 0° R AiY)
c

P AL 80° Tiiff) c| 7 L Vi)
S | 4TI % g P | 11° Qg
0 55° Tiiff E | 20°
SEATIUIATE
“ 55° Tiiff
R 7

T| E=mp ;

B




QEVE e IIPS

Indexable Precision Cartridges

L SAPS S WIS

Screw Clamping Cartridges

SSRC 75°

\ A\

A
\

\1/.__V \| ,/
N — e
h
20°
08CA 10CA 12CA

16CA

240.0141.138
240.0142.138
240.0143.138
240.0146.138
240.0147.138
240.0148.138

SSRCR10CA - 09
SSRCR12CA-12
SSRCR16CA - 12
SSRCL10CA - 09
SSRCL12CA-12
SSRCL16CA - 12

SSSC 45°

457

12 55 20

16 63 25

10 50 14

12 55 20

16 63 25
o

20
25
20
20
25

16 50
20 60
11 40
16 50
20 60

08CA 10CA 12CA

16CA

20
25
15
20
25

SCMT09T308
SCMT120408
SCMT120408
SCMT09T308
SCMT120408
SCMT120408

240.0111.138
240.0112.138
240.0113.138
240.0116.138
240.0117.138
240.0118.138

_Flloz

SSSCR10CA - 09
SSSCR12CA - 12
SSSCR16CA - 12
SSSCL10CA - 09
SSSCL12CA -12
SSSCL16CA -12

12
16
10
12
16

47
53
44
47
53

20
25
14
20
25

20
25
20
20
25

16 50
20 60
11 40
16 50
20 60

20
25
15
20
25

SCMT09T308
SCMT120408
SCMT120408
SCMT09T308
SCMT120408
SCMT120408



AIEE (AR /NTIR

Indexable Precision Cartridges

B RARA-FEE

3PS S WIWIPS

Screw Clamping Cartridges

SSKC 75°

75*,

08CA 10CA 12CA 16CA

06CA 08CA
10CA 12CA

240.0081.138 SSKCR10CA -09 SCMTO09T308
240.0082.138 SSKCR12CA-12 12 55 20 20 16 50 20 SCMT120408
240.0083.138 SSKCR16CA-12 16 63 25 25 20 60 10 25 SCMT120408
240.0087.138 SSKCL10CA -09 10 50 14 20 11 40 15 SCMTO09T308
240.0088.138 SSKCL12CA -12 12 55 20 20 16 50 20 SCMT120408
240.0089.138 SSKCL16CA - 12 16 63 25 25 20 60 10 25 SCMT120408
SCLC 95°

H H

Vo — |

= 1 P g&

|~
e~ - .
As: = n e \
-
'y

240.0149.138 SCLCRO6CA - 05 CPGT050204
240.0150.138 SCLCRO8CA - 06 8 32 10 17 8 25 4.5 10 CCMT060204 F
240.0151.138 SCLCR10CA -09 10 50 14 20 11 40 15 CCMT09T304
240.0152.138 SCLCR12CA-12 12 55 20 20 16 50 20 CCMT120404
240.0153.138 SCLCR16CA-12 16 63 25 25 20 60 10 25 CCMT120404
240.0154.138 SCLCLO6CA - 05 6 25 8 12 6 20 8.5 CPGT050204
240.0155.138 SCLCLO8CA - 06 8 32 10 17 8 25 4.5 10 CCMT060204
240.0156.138 SCLCL10CA -09 10 50 14 20 11 40 15 CCMTO09T304
240.0157.138 SCLCL12CA-12 12 55 20 20 16 50 20 CCMT120404
240.0158.138 SCLCL16CA-12 16 63 25 25) 20 60 10 25 CCMT120404

oalllf P




F

QEVE e IIPS

Indexable Precision Cartridges

BRFTREZ /N Tk

Screw Clamping Cartridges

STGC 90°

NP

08CA 10CA 12CA

X,

16CA

240.0171.138
240.0172.138
240.0131.138
240.0132.138
240.0133.138
240.0134.138
240.0135.138
240.0136.138
240.0137.138
240.0138.138

STFC 90°

STGCRO6CA - 06
STGCRO8CA - 09
STGCR10CA - 11
STGCR12CA - 16
STGCR16CA-16
STGCLO6CA - 06
STGCLO8CA -09
STGCL10CA - 11
STGCL12CA-16
STGCL16CA - 16

10
12
16

10
12
16

32
50
55
63
25
32
50
55
63

10
14
20
25
8
10
14
20
25

17
20
20
25
12
17
20
20
25

11

16
20
5.5

11
16
20

S

25
40
50
60
20
25
40
50
60

4.5
8
8

10

3.5

4.5

10
15
20
25
8.5
10
15
20
25

U3-8003-L
TCMT090204
TCMT110204
TCMT16T308
TCMT16T308

TCGT060102L
TCMT090204
TCMT110204
TCMT16T308
TCMT16T308

240.0094.138
240.0071.138
240.0072.138
240.0073.138
240.0058.138
240.0059.138
240.0060.138
240.0061.138

_Fllos

STFCRO8CA - 09
STFCR10CA - 11
STFCR12CA-16
STFCR16CA - 16
STFCLO8CA - 09
STFCL10CA - 11

STFCL12CA-16
STFCL16CA - 16

10
12

16
8

10
12
16

50
55

63
32

50
55
63

14
20

25
10

14
20
25

20
20
25
17
20
20
25

11
16

20
8

11
16
20

40
50

60
25

40
50
60

10
4.5

15
20

25
10

15
20
25

TCMT090204
TCMT110204
TCMT16T308
TCMT16T308
TCMT090204
TCMT110204
TCMT16T308
TCMT16T308



Sy [\ 7] 3k ‘ ‘
Eﬁéﬁiigcﬂ\gzﬂiges %F ;}i 7]K - 55

BEFTRZ TN Tk

Screw Clamping Cartridges

STTC 60° - .

\ K/

08CA 10CA 12CA 16CA

60° €

240.0120.138 STTCRO8CA - 09 4.5 TCMT090204
240.0121.138 STTCR10CA - 11 10 44 14 20 11 40 8 15 TCMT110204
240.0122.138 STTCR12CA-16 12 47 20 20 16 50 8 20 TCMT16T308
240.0123.138 STTCR16CA-16 16 53 25 25 20 60 10 25 TCMT16T308
240.0125.138 STTCLO8CA -09 8 32 6 17 8 25 4.5 10 TCMT090204
240.0126.138 STTCL10CA - 11 10 44 14 20 11 40 8 15 TCMT110204
240.0127.138 STTCL12CA-16 12 47 20 20 16 50 8 20 TCMT16T308
240.0128.138 STTCL16CA-16 16 53 25 25 20 60 10 25 TCMT16T308
STWC 60° : :
Drin Dimin
o [
- 60° ® T ﬂ \/ﬁiﬁ/
=\ -
i h
| 20°
08CA 10CA 12CA 16CA
240.0090.138 STWCRO08CA - 09 TCMT090204
240.0091.138 STWCR10CA - 11 10 44 14 20 11 40 8 15 TCMT110204
240.0092.138 STWCR12CA-16 12 47 20 20 16 50 8 20 TCMT16T308
240.0093.138 STWCR16CA - 16 16 53 25 25 20 60 10 25 TCMT16T308
240.0095.138 STWCLO8CA -09 8 28 10 17 8 25 4.5 10 TCMT090204
240.0096.138 STWCL10CA - 11 10 44 14 20 11 40 8 15 TCMT110204
240.0097.138 STWCL12CA-16 12 47 20 20 16 50 8 20 TCMT16T308
240.0098.138 STWCL16CA - 16 16 53 25 25 20 60 10 25 TCMT16T308

os [l F



QEVE e IIPS

Indexable Precision Cartridges

TR XN Tk

Screw Clamping Cartridges

STSC 45°

240.0100.138
240.0101.138
240.0102.138
240.0103.138
240.0104.138
240.0105.138
240.0106.138
240.0107.138

1%

STSCR0O8CA - 09
STSCR10CA - 11
STSCR12CA-16
STSCR16CA - 16
STSCLO8CA - 09
STSCL10CA - 11
STSCL12CA- 16
STSCL16CA - 16

INT) R SR

Accessories of Cartridges

10
12
16
8

10
12
16

50
55
63
32
50
55
63

14
20
25
10
14
20
25

06CA 08CA
10CA 12CA

20 11
20 15
25 20
17 8
20 11
20 15
25 20

40
50
60
25
40
50
60

16CA

8 15
8 20
10 25
4.5 10

15

20
10 25

TCMT090204
TCMT110208
TCMT16T308
TCMT16T308
TCMT090204
TCMT110208
TCMT16T308
TCMT16T308

06CA
06CA
08CA
08CA
08CA
10CA
10CA
10CA
12CA
12CA
12CA
16CA
16CA
16CA

7 llos

ZTL3-10
ZTL3-10
ZTL3-10
ZTL3-10
ZTL3-10
ZTL4-16
ZTL4-16
ZTL4-16
ZTL4-16
ZTL4-16
ZTL6-18
ZTL6-18
ZTL6-18
ZTL6-18

U3-8003-L
CPGT050204
CCMT060204
SCGT060204
TCMT090204
CCMTO09T304
SCMT09T308
TCMT110204
CCMT120404
SCMT120408
TCMT16T308
CCMT120404
SCMT120408
TCMT16T308

M2X5X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°

M4X9X60°

M4X9X60°
M2.5X6X60°
M5X11X60°
M5X11X60°

M4X9X60°
M5X11X60°
M5X11X60°

M4X9X60°

T5
T7
T7
T7
T7
T15
T15
T7
T20
T20
T15
T20
T20
T15



R EARNIES B R R -G xS

Indexable Precision Cartridges

Ky V3 '-‘-l > :I: ~
INT) 2RI
Mounting Types of Cartridges

06CA 08CA 16CA
10CA 12CA

N
ar
Wt
i

—. 2 _
Tk ?
20°
06CA 08CA L6CA
10CA 12CA
fé t 35 45 5 6 -
fr e 12 17 20 20 25




@ ERARABEAT CIE: 302 - A\VIE S
GE

NERTEC HMCT Indexable Precision Cartridges

U3-8003-L

U5-8005-L d 4

TCGT06T104

TCGT090204

_--- _—

TCMT110208

TCMT16T308 9.525

CCMT060204

CCMTO09T308 9.525

WCMX030208

WCMX050308

WCMX080412

R S
e
e N

/ e
SCMTO9T308 9.525
2

\‘\ o 7
d 4




POCHRZTIZS bR OK -5 E

PSCEH|ITE RSN

PSCHH AR =tz BT MAEKMANEMEIR, RAMRFFAIR A B E1/208E =
e, EMSRERNEMRR, R REEMLIARNTEALEEHEEERE, FFEE
fREhig, HERTEMERIMBESIENTE, NAKH, BUREFEE, —%ENRT
X, VIHIHES S S, TNERAENR. R5EH. B, EZREHAMNBHAX, ATEE
&, BAREN—NEERE, X, Y. ZAANEEBERI £2um, mHBHEEH3umM,

P T P A RE L 45 4
TR R

TNEREENR
NHER
FE 51N

ZRMERIEEREA,
VIHIHES 55

X, Y. ZFMEERE +2um



@ HARAREAT PSCHZETIZRF!

GENERTEC HMCT PSC Turning Tool Holder

RFLYIEITI R A JI4E

PSCHAFLET]

PSC#t /A 71713k

PSCHiSMEZ 7]




POCHRZTIZS bR OK -5 E

;
90° RIMEFETNIMEIZE TIDCANR/L. ... G03
75° NI ETNIMEIZE TIDCKNR/L. .o GO3
95° RIMEFETNIMEIZE TIDCLNR/L. ..o G04
50° FIMETETNIMEIZE TIDCMNN.....coiiiiiieeeeeee e e GO04
75° NI BRI ZETIDCRNR/L .o GO5
107.5° RIMEFERIMEZETIDDHNR/L ..ovvieeeee e s GO5
93° MM ETNIMEIZE TIDDINR/L oo GO06
48° RIS EFIMEIZE TIDDMNR/L. ..o e GO06
62.5° WITEFRZEKIMEZETIDDNNN......ooovvivcrieeeeeeeie s GO7
93° NI EFIMEIZE TIDDUNR/L ..o GO7
45° RIS ETNIMEIZE TIDSDNN. ... et GOS8
75° NI ERIMNEZETIDSKNR/L. ..o GOS8
75° NI ERIMNEZETIDSRNR/L. ..o G09
45° RIS ETKIMEIZE TIDSSNR/L. ..o GO09
93° MIMEFETIMEIZETIDVINR/L. ..ot G10
95° RIHET EZNIMEIZE TIDWLNR/L. ..ottt G10
93° BT T EFIMEIZETISDICR/L ..o G11
62.5° BEETRERIMEIZETISDNCN. ..., G11
45° BEETHRZEFKIPBIZETISRSCRIL. ..ot G12
107.5° BB4THEFKIMEIZETISVHBR/L. ... G12
72.5° BBETRERIMEIZETISVVBN. ..o G13
93° BRETTEFIMEIZETISVUIBRI/L .o G13
95° BEETHRETKAFLZETISCLCR L. ..o G114
107.5° BB4THREFKBFLETISDQCR/L. ... G15
BRET R E IR IMBLIZET] oo G16
BEETIE I IMELIZE T] oo e G16
LS = G L = 3 OO G17
RSIO% it |y 1 OO G18
PSCHRIIRIEITT TI T et G19

PIFLTEI TTEL B TIH .o et G20



107,5°

O, EREAREAT PSCHRZE 71251
@/ GENERTEC HMCT PSC Turning Tool Holder
PSC32 | - | D | C|L | N | R |22|040 - |09 | -
1 2 3 4 5 6 7 8 9 10
O 0 R 2| RLES VES

PSC 32 Dm=32; ﬁ
PSC 40 Dm=40; q_p
PSC 50 Dm=50; 1 - - Wi 9 % D ALFFIE S P
PSC 63 Dm=63;
PSC 80 Dm=80; @ ‘ E

B CURRAERAT 150266231 EET S % S

1107,5'

- -

Q F N
N TIREET Mo BN IAKE

TUANE A RS
(2 Fr 0 (3 hr %0
L N R
PIHI 71K

= & ©
I AT

L

saomASL

(VN ] 365 PR 2 I

HEZIRFSH, RETMASNFERISORESH, FHERBINSHEA, GIMEREHHW,




PSCHEZETIZR 5 B R R-F %%

PSC Turning Tool Holder

90° Mt ZERSMEZETIDCANR/L

G\

940.0228.092 PSC63-DCANR-45065-12 PSC63 45 103 CNMG120408
940.0229.092 PSC63-DCANL-45065-12 PSC63 45 065 L 103 CNMG120408 1.4

H25TCM6 x 25C; JIHC12BM; #RFWH40L; JEHC2RA; TIEIZFTSM6 x 10XA1; SEESPR4

940.0226.092 PSC63-DCANR-45065-16 PSC63 45 103 CNMG160612
940.0227.092 PSC63-DCANL-45065-16 PSC63 45 065 L 103 CNMG160612 1.4

12$TCM6 x 25C; TIHC16BM; IRFWH40L; JEHC3RA; TIHIZFTSM6 x 10XA2; 3#ESPR4

W1 e 2% 3K 4 Bl 4= TIDCKNR/L

940.0017.092 PSC50-DCKNR-35060-12 PSC50 CNMG120408

940.0018.092 PSC50-DCKNL-35060-12 PSC50 35 060 L 93 CNMG 120408 0.8
940.0019.092 PSC63-DCKNR-45065-12 PSC63 45 065 R 106 CNMG120408 1.5
940.0020.092 PSC63-DCKNL-45065-12 PSC63 45 065 L 106 CNMG 120408 1.5

12$TCM6 x 25C; TIHC12BM; IHFWH40L; JEIRC2RA; JTIH425TSM6 x 10XA1; 3#ESPR4




@ AR KR PSCHRZETIZRT!

NERTEC HMCT PSC Turning Tool Holder

. 3}_ @ - —
A 95°
L
581.0012.383 PSC50-DCLNR-35060-12 PSC50 CNMG120408
581.0112.383 PSC50-DCLNL-35060-12 PSC50 35 060 L 90 CNMG 120408 0:9
581.0012.384 PSC63-DCLNR-45065-12 PSC63 45 065 R 103 CNMG120408 1.4
581.0112.384 PSC63-DCLNL-45065-12 PSC63 45 065 L 103 CNMG120408 1.4

BZ24TCM6 x 25C; JIHC12BM; #FWH40L; [EWRC2RA; JIHIZETSM6 x 10XA1; HESPR4

940.0180.092 PSC63-DCLNR-45065-16 PSC63 45 103 CNMG160612
940.0181.092 PSC63-DCLNL-45065-16 PSC63 45 065 L 103 CNMG160612 1.4

H2$TCM6 x 25C; 7J#C16BM; IFWH4A0L; EHHCIRA; TIHIEETSM6 x 10XA2; HESPR4

50° NtEFZERSMNEZETIDCMNN

50°

940.0021.092 PSC63-DCMNN-00115-12 PSC63 153 CNMG120408

BZ4TCM6 x 25C; JIHC12BM; #FWH40L; [EWRC2RA; JIHIZETSM6 x 10XA1; ESPR4




PSCHEZETIZR 5 B R R-F %%

PSC Turning Tool Holder

W14 % 2% 3C4MEl %= TIDCRNR/L

940.0011.092 PSC50-DCRNR-27060-12 PSC50 CNMG 120408

940.0012.092 PSC50-DCRNL-27060-12 PSC50 27 060 L 90 CNMG120408 0.8
940.0013.092 PSC63-DCRNR-35065-12 PSC63 35 065 R 103 CNMG120408 1.4
940.0014.092 PSC63-DCRNL-35065-12 PSC63 35 065 L 103 CNMG120408 1.4

H2$TCM6 x 25C; JIHC12BM; FWH40L; [EWRC2RA; JIHIZ5TSM6 x 10XA1; 3#ESPR4

940.0224.092 PSC63-DCRNR-35065-16 PSC63 35 103 CNMG 160612
940.0225.092 PSC63-DCRNL-35065-16 PSC63 35 065 L 103 CNMG160612 1.4

#2$TCM6 x 25C; JI#C16BM; IRFWH40L; EMHC3RA; JIHIZETSM6 x 10XA2; F#ESPR4

940.0221.092 PSC63-DCRNR-35065-19 PSC63 35 103 CNMG190612
940.0222.092 PSC63-DCRNL-35065-19 PSC63 35 065 L 103 CNMG190612 1.4

T1#42575513 020-07; JI#5322 236-01; WF5680 043-14; [E1R5412 028-041

107.5° N3 % 4MEIZE= JIDDHNR/L

107,5°

__------- Q

940.0024.092 PSC50-DDHNR-35060-15 PSC50 DNMG 150608

940.0025.092 PSC50-DDHNL-35060-15 PSC50 35 060 L 90 DNMG 150608 0.8
940.0026.092 PSC63-DDHNR-45065-15 PSC63 45 065 R 103 DNMG 150608 1.3
940.0027.092 PSC63-DDHNL-45065-15 PSC63 45 065 L 103 DNMG 150608 1.3

H2$TCM6 x 25C; 71#D15BM; RFWH40L; [EHC2RA; TIFIZETSM6 x 10XA1; HESPR4

oslllf e



@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

1

N

581.0215.383 PSC50-DDJNR-35060-15 PSC50 DNMG150608

581.0315.383 PSC50-DDJNL-35060-15 PSC50 35 060 L 90 DNMG 150608 0.8
581.0215.384 PSC63-DDJNR-45065-15 PSC63 45 065 R 103 DNMG150608 1.4
581.0315.384 PSC63-DDJNL-45065-15 PSC63 45 065 L 103 DNMG 150608 1.4

B2$TCM6 x 25C; JIH#D15BM; #FWH40L; JEWRC2RA; JIH4Z5TSM6 x 10XA1; 3#ESPR4

RIS Z X 5ME 2= JIDDMNR/L

I )

5

940.0050.092 PSC63-DDMNR-00130-15 PSC63 130 168 DNMG 150608
940.0051.092 PSC63-DDMNL-00130-15 PSC63 00 130 L 168 DNMG 150608 21

B2$TCM6 x 25C; JIH#D15BM; #FWH40L; JEWRC2RA; JIH425TSM6 x 10XA1; 3#ESPR4




ESSC(%'firﬁi%?Fg?zjlder 'k:j' :}i 7]K . '!6_ i 1‘%

62.5° M43 X34 MEIZE TIDDNNN

ib 62.5°

940.0048.092 PSC63-DDNNN-00065-15 PSC6 DNMG150608

12$TCM6 x 25C; 7J#D15BM; IHFWH4A0L; EHHC2RA; TIHHEETSM6E x 10XA1; HESPR4

93° NIt ER5MEZETIDDUNR/L

- —-—
L Q -
! R
A

L
940.0040.092 PSC50-DDUNR-35060-15 PSC50 DNMG 150608
940.0041.092 PSC50-DDUNL-35060-15 PSC50 35 060 L 90 DNMG150608 0.8
940.0042.092 PSC63-DDUNR-45065-15 PSC63 45 065 R 1083 DNMG150608 1.4
940.0043.092 PSC63-DDUNL-45065-15 PSC63 45 065 L 103 DNMG 150608 1.4

12$TCM6 x 25C; 71#D15BM; 3IHFWH4A0L; EHHC2RA; TIHEETSM6 x 10XA1; HESPR4




@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

i Q -
- —- D

45°

940.0065.092 PSC50-DSDNN-00060-12 PSC50 90 SNMG120408
940.0066.092 PSC63-DSDNN-00065-12 PSC63 00 050 N 103 SNMG120408 1.1

$24TCM6 x 25C; TJIES12BM; #RFWH4A0L; EH#RC2RA; JIHIZETSM6 x 10XA1; SEESPR4

940.0223.092 PSC63-DSDNN-00065-15 PSC63 103 SNMG150612

H2$TCM6 x 25C; TJI#S15BM; iRFWH40L; EHRC3RA; TIHIZETSM6 x 10XA2; T#ESPR4

940.0215.092 PSC63-DSDNN-00070-19 PSC63 108 SNMG190612

T1 842575513 020-07; JI#5322 425-04; RF5680 043-14; EIR5412 028-041

75° NItEFZRSMEZETIDSKNR/L

Q G Q

L

940.0060.092 PSC50-DSKNR-35060-12 PSC50 SNMG120408

940.0061.092 PSC50-DSKNL-35060-12 PSC50 35 060 L 93 SNMG120408 0.8
940.0062.092 PSC63-DSKNR-45065-12 PSC63 45 065 R 106 SNMG120408 1.4
940.0063.092 PSC63-DSKNL-45065-12 PSC63 45 065 L 106 SNMG 120408 1.4

H2$TCM6 x 25C; 71#S12BM; IRFWH40L; JEIRC2RA; JIHIZETSM6 x 10XA1; #ESPR4




ESSCinrﬁi%Zg?ﬂjlder 'k:j' 13"( 7]K . '!6- i 7;%

° MR ZERSMEIZETIDSRNR/L

940.0054.092 PSC50-DSRNR-27060-12 PSC50 SNMG 120408

940.0055.092 PSC50-DSRNL-27060-12 PSC50 27 060 L 90 SNMG120408 0.8
940.0056.092 PSC63-DSRNR-35065-12 PSC63 35 065 R 103 SNMG120408 1.4
940.0057.092 PSC63-DSRNL-35065-12 PSC63 35 065 L 103 SNMG120408 1.4

12$TCM6 x 25C; T71H#:S12BM; #FWH4A0L; JEWRC2RA; TIHIZETSM6 x 10XA1; #EESPR4

940.0213.092 PSC63-DSRNR-35065-19 PSC63 103 SNMG190612
940.0214.092 PSC63-DSRNL-35065-19 PSC63 35 065 L 103 SNMG 190612 1.4

TI#U25T5513 020-07; JI#5322 425-04; #RF5680 043-14; ER5412 028-041

45° N E K SMNEZETIDSSNR/L

B-o4- -4
Q w
&
I
L
940.0069.092 PSC50-DSSNR-35052-12 PSC50 SNMG120408
940.0070.092 PSC50-DSSNL-35052-12 PSC50 85 052 L 82 SNMG120408 0.8
940.0071.092 PSC63-DSSNR-45056-12 PSC63 45 056 R 94 SNMG120408 1.4
940.0072.092 PSC63-DSSNL-45056-12 PSC63 45 056 L 94 SNMG120408 1.4

B2$TCM6 x 25C; T71H#:S12BM; #FWH4A0L; JEWRC2RA; TIHIZETSM6 x 10XA1; #EESPR4

940.0184.092 PSC63-DSSNR-45054-15 PSC63 35 103 SNMG150612
940.0185.092 PSC63-DSSNL-45054-15 PSC63 35 45 L 103 SNMG 150612 1.4

12$TCM6 x 25C; JIHS15BM; #FWH4A0L; JEWRC3RA; JTIHIEETSM6 x 10XA2; 3#ESPR4




@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

-] ga_ @ -
Q) =
A 93&
L
940.0216.092 PSC63-DVJNR-45065-16 PSC63 45 103 VNMG160408
940.0217.092 PSC63-DVJNL-45065-16 PSC63 45 065 L 103 VNMG160408 1.2

12$TCM5 x 22C; J1#V16BM; #WFWH30L; JEWRCERA; JTIHIBETSMS5 x 8.65XA1; HESPR6

Wt e Z3CHME ZE TIDWLNR/L

B-of--—-
) S\
N
A 95
L
581.0608.383 PSC50-DWLNR-35060-08 PSC50 WNMG080408
581.0708.383 PSC50-DWLNL-35060-08 PSC50 35 060 L 90 WNMG080408 0.9
581.0608.384 PSC63-DWLNR-45065-08 PSC63 45 065 R 103 WNMG080408 1.5
581.0708.384 PSCK63-DWLNL-45065-08 PSC63 45 065 L 103 WNMG080408 1.5

H2£TCM6 x 25C; JIH#WO08BM; IRFWH40L; JEIRC2RA; TIHIZETSM6 x 10XA1; HESPR4




ESSCC%'firﬁi%?Fg?zjlder 'k:j' 13"( 7]K . '!6_ i }‘%

03° 25T EARIMNEZETISDJICR/L

- EB_ -
(©)
A 93°
581.0411.383 PSC50-SDJCR-35060-11 PSC50 DCMT11T308
581.0511.383 PSC50-SDJCL-35060-11 PSC50 35 060 L 90 DCMT11T308 0.7
581.0411.384 PSC63-SDJCR-45065-11 PSC63 45 065 R 103 DCMT11T308 1.1
581.0511.384 PSC63-SDJCL-45065-11 PSC63 45 065 L 103 DCMT11T308 1.1

124TIBOM3.5 x 12; JJHD11BS; #RFWT15IP\WH35L; JIH425TSMS5 x 8.65XA

62.5° 25T EX5MEIZETISDNCN

Y T

62.5°

581.0811.383 PSC50-SDNCN-00115-11 PSC50 115 145 DCMT11T308
581.0811.384 PSC63-SDNCN-00115-11 PSC63 00 115 L 153 DCMT11T308 3.1

124TIBOM3.5 x 12; JJ#D11BS; #RFWT15IP\WH35L; JIH424TSMS5 x 8.65XA




@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

940.0196.092 PSC63-SRSCR-45065-12 PSC63 103 RCMT1204MO 1.1
940.0197.092 PSC63-SRSCL-45065-12 PSC63 45 065 L 103 RCMT1204MO 1.1
H2$TIBOM3.5 x 12; JI#R12BS; #HRFWTI15IP\WH35L; JIHHZEETSM5 x 8.65XA

940.0200.092 PSC63-SRSCR-45065-16 PSC63 103 RCMT1606MO 1.1
940.0201.092 PSC63-SRSCL-45065-16 PSC63 45 065 L 103 RCMT1606MO 1.1
H2£TI60M4 x 15X;  JI#R16BS; WFWT15IP\WH40L; TIHERETSM6 x 10XA

107.5° 1257 EKX5MEIZETISVHBR/L

m EB_ @ -
o«
O
107.5°
A
L

940.0218.092 PSC50-SVHBR-35060-16 PSC50 . VBMT160408
940.0219.092 PSC50-SVHBL-35060-16 PSC50 35 060 L 90 VBMT160408 1.0
940.0190.092 PSC63-SVHBR-45065-16 PSC63 45 065 R 103 VBMT160408 1.1
940.0191.092 PSC63-SVHBL-45065-16 PSC63 45 065 L 103 VBMT160408 1.1

H24TIBOM3.5 x 12; J1#V16BS; #HFWT15IP\WH35L; JIH#E2$TSM5 x 8.65XA




ESSC(%'firﬁi%?Fg?zjlder 'k:j' :}i 7]K . '!6_ i 1‘%

72.5° 125TREKIMEZETISVVBN

72.5°

940.0211.092 PSC50-SVVBN-00060-16 PSC50 90 VBMT160408
940.0212.092 PSC63-SVVBN-00065-16 PSC63 00 065 N 103 VBMT160408 1.1

H2$TIBOM3.5 x 12; J1#V16BS; IWFWT15IP\WH35L; T HE2ETSMS5 x 8.65XA

03° TR EXIMNEZFETISVIBR/L

8)
% U
L
940.0231.092 PSC50-SVJBR-35060-16 PSC50 VBMT160408
940.0232.092 PSC50-SVJBL-35060-16 PSC50 85 060 R 90 VBMT 160408 0.8
940.0233.092 PSC63-SVJBR-45065-16 PSC63 45 065 R 103 VBMT160408 1.3
940.0234.092 PSC63-SVJBL-45065-16 PSC63 45 065 L 103 VBMT160408 1.3

H2£TIBOM3.5x 12; JIHV16BS; MFWT15IP\WHB5L; TJIEEEETSMS x 8.65XA




@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

l
[
|
|

940.0235.092 PSC50-SCLCR-11070-09  PSC50 100 CCMT09T308

940.0236.092 PSC50-SCLCL-11070-09  PSC50 11 070 L 46 16 100 CCMTO09T308 0.6

940.0237.092 PSC50-SCLCR-13080-09 PSC50 13 080 R 56 20 110 CCMT09T308 0.7

940.0238.092 PSC50-SCLCL-13080-09 PSC50 13 080 L 56 20 110 CCMT09T308 0.7
124TI6OM3.5 x 8; RFWT15IP

582.0009.383 PSC50-SCLCR-17090-09  PSC50 17 090 R 67 25 120 CCMT09T308 0.8

582.0109.383 PSC50-SCLCL-17090-09 PSC50 17 090 L 67 25 120 CCMT09T308 0.8

#2£TI60M3.5 x 10; IRFWT15IP

940.0239.092 PSC50-SCLCR-35100-09 PSC50 35 100 130 CCMTO09T308
940.0240.092 PSC50-SCLCL-35100-09 PSC50 35 100 L 81 50 130 CCMT09T308 1.7

B24TIGOM3.5 x 12; $RFWT15IP

940.0241.092 PSC63-SCLCR-22125-12  PSC63 125 103 163 CCMT120408
940.0242.092 PSC63-SCLCL-22125-12 PSC63 22 125 L 103 32 163 CCMT120408 1.4
940.0243.092 PSC63-SCLCR-22160-12 PSC63 22 160 R 138 32 198 CCMT120408 15
940.0244.092 PSC63-SCLCL-22160-12 PSC63 22 160 L 138 32 198 CCMT120408 1.5
940.0245.092 PSC63-SCLCR-27140-12  PSC63 27 140 R 118 40 178 CCMT120408 1.9
940.0246.092 PSC63-SCLCL-27140-12 PSC63 27 140 L 118 40 178 CCMT120408 1.9
940.0247.092 PSC63-SCLCR-27180-12 PSC63 27 180 R 158 40 218 CCMT120408 2.1
940.0248.092 PSC63-SCLCL-27180-12 PSC63 27 180 L 158 40 218 CCMT120408 2.1

G

B24TIBOM4 x 11X;  JI#C12BS; IHFWT15IP\WH40L; JIHI2ETSM6 x 10XA

el



FI?SSCQFfiIEi%?Fg?zJIder 'k:j' 1)}( 7]‘ . ‘!6' :‘t i’g

107.5° 13T ZXKXWFLETISCLCR/L

N5 ¢

940.0249.092 PSC50-SDQCR-13080-11  PSC50 13 110 DCMT11T308
940.0250.092 PSC50-SDQCL-13080-11  PSC50 13 080 L 56 25 110 DCMT11T308 0.6

B24TIGOM3.5 x 8; RFWT15IP

940.0251.092 PSC50-SDQCR-17090-11  PSC50 17 120 DCMT11T308
940.0252.092 PSC50-SDQCL-17090-11  PSC50 17 090 L 67 32 120 DCMT11T308 0.7

#2£TI60M3.5x 10; RFWT15IP

940.0253.092 PSC50-SDQCR-22110-11  PSC50 22 110 140 DCMT11T308 1.7
940.0254.092 PSC50-SDQCL-22110-11 PSC50 22 110 L 88 40 140 DCMT11T308 1.7

H2$TI60M3.5 x 12X; JI#D11BS; IRFWT15IP\WH35L; JIHHZETSMS5 x 8.65M

940.0255.092 PSC63-SDQCR-22125-11  PSC63 125 103 163 DCMT11T308

940.0256.092 PSC63-SDQCL-22125-11  PSC63 22 125 L 103 32 163 DCMT11T7308 1.4
940.0257.092 PSC63-SDQCR-22160-11 PSC63 22 160 R 138 32 198 DCMT117308 1.5
940.0258.092 PSC63SDQCL-22160-11 PSC63 22 160 L 138 32 198 DCMT117308 1.5
940.0259.092 PSC63-SDQCR-27140-11 PSC63 27 140 R 118 40 178 DCMT11T308 1.9
940.0260.092 PSC63-SDQCL-27140-11  PSC63 27 140 L 118 40 178 DCMT11T308 1.9
940.0261.092 PSC63-SDQCR-27180-11 PSC63 27 180 R 158 40 218 DCMT11T308 2.1
940.0262.092 PSC63-SDQCL-27180-11  PSC63 27 180 L 158 40 218 DCMT11T308 2.1

BE4TIBOM3.5 x 12X; JIED11BS; HFEWTI5IP\WH35L; JI#E24TSMS x 8.65M




- E/\E 2]~ I
@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

940.0263.092 PSC50-SER-35060-16— | PSC50 Z16ERJIOIO

940.0264.092 PSC50-SEL-35060-16— | PSC50 35 060 L 90 Z16ELLIOIOIO 0.9
940.0265.092 PSC63-SER-45065-16— 1 PSC63 45 065 R 103 Z16ERJIOIO 1.5
940.0266.092 PSC63-SEL-45065-16— 1 PSC63 45 065 L 103 Z16ELIOIOO 1.5

H24TIBOM3.5 x 12TT; JIEMT16-J[JMN; #RFEWTI5IP; JI#H#2$TSM4 x 8C

B2ET e X 3N [ SMB S T

\ &

A

940.0267.092 PSC50-SER-35060-16—II PSC50 Z16ERIIIO

940.0268.092 PSC50-SEL-35060-16— 11 PSC50 35 060 L 90 Z16ELOIOIOIO 0.9
940.0269.092 PSC63-SER-45065-16— 11 PSC63 45 065 R 103 Z16ERLILIOIL] 1.5
940.0270.092 PSC63-SEL-45065-16— 11 PSC63 45 065 L 103 Z16ELIOIOIN] 1.5

B2£TIBOM3.5 x 12TT; JIEMT16-C1CIMN; RFWTI5IP; JIHEE4TSM4 x 8C




PSCHEZETIZR 5 B R R-F %%

PSC Turning Tool Holder

TR EXNBLZET]

|
EE
|

940.0271.092 PSC50-SIR-22090-16 PSC50 120 z16lROOOO

940.0272.092 PSC50-SIL-22090-16 PSC50 22 90 L 68 32 120 zielOOOO 1.4
940.0273.092 PSC50-SIR-27105-16 PSC50 27 105 R 84 40 135 zielROOOO 1.5
940.0274.092 PSC50-SIL-27105-16 PSC50 27 105 L 84 40 135  zi6lLOOOO 1.5
940.0275.092 PSC63-SIR-22125-16 PSC63 22 125 R 103 32 163  z16IROJOIOO 1.9
940.0276.092 PSC63-SIL-22125-16 PSC63 22 125 L 103 32 163 ziellOOOO 1.9
940.0277.092 PSC63-SIR-27140-16 PSC63 27 140 R 118 40 178 zieROOOO 2.1
940.0278.092 PSC63-SIL-27140-16 PSC63 27 140 L 118 40 178  zZielOOOO 241

B2£TI60M3.5 x 12TT; JIEMT16-JCIMN; #RFWTI15IP; JTIH42ETSM4 x 8




@ AR KR PSCHRZETIZRT!

PSC Turning Tool Holder

h2 A

— 1

I }’é-“ N o P LI /Lt'_'

(4 % )\ MHA e T

E \> [~ ’// / < UT‘J-
[ £ < U a——
& >< /
b2 b1 1
L
586.0503.383 PSC50-TS2R-35080-20 PSC50 110

586.0003.383 PSC50-TS2L-35080-20 PSC50 20 80
586.0504.383 PSC50-TS2R-40090-25 PSC50 25 90
586.0004.383 PSC50-TS2L-40090-25 PSC50 25 90
940.0279.092 PSC63-TS2R-30100-20 PSC63 20 100
940.0280.092 PSC63-TS2L-30100-20 PSC63 20 100
940.0281.092 PSC63-TS2R-38130-25 PSC63 25 130
940.0282.092 PSC63-TS2L-38130-25 PSC63 25 130

45 15 26 43 53 26 35 110 21
51 15 26 48 64 26 40 120 25
51 15 26 48 64 26 40 120 25
40 10 26 43 75 26 30 138 23
40 10 26 43 75 26 30 138 23
51 13 26 48 102 26 38 168 2.7
51 13 26 48 102 26 38 168 27

r T r 1mM O x;m -




ESSCC%'firﬁi%?Fg?zjlder 'k:j' 13"( 7]K . '!6_ i }‘%

PSCH A J1 Tk rrze

h2

h3

"

587.0003.383 PSC50-TB1-35070-20 PSC50 100

587.0004.383 PSC50-TB1-40080-25 PSC50 25 80 51 74 48 55 80 110 2.6
587.0005.383 PSC50-TB1-45090-32 PSC50 32 90 61 81 55 58 90 120 3.4
587.0003.384 PSC63-TB1-35080-20 PSC63 20 80 45 69 43 60 70 118 2.6
587.0004.384 PSC63-TB1-40090-25 PSC63 25 90 51 74 48 65 80 128 3.3

587.0005.384 PSC63-TB1-45100-32 PSC63 32 100 61 81 55 68 90 138 4.3




PSCHZETIRS|

PSC Turning Tool Holder

-

U 1H

g,
H

590.0202.383 PSC50x 8 x 70 PSC50 100

590.0203.383 PSC50 x 10 x 70 PSC50 10 70 44 45 50 100 1.0
590.0204.383 PSC50 x 12x 70 PSC50 12 70 44 45 50 100 1.0
590.0206.383 PSC50 x 16 x 75 PSC50 16 75 44 45 55| 105 1.0
590.0208.383 PSC50 x 20 x 75 PSC50 20 75 50 51 75 105 1.1
590.0209.383 PSC50 x 25 x 80 PSC50 25 80 55 51 50 100 1.2
590.0210.383 PSC50 x 32 x 90 PSC50 32 90 72 60 70 120 2.2
590.0202.384 PSC63 x8 x 75 PSC63 8 75 44 40 53 113 1.4
590.0203.384 PSC63 x 10 x 75 PSC63 10 75 44 45 53 113 1.4
590.0204.384 PSC63 x 12x 75 PSC63 12 75 44 45 53 113 1.3
590.0206.384 PSC63 x 16 x 75 PSC63 16 75 44 45 53 113 1.3
590.0208.384 PSC63 x 20 x 75 PSC63 20 75 50 51 53 113 1.4
590.0209.384 PSC63 x 25 x 75 PSC63 25 75 55 51 53 113 1.5
590.0210.384 PSC63 x 32 x 75 PSC63 32 75 72 60 52 113 21
590.0211.384 PSC63 x40 x 105 PSC63 40 105 70 90 82 143 2.4




A AR I5E T

Radial Indexable Milling Cutters

B RR -FFF

TR A5t T
45° ATEEGIESETIMXD (oo HO02
75° ATEERIESETIMXF. oo HO4
90° AIEEGIEEETIMXG ..o HO6
45° R EFETIMKD ..o HO8
75° R EFETIMKE ..o, HO9
90° HHRKEEETIMKG ... H10
45° ATEEGIESETIMSD=-SP ..o H11
75° ATEEGIEISETIMSF-SP ..o, H12
90° AIEEGIESETIMAG-AP.....oooeeiiiiiiiiiiie. H13
45° AEEGITESETIMSD (oo H14
AR GETIMOD. ..o, H15
AEEAIARGETICXD oo, H16
AL RFHATESETIDIG .o H17
FEGEINHRERRRT ool H18
AR AIMERESIEETISLD oo H19
A B REE SIS TISLD o H21
AEMIERERTIETITLD (oo, H23
90° AIEMIBIASETIZH oo H24
AR RASETIDSD (oo H25
AR AIEEGETIZAX o H26
AL SIEETICAX e H27
B 7R BEMEESETIFRZ, FRX oo, H28

Bl IR FEEEESETIFRD e, H30

o SF A



@

HARAM
E

GENERT

C

LU
HMC

S

A 55 T

Radial Indexable Milling Cutters

RIEERLHEIEET] (45° )

Indexable Face Mills

1 =2
515

840.0211.1561
841.0211.151
840.0212.151
841.0212.151
840.0213.151
841.0213.151
840.0214.151
841.0214.151
840.0215.151
841.0215.151
840.0216.151
841.0216.151
840.0217.151
841.0217.151

840.0201.151
841.0201.151
840.0202.151
841.0202.151
840.0203.151
841.0203.151
840.0204.151
841.0204.151
840.0205.151
841.0205.151
840.0206.151
841.0206.151
840.0207.151
841.0207.151

s

MXD1080R
MXD1080L
MXD1100R
MXD1100L
MXD1125R
MXD1125L
MXD1160R
MXD1160L
MXD1200R
MXD1200L
MXD1250R
MXD1250L
MXD1315R
MXD1315L

MXD2080R
MXD2080L
MXD2100R
MXD2100L
MXD2125R
MXD2125L
MXD2160R
MXD2160L
MXD2200R
MXD2200L
MXD2250R
MXD2250L
MXD2315R
MXD2315L

80
80
100
100
125
125
160
160
200
200
250
250
315
315

80
80
100
100
125
125
160
160
200
200
250
250
1B
315

50
50
50
50
63
63
63
63
63
63
63
63
80
80

50
50
50
50
63
63
63
63
63
63
63
63
80
80

27
27
32
32
40
40
40
40
60
60
60
60
60
60

ZREK HEEH

O O O O O O W W W W W W o @

O O O O O 0O T W T W W W W W

+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°

+6°

+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°
+6°

+6°

45°

ZEnA

-3°
=3
-3°
=3
-3°
=3
-3°
-3°
-3°
=3P
-3°
=3
-3°
=3

=3
-3°
=3
-3°
=3P
-3°
=3
-3°
-3°
-3°
=3
-3°
=3
-3°

BERATIR

SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD
SPKN1203AD

SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD
SPKN1504AD



A AR I5E T

Radial Indexable Milling Cutters

B RR -FFF

e B2 A B &B 14

7]

RS
RIS

MXD1080R DJ45—1
MXD1100R DJ45—1
MXD1125R DJ45—1
MXD1160R DJ45—1
MXD1200R DJ45—1
MXD1250R DJ45—1
MXD1315R DJ45—1
MXD2080R DJ45—4
MXD2080L  DJ45—4L
MXD2100R DJ45—4
MXD2100L  DJ45—4L
MXD2125R DJ45—4
MXD2125L  DJ45—4L
MXD2160R DJ45—4
MXD2160L  DJ45—4L
MXD2200R DJ45—4
MXD2200L DJ45—4L
MXD2250R DJ45—4
MXD2250L  DJ45—4L
MXD2315R DJ45—4
MXD2315L  DJ45—4L

;E

"s
40151-212/4
40151-212/4
40151-212/4
40151-212/4
40151-212/4
40151-212/4
40151-212/4
40151-201/4

40151-202L/1
40151-201/4

40151-202L/1
40151-201/4
40151-202L/1
40151-201/4
40151-202L/1
40151-201/4
40151-202L/1
40151-201/4
40151-202L/1
40151-201/4

40151-202L/1

#
AIS
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4
XK45—4

XK45—4

B

-

=
Lzas)

40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1
40151-201/1

40151-201/1

WKgrE 42 5T 4R F

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

M5X20

71k R~f

3475




P IHAIXARRERH EIERT TR T
@/ GENERTEC HMCT Radial Indexable Milling Cutters
RT3 I EBET] (75° i A) "
Indexable Face Mills . 75 -

B s = T D &% ZEETA BRI R
840.0241.157 MXF1080R 80 50 27 4 A +5° +3° SPKN1203EDR
841.0241.157 MXF1080L 80 50 27 4 A +5° oo SPKN1203EDL
840.0242.157  MXF1100R 100 50 32 5 A +5° +3° SPKN1203EDR
841.0242.157 MXF1100L 100 50 32 5 A +5° e SPKN1203EDL
840.0243.157 MXF1125R 125 63 40 6 B +5° +3° SPKN1203EDR
841.0243.157 MXF1125L 125 63 40 6 B +5° +3° SPKN1203EDL
840.0244.157  MXF1160R 160 63 40 8 B +5° +3° SPKN1203EDR
841.0244.157 MXF1160L 160 63 40 8 B +5° e SPKN1203EDL
840.0245.157  MXF1200R 200 63 60 10 c +5° +3° SPKN1203EDR
841.0245.157 MXF1200L 200 63 60 10 C +5° e SPKN1203EDL
840.0246.157 MXF1250R 250 63 60 12 C +5° +3° SPKN1203EDR
841.0246.157 MXF1250L 250 63 60 12 c +5° +3° SPKN1203EDL
840.0247.157 MXF1315R 315 80 60 14 C +5° +3° SPKN1203EDR
841.0247.157 MXF1315L 315 80 60 14 c +5° pEE SPKN1203EDL
840.0248.157  MXF1400R 400 80 60 18 c +5° +3° SPKN1203EDR
841.0248.157  MXF1400L 400 80 60 18 C +5° e SPKN1203EDL
840.0249.157 MXF1500R 500 80 60 26 c +5° +3° SPKN1203EDR
841.0249.157 MXF1500L 500 80 60 26 c +5° +3° SPKN1203EDL
840.0241.151  MXF2080R 80 50 27 4 A +5° e SPKN1504EDR
841.0241.151  MXF2080L 80 50 27 4 A +5° +3° SPKN1504EDL
840.0242.151  MXF2100R 100 50 32 5 A +5° +3° SPKN1504EDR
841.0242.151  MXF2100L 100 50 32 5 A +5° +3° SPKN1504EDL
840.0243.151 MXF2125R 125 63 40 6 B +5° e SPKN1504EDR
841.0243.151  MXF2125L 125 63 40 6 B +5° +3° SPKN1504EDL
840.0244.151 MXF2160R 160 63 40 8 B +5° e SPKN1504EDR
841.0244.151  MXF2160L 160 63 40 8 B +5° +3° SPKN1504EDL
840.0245.151  MXF2200R 200 63 60 10 c +5° +3° SPKN1504EDR
841.0245.151  MXF2200L 200 63 60 10 C +5° +3° SPKN1504EDL
840.0246.151  MXF2250R 250 63 60 12 C +5° e SPKN1504EDR
841.0246.151  MXF2250L 250 63 60 12 c +5° +3° SPKN1504EDL
840.0247.151  MXF2315R 315 80 60 14 C +5° e SPKN1504EDR
841.0247.151  MXF2315L 315 80 60 14 C +5° +3° SPKN1504EDL
840.0248.151  MXF2400R 400 80 60 18 c +5° +3° SPKN1504EDR
841.0248.151  MXF2400L 400 80 60 18 C +5° +3° SPKN1504EDL
840.0249.151  MXF2500R 500 80 60 26 c +5° N SPKN1504EDR
841.0249.151  MXF2500L 500 80 60 26 c +5° +3° SPKN1504EDL



TR AL T] B R AR-F LS

Radial Indexable Milling Cutters

v BE B9 &R

I :
TRELS * L Mkuprx 82 TR FOTND AR

S ) S )
MXF1080R  DJ75X—1 40157-241/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF1080L DJ75L1  40157-241L/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF1100R ~ DJ75X—1 40157-241/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF1100L DJ75L1  40157-241L/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF1125R DJ75XP  40157-243-4P  XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1125L DJ75XLP  40157-247L-3P  XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1160R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1160L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1200R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1200L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1250R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16  M8X18 S—4
MXF1250L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1315R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1315L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1400R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1400L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF1500R DJ75X  40157-243/4 XK75 40151-243/2  SZF8-16 M8X18 S—4
MXF1500L DJ75XL  40157-247L/3 XK75L  40151-243L/2 SZF8-16 M8X18 S—4
MXF2080R DJ75—1  40151-241/4 XK75X—1 40157-241/1  SZF8-16 M5X20 S—4
MXF2080L  DJ75—1L 40151-241L/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF2100R DJ75—1  40151-241/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF2100L  DJ75—1L 40151-241L/4 XK75X—1 40157-241/1 SZF8-16 M5X20 S—4
MXF2125R DJ75P  40151-243-4P XK75 40151-243/2  SZF8-16  M8X18
MXF2125L DJ75LP  40151-243L-4P  XK75L  40151-243L/2 SZF8-16 M8X18
MXF2160R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2160L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16  M8X18
MXF2200R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2200L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16  M8X18
MXF2250R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2250L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16 M8X18
MXF2315R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2315L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16 M8X18
MXF2400R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2400L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16  M8X18
MXF2500R DJ75 40151-243/4 XK75 40151-243/2  SZF8-16  M8X18
MXF2500L DJ75L  40151-243L/4 XK75L  40151-243L/2 SZF8-16  M8X18

3.175




€ BRBARELD o R F i 55 )

Radial Indexable Milling Cutters

= SF A

RIEE(THESET] (90° Fimf)

Indexable Face Mills

a

v

%S BS AR o REBKX HMEEA ZEEfA BATR
D H D1 g

840.0301.157 MXG1080R 80 50 27 4 A +5° +3° SPKN120308
840.0302.157 MXG1100R 100 50 32 5 A +5° +3° SPKN120308
840.0303.157 MXG1125R 125 63 40 6 B +5° +3° SPKN120308
840.0304.157 MXG1160R 160 63 40 8 B +5° +3° SPKN120308
840.0305.157 MXGI200R 200 63 60 10 C +5° +3° SPKN120308
840.0306.157 MXGI250R 250 63 60 12 c +5° +3° SPKN120308
840.0301.151  MXG2080R 80 50 27 4 A +5° +3° SPKN150408
840.0302.151 MXG2100R 100 50 32 5 A +5° +3° SPKN150408
840.0303.151 MXG2125R 125 63 40 6 B +5° +3° SPKN150408
840.0304.151 MXG2160R 160 63 40 8 B +5° +3° SPKN150408
840.0305.151 MXG2200R 200 63 60 10 C +5° +3° SPKN150408
840.0306.151 MXG2250R 250 63 60 12 c +5° +3° SPKN150408



A AR I5E T

Radial Indexable Milling Cutters

¥ A%

<7,

¥ B A B B

7]

TFES
BS

MXG1080R DJ90X—3
MXG1100R DJ90X—3
MXG1125R DJ90X—4
MXG1160R DJ90X—4
MXG1200R DJ90X—4
MXG1250R DJ90X—4
MXG2080R DJ90-3
MXG2100R DJ90-3
MXG2125R DJ90—4
MXG2160R DJ90—4
MXG2200R DJ90—4
MXG2250R DJ90—4

b
)
40157-301/1
40157-301/1
40157-303/4
40157-303/4
40157-303/4
40157-303/4
40151-301/4
40151-301/4
40151-303/4
40151-303/4

40151-303/4

40151-303/4

ne
XK90
XK90
XK90
XK90
XK90
XK90
XK90
XK90
XK90
XK90
XK90

XK90

(- J°S

£

e =
Y

40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1
40151-301/1

40151-301/1

WKEgHE 42 3T R F

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

SZF8-16

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

M6X20

S—5

+
15.875

71 h R~
zlz
%
RO8 3.8 o
M~
+ o —
S IRTE
‘ {
RO8 476

-
=
S
/



>, BFRARBREAT PRI F (3t T
@/ GENERTEC HMCT Radial Indexable Milling Cutters

BIRAESET] a5 =msm)

Modular Face Mills

j—
o
e me RS gwems mawns genks RADA
D H D1 &
840.0009.152 MKDO8SOR 80 63 27 5 A +5° 0° SPKT1204AZN
841.0009.152 MKDOS8OL 80 63 27 5 A +5° 0° SPKT1204AZN
840.0001.152 MKD100R 100 63 32 6 B +5° 0° SPKT1204AZN
841.0001.152 MKD100L 100 63 32 6 B +5° 0° SPKT1204AZN
840.0002.152 MKD125R 125 63 40 8 B +5° 0° SPKT1204AZN
841.0002.152 MKD125L 125 63 40 8 B +5° 0° SPKT1204AZN
840.0003.152 MKD160R 160 63 40 10 B +5° 0° SPKT1204AZN
841.0003.152 MKD160L 160 63 40 10 B +5° 0° SPKT1204AZN
840.0004.152 MKD200R 200 63 60 12 C +5° -2° SPKT1204AZN
841.0004.152 MKD200L 200 63 60 12 C +5° -2° SPKT1204AZN
840.0005.152 MKD250R 250 63 60 14 C +5° -2° SPKT1204AZN
841.0005.152 MKD250L 250 63 60 14 (© +5° -2° SPKT1204AZN
840.0006.152 MKD315R 315 80 60 16 C +5° -2° SPKT1204AZN
841.0006.152 MKD315L 315 80 60 16 C +5° -2° SPKT1204AZN

F TNk, FEMREGUNBESNOIRET AFET%, RER—E L,
671 A 215 5 ODHX0605ZZN-A57, 571 %E S HKO15.88J,
KT HBE P EIRIT

v B A Y B 14
TFRES Tk EEERET 8] §T w F OTIREST W F HINRRF
MKDO80 KD12.7 M5X12X90° T M6X20 S—5 M5X10X60° T20
MKD100 KD12.7  M5X12X90°T M6X20 S—5 M5X10X60° T20
MKD125 KD12.7 M5X12X90°T M6X20 S—5 M5X10X60° T20 g
MKD160 KD12.7 ~ M5X12X90°T M6X20 S—5 M5X10X60° T20
MKD200 KD12.7 M5X12X90°T M6X20 S—5 M5X10X60° T20
MKD250 KD12.7  M5X12X90°T M6X20 S—5 M5X10X60° T20

MKD315 KD12.7 M5X12X90°T M6X20 S—5 M5X10X60° T20



A AR I5E T

Radial Indexable Milling Cutters

¥ A%

<7,

BWRXEEET] (75° FmMm)

Modular Face Mills

1=
51

840.0010.152
841.0010.152
840.0011.152
841.0011.152
840.0012.152
841.0012.152
840.0013.152
841.0013.152
840.0014.152
841.0014.152
840.0015.152
841.0015.152
840.0016.152
841.0016.152

E OKHTHEHETIR, FEABEARNEERINMIRBIRFETIR, KER—TIE LR,

BE

MKFO80R
MKFO80L
MKF100R
MKF100L
MKF125R
MKF125L
MKF160R
MKF160L
MKF200R
MKF200L
MKF250R
MKF250L
MKF315R
MKF315L

D
80
80
100
100
125
125
160
160
200
200
250
250
315
315

80

IR EIE HP2905-1, #BIIEEEHKF12.7d,

KINREEFBMITE,
¥ B A B R 1
NFRES TR
MKF080 KF12.7
MKF100 KF12.7
MKF125 KF12.7
MKF160 KF12.7
MKF200 KF12.7
MKF250 KF12.7
MKF315 KF12.7

EEARET
M5X12X90°T
M5X12X90° T
M5X12X90°T
M5X12X90°T
M5X12X90°T
M5X12X90°T
M5X12X90°T

12 57
M6X20
M6X20
M6X20
M6X20
M6X20
M6X20
M6X20

10
10
12
12
14
14
16
16

ZRAK HWEEA REEH

mF
S—5
Sb
S—5
S—5
S—5
S—5
S—5

OO0 0 000 I I I I T T >» >

+5°
+5°
+5°
+58
+5°
+5°
+5°
+5°
+5°
+58
+5°
+5°
+5°

+5°

TIRE2%5T
M5X10X60°
M5X10X60°
M5X10X60°
M5X10X60°
M5X10X60°
M5X10X60°
M5X10X60°

0°
0°
0°
0°
0°
0°
0°
0°
—2°
—2°
-2°
—2°
—2°
-2°

wF

T20
T20
T20
T20
T20
T20
T20

BRI A

SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51
SPMT120408-D51

HBIRRF

478
IIKE

]



FIERIEEAISET]

Radial Indexable Milling Cutters

BIRXEHETT 000 )

Modular Face Mills

) s D
840.0060.152 MKGO080 80
840.0061.152 MKG100 100
840.0062.152 MKG125 125
840.0063.152 MKG160 160
840.0064.152 MKG200 200
840.0065.152 MKG250 250
840.0066.152 MKG315 315

iE: XTREERBMITS,

¥ B A Y B 14
VALY S:Cos S VAP kL 39
MKGO80 KG16 M5X12X90°T
MKG100 KG16 M5X12X90° T
MKG125 KG16 M5X12X90°T
MKG160 KG16 M5X12X90° T
MKG200 KG16 M5X12X90°T
MKG250 KG16 M5X12X90° T
MKG315 KG16 M5X12X90° T

I A

63
63
63
63
63
63
80

D1
27
32
40
40
60
60
60

237
M6X20
M6X20
M6X20
M6X20
M6X20
M6X20
M6X20

g
5

10
12
14
16

m F
S—5
S—5
S—5
$—5
$—5
$—5
S—5

O 0O 0 T ® @

TIR425T
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°
M4X9X60°

+12°
+12°
+12°
+12°
+12°
+12°
+12°

T15
T15
T15
T15
T15
T15
T15

ZERMX HWEEA REEA

0°
0°
0°
0°
—2°
-2°
-2°

BRI A

ADMT160608R-D56
ADMT160608R-D56
ADMT160608R-D56
ADMT160608R-D56
ADMT160608R-D56
ADMT160608R-D56
ADMT160608R-D56

HIFRF




A AR I5E T

Radial Indexable Milling Cutters

¥

BRAR-FH4+ &

AL EHET]

Indexable Face Mills

@45° E£wmA)

R = -
% = T L. REER BAVE  EAIK
D H DI &
840.0302.156 MSD050. d22.50. SP12. 74 50 50 22 4 A 7 SPKT1204AZN
840.0303.156 MSD063.d22.50. SP12. Z5 63 50 22 5 A 7 SPKT1204AZN
840.0304.156 MSD080. d27.50. SP12. Z6 80 50 27 6 A 7 SPKT1204AZN
840.0305.156 MSD100. d32.50.SP12. 77 100 50 32 7 B 7 SPKT1204AZN
840.0306.156 MSD125.d40.63. SP12.78 125 63 40 8 B 7 SPKT1204AZN
840.0307.156 MSD160. d40.63.SP12.210 160 63 40 10 B 7 SPKT1204AZN
840.0308.156 MSD200.d60.63.5P12.12 200 63 60 12 c 7 SPKT1204AZN
840.0309.156 MSD250.d60.63.5P12.Z14 250 63 60 14 c 7 SPKT1204AZN
840.0310.156 MSD315.d60.80.SP12.Z16 315 80 60 16 c 7 SPKT1204AZN
IR ERA ST,
Yo Bt FARYERE
TIRES 247 i F 71 h R =
MSD050. d22.50. SP12. 74 M5X10X60° T20
MSDO063. d22.50. SP12. Z5 M5X10X60° T20
MSD080. d27.50.SP12. Z6 M5X10X60° T20 A
Y 476
MSD100. d32.50.SP12. 77 M5X10X60° T20 ¢ g
MSD125. d40.63.5P12. 78 M5X10X60° T20 ¥ Y
MSD160. d40.63.SP12.Z10 M5X10X60° T20 | “;’_ﬁ__
[
MSD200. d60.63. SP12. 712 M5X10X60° 120 2.7 |
MSD250. d60.63. SP12. 714 M5X10X60° T20
MSD315.d60.80.SP12.Z16 M5X10X60° T20



@, AR ABEAT LRI T

Radial Indexable Milling Cutters

= SF A

AIAEAMEET] a5 s

Indexable Face Mills

R ~F . -
" = # 5 o REAK mKRUIR i3z 02)a
D H DI 5%
840.0322.156  MSF050.d22.50.SP12.Z4 50 50 22 4 A 10 SPMT120408-D51
840.0323.156 MSF063.d22.50.SP12.Z5 63 50 22 5 A 10 SPMT120408-D51
840.0324.156  MSF080.d27.50.SP12.Z26 80 50 27 6 A 10 SPMT120408-D51
840.0325.156  MSF100.d32.50.SP12.Z7 100 50 32 7 B 10 SPMT120408-D51
840.0326.156  MSF125.d40.63.SP12.Z8 125 63 40 8 B 10 SPMT120408-D51
840.0327.156  MSF160.d40.63.SP12.Z10 160 63 40 10 B 10 SPMT120408-D51
840.0328.156 MSF200.d60.63.SP12.Z12 200 63 60 12 C 10 SPMT120408-D51
840.0329.156 MSF250.d60.63.SP12.Z14 250 63 60 14 © 10 SPMT120408-D51
840.0330.156 MSF315.d60.80.SP12.Z16 315 80 60 16 c 10 SPMT120408-D51
X TR EEPBMITE,
v it FROER &
TRES 1247 " F 71k R
MSF050. d22.50.SP12. 74 M5X10X60° 720
MSF063. d22.50. SP12. Z5 M5X10X60° 720
MSF080.d27.50.SP12.Z6 M5X10X60° 720 RO.8 4.76
Bl |
MSF100. d32.50.SP12.27 M5X10X60° 720
MSF125.d40.63.SP12.Z8 M5X10X60° 720 G} J
MSF160. d40.63.SP12.Z10 M5X10X60° 720 g J 115
\
MSF200. d60.63.SP12.Z12 M5X10X60° 720 12.7
MSF250. d60. 63.SP12. 214 M5X10X60° 720

MSF315.d60.80.SP12.716 M5X10X60° T20



oA EE 5t ]

Radial Indexable Milling Cutters

B RR -FFF

AIAEAIMEEET] 0o Emm)

Indexable Face Mills

R = . -
" = @ 5 L BEARK mRYIR [i::02)a
D H D1 5%%
840.0342.156  MAG050.d22.50.AD16.Z4 50 50 22 4 A 15 ADMT160608R-D56
840.0343.156 MAG063.d22.50.AD16.Z5 63 50 22 5 A 15 ADMT160608R-D56
840.0344.156  MAG080.d27.50.AD16.26 80 50 27 6 A 15 ADMT160608R-D56
840.0345.156  MAG100.d32.50.AD16.Z7 100 50 32 7 B 15 ADMT160608R-D56
840.0346.156  MAG125.d40.63.AD16.28 125 63 40 8 B 15 ADMT160608R-D56
840.0347.156 MAG160.d40.63.AD16.Z10 160 63 40 10 B 15 ADMT160608R-D56
840.0348.156 MAG200.d60.63.AD16.212 200 63 60 12 C 15 ADMT160608R-D56
840.0349.156 MAG250.d60.63.AD16.Z14 250 63 60 14 © 15 ADMT160608R-D56
840.0340.156 MAG315.d60.80.AD16.216 315 80 60 16 C 15 ADMT160608R-D56
i % TR ERPSMmITE,
v Bt FARIER G
THRELS 12 £7 " F 71k R~

MAGO50. d22.50. AD16. Z4 M4X9X60° T15

MAGO63. d22.50. AD16. Z5 M4X9X60° T15

MAGO80. d27.50. AD16. Z6 M4X9X60° T15 P

MAG100. d32.50. AD16. 27 M4X9X60° T15 ) —/m

MAG125. d40.63. AD16.Z8 M4X9X60° T15 ' 15\4

(=]
MAG160.d40.63. AD16.Z10 M4X9X60° T15 = @H‘ N
=i |

MAG200. d60.63. AD16. Z12 M4X9X60° T15 f 1.5 6.15

MAG250.d60.63.AD16.Z14 M4X9X60° T15

MAG315. d60.80. AD16. 216 M4X9X60° T15



LRI SR AL HE T

Radial Indexable Miling Cutters

@ﬁms RIBER

NS
GENERTEC HMC

¥

AIEEAIESET] 450 )

Indexable Face Mills

840.0022.151 MSDO080 A +10° -5° SEET12T3-DM
840.0023.151 MSD100 100 50 32 7 A +10° -5° SEET12T3-DM
840.0024.151 MSD125 125 63 40 8 B +10° -5° SEET12T3-DM
840.0025.151 MSD160 160 63 40 10 B +10° -5° SEET12T3-DM
840.0026.151 MSD200 200 63 60 12 C +10° -5° SEET12T3-DM
840.0027.151 MSD250 250 63 60 14 C +10° -5° SEET12T3-DM
840.0028.151 MSD315 315 80 60 18 C +10° -5° SEET12T3-DM
i RTTREREFRBAMITE,
Yo Bt FA B9 3B 14
MSDO080 M4X11X60° T15
MSD100 M4X11X60° T15
MSD125 M4X11X60° T15
MSD160 M4X11X60° T15
MSD200 M4X11X60° T15
MSD250 M4X11X60° T15
MSD315 M4X11X60° T15

N | 1/123



LA AL T B A-FEG

Radial Indexable Milling Cutters

A] 5% i 2 15 5t 7]

Indexable Face Mills

840.0100.156  MOD50R 50 40 22 5 A 5 ODETO0404APEN-44
840.0101.156  MOD63R 63 40 22 6 A 5 ODET0404APEN-44
840.0102.156  MOD8OR 80 50 27 7 A 5 ODETO0404APEN-44
840.0103.156 MOD100R 100 50 32 8 B 5 ODETO0404APEN-44
840.0104.156  MOD125R 125 63 40 9 B 5 ODET0404APEN-44
840.0105.156 MOD160R 160 63 40 11 B 5 ODETO0404APEN-44
i XTDREEFBMITE,

v B F B9 ER 15
MOD63R M4X11X60° T15 LY
MODB8OR M4X11X60° T15 ]
MOD100R M4X11X60° T15 ¢
MOD125R M4X11X60° T15 }
MOD160R M4X11X60° T15 22

BRX BT EFVTHISH

W, 55 % 150-220 0.2-0.4
BEE 250-600 0.15-0.3
BEA%E 25-45 0.1-0.2

W 120-170 0.15-0.3




LRI SR AL HE T

Radial Indexable Miling Cutters

¥

\
GENERTEC HMC

wawmﬁ

A] 3% {if 1 $% 7]

Indexable Plunge Mills

H
O
‘ — — o o
O

840.0230.158 CXDO050 -1° MPMT120516
840.0231.158 CXD063 63 50 22 4 A 10 +6° -1° MPMT120516
840.0232.158 CXD080 80 63 27 5 A 10 +6° -1° MPMT120516

E XTRERPEMITS,

v Fit FA B S0 14
CXD050 M5X12X60° T20 - <
CXD063 M5X12X60° T20
CXD080 M5X12X60° T20

v EFETH SH

BEN &N 150 0.12-0.2
oA 100 0.08-0.12
RN 150 0.15-0.25

il



A AR I5E T

Radial Indexable Milling Cutters

B RR -FFF

Al (L Kt 4R T 5% T)

Indexable Extreme Face Mills

o
wo = R ) RE RAX HE ZFE@
5S 2= : e I = BERE
D H d H#% ®BX YR wWHE WE
840.0211.156  DJGO50 50 50 22 3 A 25  47° 0°  XDLW120508SR-D
840.0210.156  DJGO63 63 50 22 4 A 25  47° 0°  XDLW120508SR-D
840.0212.156 DJGO080 80 63 27 5 A 25 +7° 0° XDLW120508SR-D
840.0213.156  DJG100 100 63 32 6 A 25  47° 0°  XDLW120508SR-D

E XMIBHR. WEERTIRESAXDLWI20508SR-D, MIia&MERTIRFESAXDLT120508ER-D721,

XTVREERBEMITE,
7K Rt
TIEEIS TRES A B H B2 £T R F
A
'7' 15~{ XDLW120508SR-D 12.7 12.7 5.56 M4X11X60° T15
XDLT090408ER-D721 9.52 9.52 4.76 M3.5X9X60° T10
H
Y HEFVIHI S
VIHIFE 1§13 m/min HiHLE (mm/z
Tt IEEE ( ) FiRHAE ( )
% % 80-150 0.3-2
e 300-800 0.2-1.2

{RRREN 120-220 0.3-2



€ BRBARELD TR AR5 7]

Radial Indexable Milling Cutters

FEEINREEKX, R

Mounting Types and Dimensions of Face Mills

d A d B
b, b,
[ EA—— i m—]
T ;I :) | ? - | 5 'I
é:é I | i
%T: de a
7] | ds_| D
D
e {B<a15) L (D>315}
b iz . de b, 68
i ] s RS 1 -
| Bpi *H'HHHH
I [ :
=== i
q ds ds d a4
D &177.8
1]
e D d de ds da b t l1 I2
A 50 22 11 18 - 10.4 6.3 20 33
A 63 22 11 18 - 10.4 6.3 20 33
A 80 27 135 20 - 12.4 7 22 37
B 100 32 45 = - 14.4 8 25 32
B 125 40 56 - - 16.4 9 28 35
B 160 40 56 = = 16.4 9 28 35
C 200 60 18 26 101.6 25.7 14 32 -
© 250 60 18 26 101.6 25.7 14 32 =
C 315 60 18 26 101.6+177.8 257 14 32 -
© 400 60 18 26 101.6+177.8 257 14 32 =
C 500 60 18 26 101.6+177.8 257 14 32 -
AT AL EEE T EF VI EHI S8
PN HE VIHEE ( m/min) BiEH#HEE (mm/z)
T4t THEE 5t THEE Bt
18 N 80-150 100-180 0.2-0.4 0.1-0.2
& 50-105 80-140 0.2-0.35 0.1-0.2
% W 70-130 100-150 0.2-0.4 0.1-0.15
% % 50-90 60-120 0.2-0.35 0.1-0.2

O A

= 360-600 0.1-0.2



A AR I5E T

Radial Indexable Milling Cutters

B RR -FFF

R %% {i B2 e 37 5% T)

Indexable Helical End Mills

11

ol|o
12
1
L
R ~ YR Z . . .
e me ki misk  EAF gmmes mEER
D H 2 L AL =
840.0001.158 SLD50-56JT50 50 56 130 231 2 10 2
GB 10944
840.0002.158 SLD50-66JT50 50 66 158 260 2 12 2
ISO 7388
840.0003.158 SLD63-66JT50 63 66 134 236 2 12 2 ( )
DIN 69871
840.0004.158 SLD63-86JT50 63 86 168 270 2 16 2
840.0005.158 SLD80-96JT50 80 96 162 264 2 18 2
840.0006.158 SLD80-106JT50 80 106 178 280 2 20 2
R Ry 3 tA tA o 5
) B Rl Wik EAR gy mmws
D 2 L R Nk
840.0041.158 SLD50-56ST50 50 56 129 255 2 10 2
840.0042.158 SLD50-66ST50 50 66 158 283 2 12 2 GB 3837
840.0043.158 SLD63-66ST50 63 66 134 260 2 12 2
840.0044.158 SLD63-86ST50 63 86 168 294 2 16 2
840.0045.158 SLD80-96ST50 80 96 162 289 2 18 2
840.0046.158 SLD80-106ST50 80 106 178 305 2 20 2
R ~ R Z . . .
) B Rl Wik EAR  gymem  mmms
D h 2 L L K
840.0021.158 SLD50-56BT50 50 56 130 231 2 10 2
840.0022.158 SLD50-66BT50 50 66 158 260 2 12 2
JIS B 6339
840.0023.158 SLD63-66BT50 63 66 134 236 2 12 2
840.0024.158 SLD63-86BT50 63 86 168 270 2 16 2
840.0025.158 SLD80-96BT50 80 96 162 264 2 18 2
840.0026.158 SLD80-106BT50 80 106 178 280 2 20 2
R Y > A EA A .
) B Rl Wik EAR gy mmmst
D h 12 L Nk Nk
840.0051.158 SLD50-56WST50 50 56 129 231 2 10 2
840.0052.158 SLD50-66WST50 50 66 158 260 2 12 2 JB 3381
840.0053.158 SLD63-66WST50 63 66 134 236 2 12 2
840.0054.158 SLD63-86WST50 63 86 168 270 2 16 2
840.0055.158 SLD80-96WST50 80 96 162 264 2 18 2
840.0056.158 SLD80-106WST50 80 106 178 280 2 20 2

iE: XTREERBMITS,



@ﬁmﬁm AR FRAEEAISET]

GENERTEC HMCT Radial Indexable Miling Cutters

v Bt B /Y &8 44
SLD50 SM50-11 IM-SP43GS IM=CP43N
SLD63 SM50-11 T20 IM-SP43GS IM-CP43N
SLD80 SM50-16 T20 IM-SP43GS IM=CP43N
v TR R-F

IM - SP32GS(i# 1)

IM - SP43GS(i# 1) 12.7 12.7 4.76 11°
IM - CP32N((i# 1) 15 9.52 3.18 14°
IM - CP43N(# 1) 15.875 12.7 4.76 11°

i ll20



LA AL T B A-FEG

Radial Indexable Milling Cutters

R %% {3 B2 1€ B 4 3L $% 7

Indexable Helical Straight Shank End Mills

LEEW
840.0101.158 SLD30-60ZT 30 32 42 70 60 130 1 1 L@
840.0102.158 SLD30-70ZT 30 40 42 70 70 140 1 1 i@
840.0103.158 SLD40-60ZT 40 32 50 90 60 150 2 12 2 i@
840.0104.158 SLD40-70ZT 40 40 50 90 70 160 2 12 2 L iE
840.0105.158 SLD50-60ZT 50 32 66 120 60 180 2 12 2 i@
840.0106.158 SLD50-70ZT 50 40 66 120 70 190 2 12 2 i@

iE: XTREERBMITS,

v BE B AR

SLD30 SM40-9 T15 IM-SP32GS IM-CP32N
SLD40 SM40-9 T15 IM-SP32GS IM-CP32N
SLD50 SM50-11 T20 IM-SP43GS IM-CP43N




>, BRRAREAT TR ISR T]
@/ GENERTEC HMCT Radial Indexable Miling Cutters

AJ &% (i B2 JiE B W 3L 5% T)

Indexable Helical Straight Shank End Mills

'\

HIFEW

840.0121.158 SLD30-60XT 130 1 1 Bl
840.0122.158 SLD30-70XT 30 40 42 70 70 140 1 1 Bl
840.0123.158 SLD40-60XT 40 32 50 90 60 150 2 12 2 Bl
840.0124.158 SLD40-70XT 40 40 50 90 70 160 2 12 2 Bl
840.0125.158 SLD50-60XT 50 32 66 120 60 180 2 12 2 Hl
840.0126.158 SLD50-70XT 50 40 66 120 70 190 2 12 2 Bl

E XTVREERHMITE,
Y Bt a4

SLD30 SM40-9 T15 IM-SP32GS IM-CP32N
SLD40 SM40-9 T15 IM-SP32GS IM-CP32N
SLD50 SM50-11 T20 IM-SP43GS IM-CP43N

i ]l



iz_-dlal I—r;léfzgt%ﬁﬁ Cutters 'k:j' 1)}( 7]‘ . ‘!6‘ .'fE }‘%

A ¥ L 2 e B 3L 5E 7]

Indexable Helical Shell End Mills

840.0141.158  TLD50-42 22 104 42 50 20 17 11 1 5
840.0142.158  TLD63-50 63 22 10.4 50 54 20 20 11 18 2 12
840.0143.158  TLD80-66 80 27 124 66 80 22 33 135 20 2 12

E: XTIREERRMITS,

v BE AR AR 1

TLD50 SM40-11 T15 IM-SP32GS IM-CP32N
TLD63 SM40-11 T15 IM-SP32GS IM-CP32N
TLD80O SM50-16 T20 IM-SP43GS IM-CP43N

ARSI S TN HETHI S H
C EEE (mmn)  SE#AE (mmz)
ii==!!---“------ﬂ---

R ®RR 80-150 120-180 0.05-0.4 0.04-0.2
RE&W 80-130 100-160 0.05-0.4 0.04-0.2
# W 60-150 80-160 0.05-0.4 0.04-0.2
#F &% 70-130 80-150 0.08-0.4 0.05-0.25

BEE 500-1200 0.03-0.2




@ﬁms RIBER

NS
GENERTEC HMC

¥

LRI ER LB T]

Radial Indexable Miling Cutters

90° FIEE{LE LT

90° Indexable Chamfer Mills

H S

840.0094.090
840.0095.090
840.0096.090
840.0097.090
840.0098.090
840.0099.090

E: XTI RBEERBMITE,

ZH-16/19

ZH-16/23 23
ZH-16/26 26
ZH-20/30 30
ZH-20/34 34
ZH-20/37 37

i ]l

11.1
14.1
16.2
20.2
15.4

16
16
20
20
20

T7
T7
T7
T7
T15

M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M2.5X6X60°
M4X9X60°

TCMT110204
TCMT090204
TCMT090204
TCMT110204
TCMT110204
TCMT16T304



;TEdlal Eﬁi&%ﬁ Cutters 'k:j' 1)*( 7]‘ . ‘16‘ .'fE }‘%

A &% (i 81 F 5% T

Indexable Chamfer Mills

Da
De

840.0300.090 DSD008 8 16.6 12 120 30 3 1 SPMT060304
840.0301.090 DSD010 10 18.6 12 120 30 3 1 SPMT060304
840.0302.090 DSD012 12 24.8 16 160 40 5 1 SPMT09T308
840.0303.090 DSD016 16 28.8 16 160 40 5 2 SPMT09T308
840.0304.090 DSD020 20 32.8 20 200 40 5 2 SPMT09T308
840.0305.090 DSD025 25 43 25 200 40 7 2 SPMT120408
840.0306.090 DSD032 32 49.3 32 250 40 7 2 SPMT120408
840.0307.090 DSD040 40 57.3 32 250 40 7 3 SPMT120408

i KTIABEEPRMITE,

v Bt F B &8 14

SPMT060304 6.35 3.18 M2.5X6X60°
R
3 {}/ i SPMT09T308 9.52 3.97 0.8 M3.5X8X60° T10
| . SPMT120408 12.7 4.76 0.8 M5X13X82° T20

AT EFEVIR S H

g 150-210 0.12-0.20
TR 110-155 0.08-0.12
% % 200-240 0.15-0.25




LRI SR AL HE T

Radial Indexable Miling Cutters

@,ﬁms RIBER

NS
GENERTEC HMC

¥

A] &5 {3 56 5% 71 (81 E45)

Indexable Drilling Mills

] =
L1
Lz
L

840.0210.158 ZAX20-120 120 17.5 ZCMT1 00308R ZDMT1 00308L M2.5x6x60°

840.0211.158 ZAX25-130 25 25 130 23 40 ZPMT13T308R 2 ZDMT13T308L 1 M3x7x60°
840.0212.158 ZAX32-140 32 32 140 285 50 ZPMT160408R 2 ZPMT160408L 1 M4x9x60°
840.0213.158 ZAX40-150 40 40 150 40 60 ZPMT170508R 2 ZPMT200508L 1 M5x11x60°
i XTMREERRBEMITE,
v J1 /R R=F
ZCMT100308R 10.4 6.35 3.4 ZDMT100308L 10.4 6.35 3.4
GD o . ZPMT13T308R 13.3 7.938 3.79 11 ZDMT13T308L 12.9 7.938 3.79 15
T " a ZPMT160408R 16 9.525 4.76 11 ZPMT160408L 16.45 9.525 4.76 11

ZPMT170508R 17 11 556 11 ZPMT200508L 20.4 11 5.56 11

] 1/



;TEdlal Eﬁi&%ﬂ Cutters 'k:j' 1)% 7]‘ . ‘k:j‘ GE }‘%

A] 3% {3 37 §E T1 (B F45)

Indexable End Mills

L1
L2

840.0225.158 CAX20-120 120 10.3 ZCMT100308R 3 M2.5x6x60°
840.0226.158 CAX25-130 25 25 130 13,5 40 ZPMT13T308R 3 M3X7x60° T9
840.0227.158 CAX32-140 32 32 140 159 50 ZPMT160408R 3 M4X9x60° T15
840.0228.158 CAX40-150 40 40 150 159 60 ZPMT160408R 4 M4X9x60° T15
i KT ERPBMITS,
R R~
ZCMT100308R 10.4 6.35 3.4 ZDMT100308L 10.4 6.35 3.4
&) 2 ZPMT13T308R 13.3 7.938 3.79 11 ZDMT13T308L 12.9 7.938 3.79 15
9 - 4 ZPMT160408R 16 9.525 4.76 11 ZPMT160408L 16.45 9.525 4.76 11

ZPMT170508R 17 11 556 11 ZPMT200508L 20.4 11 5.56 11




>, EARARBRAT I AIEE (5T T]
@/ GENERTEC HMCT Radial Indexable Milling Cutters
R WEE T
Round Insert Straight Shank Mills for Molds

& iE 5 R

% 5

840.0011.280
840.0012.280
840.0013.280
840.0014.280
840.0015.280
840.0016.280
840.0017.280
840.0018.280
840.0019.280

T

FRZ016R5
FRZ020R5
FRZ025R5
FRZ032R5L
FRZ032R6
FRZ032R6L
FRZ040R8
FRZ040R8L
FRZ040R8C

E: XTREERBMITS,

X

© 0 0 O O o o o O

d

16
20
25
32
32
32
40
40
40

D

16
20
25
32
34
42
54
54
54

L

120
140
150
210
160
240
160
240
280

L1

80
85
90
110
90
140
90
140
180

Li
L
71k (#0) 1257 WF HH
RDHX1003MO M3.5x7x60° T10 1
RDHX1003MO M3.5x7x60° T10 i
RDHX1003MO M3.5x8x60° T10 2
RDHX1003MO M3.5x8x60° T10 2
RDHX12T3MO M3.5x8x60° T10 2
RDHX12T3MO M3.5x8x60° T10 3
RDHX1604MO M5x11x60° T20 3
RDHX1604MO M5x11x60° T20 3
RDHX1604MO M5x11x60° T20 3



oA EE 5t ]

Radial Indexable Milling Cutters

B R ARA-FEE

FE7 R EREEST]

Round Insert Straight Shank Mills for Molds

—’?;/f‘
= Bl = = =]
Li
L
) F E 47
" 5 Ei = R d D L L+ ZkG#EO) 25T W F EH

840.0021.280 FRX016R5 5 16 16 120 80 RDHX1003MO M3.5x7x60° T10 1
840.0022.280 FRX020R5 5 20 20 140 85 RDHX1003MO M3.5x7x60° T10 1
840.0023.280 FRX025R5 5 25 25 150 90 RDHX1003MO M3.5x8x60° T10 2
840.0024.280 FRX032R5L 5 32 32 210 110 RDHX1003MO M3.5x8x60° T10 2
840.0025.280 FRX032R6 6 32 34 160 90 RDHX12T3MO M3.5x8x60° T10 2
840.0026.280 FRX032R6L 6 32 42 240 140 RDHX12T3MO M3.5x8x60° T10 8]
840.0027.280 FRX040R8 8 40 54 160 90 RDHX1604MO M5x11x60° T20 3
840.0028.280 FRX040R8L 8 40 54 240 140 RDHX1604MO M5x11x60° T20 3
840.0029.280 FRX040R8C 8 40 54 280 180 RDHX1604MO M5x11x60° T20 3

iE: *TIREERRMITE,




LRI ER LB T]

Radial Indexable Miling Cutters

840.0030.280  FRDO50R6 RDHX12T3MO@#H)  M3.5x 8 x 60°

840.0031.280 FRDO63R6 22 51 63 40 RDHX12T3MO(@#H)  M3.5x 8% 60° T10
840.0032.280  FRDO8OR6 27 68 80 50 RDHX12T3MO(i#H)  M3.5x8x60° T10
840.0033.280 FRD100R6 32 88 100 50 RDHX12T3MO(#H)  M3.5x8x60° T10
840.0034.280 FRDO63R8 22 47 63 50 RDHX1604MO(i# O) M5 x 11 x 60° T20
840.0035.280  FRDO8OR8 27 64 80 50 RDHX1604MO(i# [) M5 x 11 x 60° T20
840.0036.280 FRD100R8 32 84 100 50 RDHX1604MO(i# O) M5 x 11 x60° T20
840.0037.280 FRD125R8 40 109 125 50 RDHX1604MO(i# O) M5 x 11 x 60° T20

iE XTIREERBMmITS,

B 7] R iR BB T EFETIHI S #

® ® O W O O O
(< NS IS, B e S N N

60-100 80-150 0.1-0.3 0.08-0.15
m%ﬁfm 60-80 90-100 0.1-0.3 0.08-0.15
% % 60-90 100-150 0.1-0.3 0.08-0.15

N 1/



AT | ‘
h—ﬂsldzé_giga-géﬁﬁlgg Cutters %F ;I}i d‘\ &)

3 %< A] ¥5 5 gk T)

A REHMN R AT HE AP MFRMIER, FENERIEITT]
RIEER, EREMAKTIBEEEMRENMIEE, £iECAD/CAMHEEIZITFIE, &
RAEETRATNEZTMMIAEERENTSEN, EIREHERAFHEK,
SRS T AR TR

1.77RERAYIEZE, MEATEREETIRE8EX, IENERES, EMA#HITAY
ix, KETIEHH,

2.7NRRAVIEINRE, HMEVIRIAIBRRENEKR, EXTRETHE, RITHAEH
[BiEEX, SMERERE,

BIRART—NMEBSTEEETIE L, EFEs, UG E, TEEFRINFH.

o S5 M kk



S ¥

73 Al Rt T]

Molds Indexable Milling Cutters

45° A EE AT EFESETI6D6B ... 101
45° AIEE AL EFESETISD2U ..o 102
60° AT AT EHFASETI6C2K ... 103
60° AT AT HEHSETISC2K ... 104
60° AT EHASETI6C2t ... 105
70° AT EEACFEASETIOX2K (..o 106
70° ARG EESETIOXAS .o, 107
88° AIFEAIFEHASETI6LOB. ... 108
88° AIEE A FEFAFETIOL2K ..o 109
90° AT FHEHASETION2A ..., 110
90° A EE A FHEHFASETION2D ... 111
90° AT FEHASETI6I2K ... 112
90° AT EHASETISI2K ..o 13
90° AT FEHFASETISI2V .o 114
90° I A FEFAFETI6J21L o 115
45° AR FEAEBEAHETI6DKB ... 116
60° AT FHEABEAHETI6CKK ............. 17
70° AIEEALIEEMEBE S HETI6X4S-F.......... 118
90° AT FHEMBERHLII6IKB.............. 119
90° FIEE (I TFHAABEGHII6IKK.............. 120
90° AT FEFELETIOF2K oo 121
AP ERETILRRERT 122
AT AIFEHE TI35L5A . 35L5B......eeeeine 124
A& S T135J9B, 35J9D. 35J9K .......... 125

AT EEAIREEE TI35JOX oo 128

AR (AEYIESE TIB5FBB ... 131
ARG E T15ET125J9X, 25J9D................. 134
R EE(LIBRE SIS TI26J4P .. 136
A BB REST SR 712601 e 138
EXNATEAIZNESIHETI26U1 M. 139
RIS IR ESIHETI2902A ..o 140
A EEAIST SR TI16J1A 16J1D. . 142
AL TRESE TI16T o 143
RIEEALSISETIOT0C ..o 144
A BB AHETI670C—XX° v 145
AR AT RIESUAEREETINLD .. 146
BIEEAIFAEET] oo 147
SLEE AR TME R .o 148
S AR TIVIHIAEHER ... 148
MR FEAISETITIRIMERS (o 149



S A ERIEET] W R R-F %2 F

Molds Indexable Milling Cutters ¢

AIEEAL T EAESET] Emmes | wmmEss. 2akabm)

Indexable Face Rough Mills 450

\/

h [
. h |
-

% Ee D h D M IHDS E7 **gb’ﬁ L EEER
840.0001.290 6D6B100 100 50 127.6 8 LSE323R02 SM40-09 32 14.4 - B
841.0002.290 6D6B100L 100 50 127.6 8 LSE323L02 SM40-09 32 14.4 - B
840.0003.290 6D6B125 125 50 152.6 9 LSE323R02 SM40-09 40 16.4 - B
841.0004.290 6D6B125L 125 50 152.6 9 LSE323L02 SM40-09 40 16.4 - B
840.0005.290 6D6B160 160 50 187.6 10 LSE323R02 SM40-09 40 16.4 - B
841.0006.290 6D6B160L 160 50 187.6 10 LSE323L02 SM40-09 40 16.4 - B
840.0007.290 6D6B200 200 63 227.6 12 LSE323R02 SM40-09 60 25.7 101.6 C
841.0008.290 6D6B200L 200 63 227.6 12 LSE323L02 SM40-09 60 25.7 101.6 C
840.0009.290 6D6B250 250 63 277.6 14 LSE323R02 SM40-09 60 25.7 101.6 C
841.0010.290 6D6B250L 250 63 277.6 14 LSE323L02 SM40-09 60 25.7 101.6 C

IF78120-417 . RFK78120-417/2-2
+6D6BRFIAEHBIFAEET], ATFHEMIMN, HekRxOAHBREMR,
Ve B KYIR7Mm, & F/INhZERNURS MR EE]

SE SIS



€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

= SF ikt

AIEEAL S T] Emmss . wmmEsf. REENR)

Indexable Face Rough Mills

2o S
%% S D h D KNS LB EM “f’ﬁ |, gEER

840.0030.290 5D2U160V 160 63 221.5 LSE346R01-M NEBO04R50 7 40 164 - B
840.0031.290 5D2U200V 200 63 261.1 LSE346R01-M NEBO04R50 8 60 25.7 101.6 C
840.0035.290 5D2U200W 200 63 261.1 LSE346R01-M NEBO04R50 10 60 25.7 101.6 C
840.0032.290 5D2U250V 250 63 310.8 LSE346R01-M NEBO04R50 10 60 25.7 101.6 C
840.0036.290 5D2U250W 250 63 310.8 LSE346R01-M NEBO04R50 14 60 25.7 101.6 C
840.0033.290 5D2U315V 315 80 375.5 LSE346R01-M NEBO04R50 12 60 25.7 101.6+177.8 C
840.0037.290 5D2U315W 315 80 375.5 LSE346R01-M NEBO04R50 16 60 25.7 101.6+177.8 C

H2$TSM50-19-T20, #WF78120-417, #FL78120-T20
wEDURFIEKIIR12mm, BFIFEFENFRIIE, FLUZBETIRMIIERIfA, FTATARERE THSH] (IRt ) UM
THEERIEL TAGTRIANRREAE, $5IER TEERAR TSHI T



373 Al AR T) B RARA-FEE

Molds Indexable Milling Cutters

AISEAL S T] Emaeo . mmEsif. RERE0)

Indexable Face Rough Mills

60"
My

- -
% =2 ®WWE D D EM IEME  LE 4 i M

d b di Wz
840.0100.290 6C2K160 160 192.5 8 LSE434R01 NEO4-10 SM50-16-T20 40 16.4 -
841.0101.290 6C2K160L 160 192.5 8 LSE434L01 NEO04-10 SM50-16-T20 40 16.4 -
840.0102.290 6C2K200 200 232.1 10 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 101.6
841.0103.290 6C2K200L 200 232.1 10 LSE434L01 NEO0O4-10 SM50-16-T20 60 25.7 101.6
840.0104.290 6C2K250 250 2819 12 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 101.6
841.0105.290 6C2K250L 250 2819 12 LSE434L01 NE04-10 SM50-16-T20 60 25.7 101.6
840.0106.290 6C2K315 315 346.7 14 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 101.6+177.8
841.0107.290 6C2K315L 315 346.7 14 LSE434L01 NE04-10 SM50-16-T20 60 25.7 101.6+177.8
840.0108.290 6C2K400 400 431.7 16 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 101.6+177.8
841.0109.290 6C2K400L 400 431.7 16 LSE434L01 NEO0O4-10 SM50-16-T20 60 25.7 101.6+177.8
840.0110.290 6C2K500 500 531.7 20 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 101.6+177.8
841.0111.290 6C2K500L 500 531.7 20 LSE434L01 NE04-10 SM50-16-T20 60 25.7 101.6+177.8

RF 78120-417. #mF 3k 78120-T20

wB6C2KRFAERR AT, AFHEMIM. HHRRIKAHFERETE,
K ERAYIRI3mm, ERAFHE, ERMHEHIMNT,

OO0 00000000 ww

= &F Ak R



SR FE (U T

>, BRIARKEL
74 Molds Indexable Milling Cutters

NS
GENERTEC HMC

¥

AL HEASET] (Emmeor . wmmER)

Indexable Face Rough Mills

840.0200.290 5C2K125 16.4 B

840.0201.290 5C2K160 160 63 187 8 40 16.4 - B

840.0202.290 5C2K200 200 63 227 10 60 25.7 101.6 C

840.0203.290 5C2K250 250 63 277 12 60 25.7 101.6 C

840.0204.290 5C2K315 315 80 342 14 60 25.7 101.6+177.8 C
¥ Bt FA ER 44

#5C2KRFIBAYIRA 12mm, BATFHEN BN FEROGE . TUMTHE. N, S0, FHN. BRESEHHE,
BT AR TR T, $LSE435R1007I A BE 5B, T T ABEMEREEEBIHE, ELPEAISR1007] KA
WERR, ATMIRER. 82,

! fllos



37 5 A B 5t 7]

Molds Indexable Milling Cutters

B RR -FFF

ARG EEAESET] mmeo . mmEmf. R

Indexable Face Rough Mills

= &F Ak R

Ty
= —i‘:-O —] :t | a8
|
S
h
s
%2 @S D h D = St
d b d1

840.0230.290 6C2L200V 200 80 241.9 8 60 25.7 101.6 C
841.0231.290 6C2L200VL 200 80 241.9 8 60 25.7 101.6 C
840.0250.290 6C2L200W 200 80 241.9 10 60 25.7 101.6 C
841.0251.290 6C2L200WL 200 80 241.9 10 60 25.7 101.6 ©
840.0232.290 6C2L250V 250 80 291.5 10 60 25.7 101.6 C
841.0233.290 6C2L250VL 250 80 291.5 10 60 25.7 101.6 C
840.0252.290 6C2L250W 250 80 291.5 14 60 25.7 101.6 C
841.0253.290 6C2L250WL 250 80 291.5 14 60 25.7 101.6 C
840.0234.290 6C2L315V 315 80 356.2 12 60 25.7 101.6+177.8 C
841.0235.290 6C2L315VL 315 80 356.2 12 60 25.7 101.6+177.8 ©
840.0254.290 6C2L315W 315 80 356.2 16 60 25.7 101.6+177.8 C
841.0255.290 6C2L315WL 315 80 356.2 16 60 25.7 101.6+177.8 C
840.0236.290 6C2L400V 400 80 441 16 60 25.7 101.6+177.8 C
841.0237.290 6C2L400VL 400 80 441 16 60 25.7 101.6+177.8 C
840.0256.290 6C2L400W 400 80 441 22 60 25.7 101.6+177.8 C
841.0257.290 6C2L400WL 400 80 441 22 60 25.7 101.6+177.8 ©
840.0238.290 6C2L500V 500 80 541 20 60 25.7 101.6+177.8 C
841.0239.290 6C2L500VL 500 80 541 20 60 25.7 101.6+177.8 C
840.0258.290 6C2L500W 500 80 541 28 60 25.7 101.6+177.8 C
841.0259.290 6C2L500WL 500 80 541 28 60 25.7 101.6+177.8 C

v Bt A4
ALI%ET] FLSE446R01 L EE ¥ 4T R E R

5 LPE446R100
£ H1% 7] £ LSE446L01 NEO4R13 SM50 -19-T20 78120 -417 78120 -T20

*BC2LRFI, EFERMANMSE, RAVIR20mMm, EFAMRYFE LW, HERKOHEKEMPOERGE, TIARER
IR, LSE446ROVENGEEEMIERTI AL, BTFMIHERWHME, LPE446R1005TIEEESHMNIER AL, BT
FEBHAE/NTO0.5mmBgN T, BTN Tt 50 B R i 4 4

LPE446R1004%#1S, 5IHSLSE446R01 - MR~



€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

o SF A% Rt

RAIEEGLFEARSET) (mm7oc | SmERif. BREHNS)
Indexable Face Rough Mills
69°

I
o

W

-

%5 B2 D h D MUK IRES TER 8 4 ‘;*%Rj R
840.0300.290 6X2K050 50 40 615 5 7.6 SPE33R02 PA0436 SM40-09 22 10.4 A
840.0301.290 6X2K063 63 40 75 6 7.6 SPE33R02 PA0436 SMA40-09 22 10.4 A
840.0302.290 6X2K080 80 50 91.7 6 7.6 SPE33R02 PA0436 SM40-09 27 12.4 B
840.0303.290 6X2K100 100 50 111.7 8 7.6 SPE33R02 PA0436 SM40-09 32 14.4 B
840.0304.290 6X2K125 125 50 136.8 10 7.6 SPE33R02 PA0436 SM40-09 40 16.4 B
840.0305.290 6X2K160 160 50 171.8 12 7.6 SPE33R02 PA0436 SM40-09 40 16.4 B

IRF78120- 417, wFK78120-417/2-2
w6X2KZR I A ERIFHET], VEIRR, BHFHRNRNKERGEH, SRVR7Mm, B TRERER:
(NIRRT HREELTH;
(@)mItk. AENRHEMSEGE. GREES.
*TNREEAMIET, TIRbF2mmENRT], ERELEGHTAHTREMI. (ZRIFTHX4ASRIINRE) .



373 Al AR T) B RARA-FEE

Molds Indexable Milling Cutters

AL EEMESET] Emam7oe | wmENS. ERENH)

Indexable Face Rough Mills

o | o e , RERT S
R S B S D h D1 7IRES ZEHR 84T & 5 - " ZEEK

840.0337.290 6X4S050V 50 50 62 JPE33R01 PA0445 SM40-09 3 22 10.4 -

840.0340.290 6X4S050W 50 50 62 JPE33R01 PA0445 SM40-09 4 22 10.4 -

840.0350.290 6X4S050X 50 50 62 JPE33R01 PA0445 SM40-09 6 22 10.4 -

840.0338.290 6X4S063V 63 50 75 JPE33R01 PA0445 SM40-09 3 22 10.4 -

840.0342.290 6X4S063W 63 50 75 JPE33R01 PA0445 SM40-09 5 22 10.4 -

840.0351.290 6X4S063X 63 50 75 JPE33R01 PA0445 SM40-09 7 22 10.4 -

840.0332.290 6X4S080V 80 50 92 JPE33R01 PA0445 SM40-09 4 27 12.4 -

840.0341.290 6X4S080W 80 50 92 JPE33R01 PA0445 SM40-09 6 27 12.4 -

840.0352.290 6X4S080X 80 50 92 JPE33R01 PA0445 SM40-09 9 27 12.4 -

840.0330.290 6X4S100V 100 50 112 JPE33R01 PA0445 SM40-09 5 32 14.4 -

840.0343.290 6X4S100W 100 50 112 JPE33R01 PA0445 SM40-09 8 32 14.4 -

840.0353.290 6X4S100X 100 50 112 JPE33R0O1 PA0445 SM40-09 12 32 14.4 -

840.0331.290 6X4S125vV 125 50 137 JPE33R0O1 PA0445 SM40-09 7 32 14.4 -

840.0344.290 6X4S125W 125 50 137 JPE33R01 PA0445 SM40-09 10 32 14.4 -

840.0354.290 6X4S125X 125 50 137 JPE33R0O1 PA0445 SM40-09 15 32 14.4 -

840.0333.290 6X4S160V 160 50 172 JPE33R01 PA0445 SM40-09 7 40 164 -
840.0345.290 6X4S160W 160 50 172 JPE33R01 PA0445 SM40-09 12 40 164 -
840.0355.290 6X4S160X 160 50 172 JPE33R01 PA0445 SM40-09 18 40 164 -
840.0334.290 6X4S200V 200 63 212 JPE33R01 PA0445 SM40-09 9 60 257 101.6
840.0346.290 6X4S200W 200 63 212 JPE33R01 PA0445 SM40-09 16 60 257 101.6
840.0356.290 6X4S200X 200 63 212 JPE33R01 PA0445 SM40-09 22 60 257 101.6
840.0335.290 6X4S250V 250 63 262 JPE33R01 PA0445 SM40-09 11 60 25.7 101.6
840.0347.290 6X4S250W 250 63 262 JPE33R01 PA0445 SM40-09 20 60 257 101.6
840.0357.290 6X4S250X 250 63 262 JPE33R01 PA0445 SM40-09 26 60 257 101.6
840.0336.290 6X4S315V 315 63 327 JPE33R01 PA0445 SM40-09 13 60 25.7 101.6+177.8
840.0348.290 6X4S315W 315 63 327 JPE33R01 PA0445 SM40-09 24 60 25.7 101.6+177.8
840.0358.290 6X4S315X 315 63 327 JPE33R01 PA0445 SM40-09 30 60 25.7 101.6+177.8

OO0 0000000 T W wWwwwwwwwowwwm?>»>»>» >»>» > >

WF78120-417, FF£78120 417/2-2
*6X4SERG, EFAMIERfA. TIEIAA, BRXYR7Mm, 5V, W, X=MAREELH, ATHESMMIERHEKR, ATIMIHN,
B, %, B, BRAE, HIEATNISRES, HEEELEE.

= &F Ak R



€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

= SF ikt

AIEEAL T EMEET] (mmses . mmnwif. REAEH)

Indexable Face Rough Mills

(=

=== 1
-

)

%= W= D h &M UMTIK JAmE @ 4§ j*%R“Lb s
840.0001.291 6L6B080 80 50 6 15.875 LNE323-02 SM40-09 27 124 B
841.0002.291 6L6B0O8OL 80 50 6 15.875 LNE323-02 SM40-09 27 124 B
840.0003.291 6L6B100 100 50 8 15.875 LNE323-02 SM40-09 32 144 B
841.0004.291 6L6B100L 100 50 8 15.875 LNE323-02 SM40-09 32 144 B
840.0005.291 6L6B125 125 50 10 15.875 LNE323-02 SM40-09 40 164 B
841.0006.291 6L6B125L 125 50 10 15.875 LNE323-02 SM40-09 40 164 B
840.0007.291 6L6B160 160 50 12 15.875 LNE323-02 SM40-09 40 164 B
841.0008.291 6L6B160L 160 50 12 15.875 LNE323-02 SM40-09 40 164 B

RF78120-417. IH/FK78120-417/2-2
*BLEBEFIA88° TR, AYIRIOMM, FEFH/NREMIN., Hik.
ZHINEBNANA/LASHE, ERATN. H%. KOSEKNENERFEHRH.



373 Al AR T) B RARA-FEE

Molds Indexable Milling Cutters

AISEAL EEEEET] Emmsse . wmmans. 2R

Indexable Face Rough Mills

14£ = 1 = A v 1] = &%R#

2 5 B 2 D h B YLK IRRE  LE 12T T
840.0030.291 6L2K100 100 50 19.05 LNE434-02 NEO04-07 SM50-16-T20 32 144 -
841.0031.291 6L2K100L 100 50 19.05 LNE434-02 NE04-07 SM50-16-T20 32 144 -

6
6
840.0032.291 6L2K125 125 50 7 19.05 LNE434-02 NE04-07 SM50-16-T20 40 164 -
7
8

ZEHK

B
B
B
841.0033.291 6L2K125L 125 50 19.05 LNE434-02 NE04-07 SM50-16-T20 40 164 - B
840.0034.291 6L2K160 160 63 19.05 LNE434-02 NEO4-07 SM50-16-T20 40 164 - B
841.0035.291 6L2K160L 160 63 8 19.05 LNE434-02 NE04-07 SM50-16-T20 40 164 - B
840.0036.291 6L2K200 200 63 10 19.05 LNE434-02 NE04-07 SM50-16-T20 60 257 1016 C
841.0037.291 6L2K200L 200 63 10 19.05 LNE434-02 NE04-07 SM50-16-T20 60 257 101.6 C
840.0038.291 6L2K250 250 63 12 19.05 LNE434-02 NE04-07 SM50-16-T20 60 257 1016 C
841.0039.291 6L2K250L 250 63 12 19.05 LNE434-02 NE04-07 SM50-16-T20 60 257 101.6 C
840.0040.291 6L2K315 315 63 14 19.05 LNE434-02 NEO04-07 SM50-16-T20 60 257 1016+1778 C

C

841.0041.291 6L2K315L 315 63 14 19.05 LNE434-02 NE04-07 SM50-16-T20 60 257 1016+1778

H2ETSM50-16-T20. IRF 78120 - 417, IHF 78120 -T20
#wBL2KRFIH88° EiRf, mAYRI8mMmM, BFHEREMIN., HFHIKOHER. (ZRFIFTTUASLZKRIIKE, )
FiZBTIEANGERILASHE, EATHN. HH%. ROFRNANERFEREH.

= &F Ak R



€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

SESS

ARG EEMESET] Ermmoo . wmmEas. 2RERNS)

Indexable Face Rough Mills

e = | = Gt 1 o BERY i

S B S5 D h & UHINK JTRES 24 g b RERK
840.0100.291 6X2A050 50 50 5 12.7 CDE322R01 SM40-09 22 104 A
841.0101.291 6X2A050L 50 50 5 127 CDE322L01 SM40-09 22 104 A
840.0102.291 6X2A063 63 50 6 12.7 CDE322R01 SM40-09 22 104 A
841.0103.291 6X2A063L 63 50 6 12.7 CDE322L01 SM40-09 22 104 A
840.0104.291 6X2A080 80 50 6 12.7 CDE322R01 SM40-09 27 124 B
841.0105.291 6X2A080L 80 50 6 12.7 CDE322L01 SM40-09 27 124 B
840.0106.291 6X2A100 100 50 8 12.7 CDE322R01 SM40-09 32 144 B
841.0107.291 6X2A100L 100 50 8 12.7 CDE322L01 SM40-09 32 144 B
840.0108.291 6X2A125 125 50 10 12.7 CDE322R01 SM40-09 40 164 B
841.0109.291 6X2A125L 125 50 10 12.7 CDE322L01 SM40-09 40 164 B
840.0110.291 6X2A160 160 50 12 12.7 CDE322R01 SM40-09 40 164 B
841.0111.291 6X2A160L 160 50 12 12.7 CDE322L01 SM40-09 40 164 B

|F78120 - 417, #R_FX78120-417/2-2
“ 6X2ARFIAERIABET], VIHIZ/N, &R TFH/MEPREZEGEE, RAVIRI2mm, BWTRERER: (1) MIARFETH
REEETH, (2) MIK. THERREETHMEESE. ARERS%
w NRAAIMYET, BTHEAEARERNERTHE, $E71H 3CDE322R01TIf, MHHEFE, ITHMNAKERT A
CDE322R045{CDE322R05, ZA1I%t71 R4 CDE322L0171k, J1FCDE322R01, CDE322L018R%0.5x45° {#/f, CDE322R04
BH3mmEf, CDE322R05E%50.8mmEf,



ST AT BT ) B R A-B 4+ 5

Molds Indexable Milling Cutters

AT REGIEEAEEET] (Emmooe . wmERH. REENR)

Indexable Face Rough Mills

J
'

ZFER
d b di
19.05 CDE334R01=CDE334R04 SM40-11 22 104 -

% 5 B S D h &Y URAK TTHES 25T
840.0131.291 6X2D050 50 40
840.0132.291 6X2D063 63 40 19.05 CDE334RO1ZCDE334R04 SM40-11 22 104 -

5 A

6 A

840.0133.291 6X2D080 80 50 7 19.05 CDES334R01=(CDE334R04 SM40-11 27 124 - B
840.0130.291 6X2D100 100 50 8 19.05 CDE334R013({CDE334R04 SM40-11 32 144 - B
B

B

C

R

840.0134.291 6X2D125 125 63 10 19.05 CDE334R01=(CDE334R04 SM40-11 40 164 -
840.0135.291 6X2D160 160 63 13 19.05 CDE334R015({CDE334R04 SM40-11 40 164 -
840.0136.291 6X2D200 200 63 15 19.05 CDE334R01=CDE334R04 SM40-11 60 257 1016

RF78120-417. I/FK78120-417/2-2
*6X2DRIAERAT, EATMIN. F1ENREEMESREAEREEREE, RAVIRI18mm, EHATERSH., ATHEIEE
ARERMERTE,
Y $ETIH T B3 CDE334R01 71, 4ok EE T &R iR E 71 F CDE334R04,

s R S



€ BRBARELD 37 3 AT I T]

Molds Indexable Milling Cutters

SESS

AIEEALEEMESET] Emmooe . wmams. EERHH)

Indexable Face Rough Mills

® = = LT A o ZERRY o

B 5 B S D h B YHNK TIRES L E 247 DT TR
840.0300.291 6J2K160 160 63 6 15.9 LSE434R01 NEO4-10 SMB0-16-T20 40 164 - B
841.0301.291 6J2K160L 160 63 6 15.9  LSE434L01 NEO04-10 SMs0-16-T20 40 164 - B
840.0302.291 6J2K200 200 63 8 159 LSE434R01 NEO04-10 SMB0-16-T20 60 257 1016 C
841.0303.291 6J2K200L 200 63 8 15.9 LSE434L01 NEO04-10 SMB0-16-T20 60 257 1016 C
840.0304.291 6J2K250 250 63 10 159 LSE434R01 NEO04-10 SMB0-16-T20 60 257 1016 C
841.0305.291 6J2K250L 250 63 10 15.9 LSE434L01 NEO4-10 SMB0-16-T20 60 257 101.6 C
840.0306.291 6J2K315 315 80 12 15.9 LSE434R01 NEO4-10 SM50-16-T20 60 25.7 1016+177.8 C
841.0307.291 6J2K315L 315 80 12 15.9  LSE434L01 NEO04-10 SMB0-16-T20 60 257 101.6+1778 C
840.0308.291 6J2K400 400 80 16 159 LSE434R01 NEO4-10 SMe0-16-T20 60 257 1016+177.8 C
841.0309.291 6J2K400L 400 80 16 15.9 LSE434L01 NEO04-10 SM50-16-T20 60 25.7 1016+1778 C
840.0310.291 6J2K500 500 80 20 159 LSE434R01 NEO04-10 SMe0-16-T20 60 257 1016+177.8 C
841.0311.291 6J2K500L 500 80 20 15.9 LSE434L01 NEO04-10 SMB0-16-T20 60 257 1016+1778 C

WF78120 - 417, ${F%£78120-T20
 6R2KRFIEFNGE AILASE, JATIRI6Mm, ZHETER FEDEENNRGVR EMTRN, HHRMOENTFESFE,



—J:I:
Molds ;ﬁggé%zg Cutters 'k:j' E'L 7]‘ : ‘!6‘ GE }‘%

AR AL HEAEBET] Emaooe )

Indexable Face Rough Mills

840.0220.291 5J2K160 16 4 B

840.0221.291 5J2K200 200 63 10 60 25.7 101.6 ()

840.0222.291 5J2K250 250 63 12 60 25.7 101.6 C

840.0223.291 5J2K315 315 80 14 60 25.7 101.6+177.8 ©
v Bt &R

Ye 5BJ2KR TR AYIRA15mm, AT HES. W, A&, FERE, ZBTITURERMIIE, F£LSE435R1007] K F MW Ha sl

i, BFMISREMBIRESFZEME, ELPE435R100TAERAER AR, BFMIAENEME,




@,ﬁma ARIBE L I 3E R]EREALEET]

Molds Indexable Milling Cutters

o SF A% R

AIREGIEEAEEE T Emmooe . mmam. REENA)

Indexable Face Rough Mills

iy = | o w12 o BERY i

%t S B S D h £¥ VENK TDREBES L E 1247 T d, RERK
840.0240.291 5J2V160 160 63 7 19.1  LNE336R01-M1 NEBO4R51 SME0-19-T20 40 164 - B
840.0241.291 5J2V200 200 63 9 19.1 LNE336R0T-M! NEBO4R51 SM50-19-T20 60 257 1016 c
840.0242.291 5J2V250 250 63 13 19.1  LNE336R01-M1 NEBO4R51 SMR0-19-T20 60 257 1016 C
840.0243.291 5J2V315 315 63 15 19.1  LNE336R01-M1 NEBO4R51 SMx0-19-T20 60 25.7 101.6+177.8 ©

IHF78120-417, HFK78120-T20
“ERVRINEFEABAN/LASH, EATM. %Hk. KOBSHNEMEEFEMSE . SAXTIR18mm, %5t 71iE B F/MEEHTHER
AR EEERYRMBEINT, BMEERRELEET, NERFHIIEIEELE,



—4:|:
Molds Eﬁgé%zg Cutters 'k:j' 1)&( 7]‘ . ‘k:j‘ GE }‘%

AIEEAL A T] Ermoor . mmnmm)

Indexable Face Rough Mills

T ) e e Ml

840.0330.291 6J2L200 28.575 25.7 101.6 C
841.0331.291 6J2L.200L 200 63 9 28.575 60 25.7 101.6 ©
840.0332.291 6J2L.250 250 63 13 28.575 60 25.7 101.6 C
841.0333.291 6J2L.250L 250 63 13 28.575 60 25.7 101.6 C
840.0334.291 6J2L315 315 80 15 28.575 60 25.7 101.6+177.8 C
841.0335.291 6J2L315L 315 80 15 28.575 60 25.7 101.6+177.8 (0]
840.0336.291 6J2L400 400 80 19 28.575 60 25.7 101.6+177.8 C
841.0337.291 6J2L400L 400 80 19 28.575 60 25.7 101.6+177.8 ©
840.0338.291 6J2L500 500 80 24 28.575 60 25.7 101.6+177.8 C
841.0339.291 6J2L.500L 500 80 24 28.575 60 25.7 101.6+177.8 C
v Bt FER

r6J2LRFIFAYIR25mm, BFEEYIE, SR TN, Bk, KOBEMNANERFEEHEE, Bt TLEMmMII A, LSE446R01
ENG%EaRBR A, BFNIEE MR, LPE446R1005 TIEEARB A IER A%, LU THs 8 K a4
ML, 6J2LRFE= I % ALNE446R01, LNE446R01-M, LEEANE04-R09,




73 Al Rt T]

Molds Indexable Milling Cutters

A T HAERBE ST Erms )

Indexable Face Rough and Finishing Mills

SESS

N
I
= = WO RERT e S T e
Bs BS D h D ogr o my  d b d SR
840.0001.292 6DKB100 100 50 127.6 5 1 32 14.4 - B
841.0002292 6DKB10OL 100 50 1276 5 1 32 14.4 - B
840.0003.292 6DKB125 125 50 1526 6 1 40 16.4 - B
841.0004292 6DKB125L 125 50 1526 6 1 40 16.4 - B
840.0005.202 6DKB160 160 50 187.6 8 2 40 16.4 - B
841.0006.292 6DKB160L 160 50 187.6 8 2 40 16.4 - B
840.0007.292  6DKB200 200 63 227.6 10 > 60 25.7 101.6 C
841.0008.292 6DKB200L 200 63 227.6 10 2 60 25.7 101.6 c
840.0009.202 6DKB250 250 63 277.6 12 2 60 25.7 101.6 c
841.0010.202 6DKB250L 250 63 277.6 12 > 60 257 101.6 c
840.0011.202 6DKB315 315 63 3426 14 2 60 257  101.6+177.8 c
841.0012202 6DKB315L 315 63 3426 14 2 60 257  101.6+177.8 c
< Bt A &R
SENERZ H 8% 7] F LSE323R02 R E S
100 - 315 ZEEIHASE 7] LSE323L02 L RIS fRIH W F
100-125 #7715 YCE323 - 01 29125  78120-417  8120-417/2-2
160-315 # 7] FYCE434 - 01 SM50 - 16 - T20 78120 - T20
¥ 6DKBRIImZAYIIR7mm 2 /NMIRFIER IR, BRAREMRYNE, mEmEABITIE, FBRRUXFEE I R FHE%, el A

Tk, BEEEAERBIR,




—4:|:
Molds ;gﬁgé%zg Cutters 'k:j' 1)% 7]‘ . ‘k:j‘ i }‘%

A FEBEBESHET] EHmmeo )

Indexable Face Rough and Finishing Mills

I I e s e s e B

840.0030.292  6CKK160 160 192.5 2 16.4 - B
841.0031.292  6CKK160L 160 63 1925 6 2 40 16.4 = B
840.0032.292  6CKK200 200 63 232.1 8 2 60 25.7 101.6 C
841.0033.292  6CKK200L 200 63 232.1 8 2 60 25.7 101.6 C
840.0034.292  6CKK250 250 63 281.9 10 2 60 25.7 101.6 C
841.0035.292  6CKK250L 250 63 281.9 10 2 60 25.7 101.6 C
840.0036.292  6CKK315 315 63 346.7 12 4 60 25.7 101.6+177.8 C
841.0037.292  6CKK315L 315 63 346.7 12 4 60 25.7 101.6+177.8 Cc
840.0038.292  6CKK400 400 80 4315 16 4 60 25.7 101.6+177.8 C
841.0039.292  6CKK400L 400 80 4315 16 4 60 25.7 101.6+177.8 C
840.0040.292  6CKK500 500 80 530.3 20 4 60 25.7 101.6+177.8 C
841.0041.292  6CKK500L 500 80 530.3 20 4 60 25.7 101.6+177.8 C

Y« Fit FH &R 14

7 B6CKKRFIFZFAYIR13mm, XR—MIEEMAN TR, ERTEDENERFRATHELRE. Hk. BRARKEYI IR, REAXEREYT
R, BTRUXFSETIBRRTIUR sk, wrllA FHst. BAEAERfA,




SR FE (U T

Molds Indexable Milling Cutters

@ BAIRABEL

NS
GENERTEC HMC

¥

AIEMTHABE ST E®wao)

Indexable Face Rough and Finishing Mills

840.0100.292 6X4S160FV 160 172 2 16.4 B
840.0110.292 6X4S160FW 160 50 172 10 2 40 16.4 = B
840.0101.292 6X4S200FV 200 63 212 8 2 60 257 101.6 C
840.0111.292 6X4S200FW 200 63 212 12 2 60 257 101.6 C
840.0102.292 6X4S250FV 250 63 262 10 2 60 25.7 101.6 C
840.0112.292 6X4S250FW 250 63 262 16 2 60 257 101.6 C
840.0103.292 6X4S315FV 315 63 330 12 2 60 257 101.6+177.8 C
840.0113.292 6X4S315FW 315 63 330 20 2 60 25.7 101.6+177.8 C
¥ BE P #b 4

w6X4S - FRI, RREZIEMN L, wHKAEFND K, MTATHE, BIATHESR. BREARENA. ZHRDBTHNIHR. &
B® . B SRESNB. WEMEL. HIRANERNRA, WEINN.

1 [lle



—4:|:
Molds Eﬁgé%zg Cutters 'k:j' 1)&( 7]‘ . ‘k:j‘ GE }‘%

Al TFEHARBE ST Emmoe )

Indexable Face Rough and Finishing Mills

I T I s e s e

840.0130.292 6JKB100 100 5 1 14.4 - B
841.0131.292 6JKB100L 100 50 5 1 32 14.4 - B
840.0132.292 6JKB125 125 50 6 1 40 16.4 - B
841.0133.292 6JKB125L 125 50 6 1 40 16.4 - B
840.0134.292 6JKB160 160 50 8 2 40 16.4 - B
841.0135.292 6JKB160L 160 50 8 2 40 16.4 - B
840.0136.292 6JKB200 200 63 10 2 60 25.7 101.6 C
841.0137.292 6JKB200L 200 63 10 2 60 25.7 101.6 C
840.0138.292 6JKB250 250 63 12 2 60 25.7 101.6 C
841.0139.292 6JKB250L 250 63 12 2 60 25.7 101.6 C
840.0140.292 6JKB315 315 63 14 2 60 25.7 101.6+177.8 C
841.0141.292 6JKB315L 315 63 14 2 60 25.7 101.6+177.8 C
+ B FAER

Y 6JKBR IR AYIR10mMm, %5718 A FEMES RGP EEN TN RAVUR EHEM THAEE S M TNk FHek. EEREHEY
Tk, WEEABTR, FLUXME TR ARFHE, WA FEsR. BEAEIRARMA,




SR FE (U T

Molds Indexable Milling Cutters

@,ﬁms RIBER

NS
GENERTEC HMC

¥

Al FEMEBE ST Ermo )

Indexable Face Rough and Finishing Mills

I O O e e e e

840.0200.292 6JKK160 6 2 16.4 B
841.0201.292 6JKK160L 160 63 6 2 40 16.4 - B
840.0203.292 6JKK200 200 63 8 2 60 25.7 101.6 C
841.0202.292 6JKK200L 200 63 8 2 60 25.7 101.6 C
840.0204.292 6JKK250 250 63 10 2 60 25.7 101.6 C
841.0205.292 6JKK250L 250 63 10 2 60 25.7 101.6 C
840.0206.292 6JKK315 315 80 12 2 60 25.7 101.6+177.8 C
841.0207.292 6JKK315L 315 80 12 2 60 25.7 101.6+177.8 C
840.0208.292 6JKK400 400 80 16 2 60 25.7 101.6+177.8 C
841.0209.292 6JKK400L 400 80 16 2 60 25.7 101.6+177.8 C
840.0210.292 6JKK500 500 80 20 4 60 25.7 101.6+177.8 C
841.0211.292 6JKK500L 500 80 20 4 60 25.7 101.6+177.8 C
¥ BE A #R 4

*BJKKRFIRAYIR16mm, %N ETFHEEIENAE LEMTISRBBEAMTIRN, HkMkEgk. BRAREEN IR, HmEER
WY R, FTRUXTEETIBN T IUA FHE8E, WAl lA Fisst. BEAEAN AR,

]l



Tk
Mol Eﬁgéﬁﬁlgg Cutters AR -FE2F

AIEEALFEEABHET] (w0 )

Indexable Face Finishing Mills

1]
=
3

=

,[4
|
]

o;

D
—t=
—
)
d

L
h
-
=2 @m= D h & S e
d b d1
840.0300.292 6F2K100 100 50 2 32 14.4 - B
841.0301.292 6F2K100L 100 50 2 32 14.4 - B
840.0302.292 6F2K125 125 50 4 40 16.4 - B
841.0303.292 6F2K125L 125 50 4 40 16.4 - B
840.0304.292 6F2K160 160 63 4 40 16.4 - B
841.0305.292 6F2K160L 160 63 4 40 16.4 - B
840.0316.292 6F2K200 200 63 6 60 25.7 101.6 C
841.0307.292 6F2K200L 200 63 6 60 25.7 101.6 C
840.0308.292 6F2K250 250 63 6 60 25.7 101.6 C
841.0309.292 6F2K250L 250 63 6 60 25.7 101.6 (©
840.0310.292 6F2K315 315 63 8 60 25.7 101.6+177.8 C
841.0311.292 6F2K315L 315 63 8 60 25.7 101.6+177.8 C
840.0312.292 6F2K400 400 80 12 60 25.7 101.6+177.8 C
841.0313.292 6F2K400L 400 80 12 60 25.7 101.6+177.8 C
840.0314.292 6F2K500 500 80 12 60 25.7 101.6+177.8 C
841.0315.292 6F2K500L 500 80 12 60 25.7 101.6+177.8 (©
Y B2 FA BB
s me NpEe B 4 > B W OF  ETF S
100-125 YCE323 - 01 SM40 - 09 29.125 78120 -417 78120 -417/2 -2
160 - 500 YCE434 - 01 SM50-16-T20 29.125 78120 -417 78120 -T20

*BF2KR IR AYIR0.30mm , AFMIKEREZRESWNFE, WHKSH, KEVNHBSERFR. IKIEE. HEEEESE
ERTEE. FTEMEEEEERSHTER,
v BFATEALRE T R TR 70 AME R, FEBRSEREMMMMTIE, i, SRR, SEHAERIX2 ~4mm,

= &F Ak R



SE-3 38

S Al Lt T

Molds Indexable Milling Cutters

AR R T R R

Mounting Dimensions of Indexable Face Mills

AZ

B 5

6X2K050
6X2A050
6X2D050
6X4S050

BEY
I

6X2K080
6X2A080
6X2D080
6L6B080
6X4S080
6X2K100
6X2A100
6X2D100
6D6B100
6L6B100
6L2K100
6X45100
6X4S125
6DKB100
6JKB100
6F2K100
6X2K125
6X2A125
6X2D125
6D6B125
6L2K125
6L6B125
6DKB125

822
10.4 A
|
= « [ : 1
1 /
; /
#12 =
$18
(#50-263)
h1 h2
39 22
49 22
39 22
48 25
d d1 h h1 b
27 45 49 28 124
27 38 49 28 124
27 38 49 28 12.4
27 38 49 27 124
27 45 48 28 124
32 55 49 28 14.4
32 45 49 28 144
32 45 49 28 144
32 45 49 32 14.4
32 60 49 27 144
32 45 48 27 144
32 50 48 28 14.4
32 75 48 28 144
32 45 49 28 144
32 45 49 28 14.4
32 45 49 28 144
40 65 49 30 164
40 55 49 30 164
40 55 49 30 164
40 65 49 28 164
40 65 49 28 164
40 62 49 32 164
40 65 49 28 164

hs

11
14
14
12

—

© © © © © © © W W 0 W W 0 W 0 0 0 0 N N N N N

d

b
| 5

| =

: =

a4

|

di

(#80-0160)

B = h1 h2
6X4S063 48 25
6X2K063 39 22
6X2A063 49 22
6X2D063 39 22
B = d d1 h
6JKB125 40 65 49
6F2K125 40 65 49
5C2K125 40 65 62
6X2K160 40 100 49
6X2K160 40 55 49
6X2D160 40 55 62
6D6B160 40 103 49
6C2K160 40 103 62
5D2U160 40 95 62
6L6B160 40 80 49
6L2K160 40 80 61
6J6B160 40 80 49
5J2K160 40 90 62
6J2K160 40 80 61
6X4S160F 40 88 48
5J2V160 40 80 60
6DKB160 40 89 49
6CKK160 40 89 62
6JKB160 40 80 49
6JKK160 40 80 61
6F2K160 40 90 61
6X4S5160 40 110 48
5C2K160 40 90 62

h1

28
28
28
30
30
30
28
38
35
30
32
30
42
43
30
43
28
38
30
43
38
30
28

16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4
16.4

hs

12
12
12
10

—

© © © © © © © © © © © © © © © © © © © © © © ©



37 5 A B 5t 7]

Molds Indexable Milling Cutters

¥R -FEE

IS FE BT R R

Mounting Dimensions of Indexable Face Mills

8177.8
B101.6 2[0LE
618 25.7 = = 25.7 4-022
s |
= ! ! | | 1 | =
= 1ERRN JHRRH =
I ! I I I I | I
B60 @60
4-618
(#200-9250) (4315-0630)
(0F:1]

8 = h h1 i = h h1 i = h h1 i = h h1
6X2D200 62 32 5J2V250 60 43 6C2K315 62 38 6CKK315 62 38
6D6B200 62 38 6J2L200 61 43 6C2K400 62 38 6CKK400 78 55
6D6B250 62 38 6J2L250 61 43 5C2K500 62 38 6CKK500 78 55
6C2K200 62 38 6X4S200 61 40 5D2U315 79 38 6JKB315 62 38
6C2K250 62 38 6X4S250 61 40 6C2L315 78 55 6JKK315 78 55
5D2U200 62 38 6DKB200 62 38 6C2L400 78 55 6JKK400 78 55
5D2U250 62 43 6DKB250 62 38 6C2L500 78 55 6JKK500 78 55
6C2L200 79 55 6CKK200 62 38 6L2K315 61 38 6F2K315 61 55
6C2L250 79 60 6CKK250 62 38 6J6B315 62 38 6F2K400 78 38
6L2K200 61 43 6JKB200 62 43 5J2K315 79 52 6F2K500 78 52
6L2K250 61 32 6JKB250 62 43 6J2K315 78 55 5C2K315 79 52
6J6B200 62 43 6JKK200 61 43 6J2K400 78 55
6J6B250 62 43 6JKK250 61 43 6J2K500 78 55
5J2K200 62 42 6F2K200 61 38 6X4S315 61 39
5J2K250 62 32 6F2K250 61 38 6X4S315F 61 39
6J2K200 61 43 5C2K200 62 32 5J2V315 60 38
6J2K250 61 43 5C2K250 62 32 6J2L315 78 55

6X4S200F 61 40 6J2L400 78 55
6X4S250F 61 40 6J2L500 78 55
5J2V200 60 43 6DKB315 62 38

SES IS



73 Al Rt T]

Molds Indexable Milling Cutters

SESS

R] FE L& 5k ] (B=7-12mm)

Indexable Narrow Slotters B
1
N |
= 1 | = o)
Bi
B B B BREH K 92 4T wF % F L
35L5A 7 n/2 LNE322KO5PH12 ~ SM40-06  78120-417 78120-417/2-2
35L5B 8 n/2 LNE323KO5PH12 ~ SM40-07  78120-417 78120-417/2-2
35L58 10 n/3 LNE323KOSPH12 ~ SM40-07 78120417 78120 417/2-2
35L5B 12 n/3 LNE323KO5PH12 ~ SM40-09*  78120-417 78120-417/2-2
% = T D B JRME e R
d d1 b t B1
840.0001.295 35L5A100-07 100 7 10 27 48 7 29.8 18
840.0002.295 35L5A125-07 125 7 12 40 58 10 435 18
840.0003.295 35L5A160-07 160 7 16 40 68 10 435 18
840.0004.295 35L5A200-07 200 7 18 50 80 12 53.5 18
840.0020.295 35L5B100-08 100 8 10 27 48 7 29.8 18
840.0021.295 35L5B125-08 125 8 12 40 58 10 435 18
840.0022.295 35L5B160-08 160 8 16 40 68 10 435 18
840.0023.295 35L5B200-08 200 8 18 50 80 12 535 18
840.0025.295 35L5B250-08 250 8 22 60 92 14 64.2 22
840.0024.295 35L5B315-08 315 8 24 60 92 14 64.2 30
840.0030.295 35L5B100-10 100 10 9 27 48 7 29.8 18
840.0031.295 35L5B125-10 125 10 12 40 58 10 435 18
840.0032.295 35L5B160-10 160 10 15 40 68 10 435 18
840.0033.295 35L5B200-10 200 10 18 50 80 12 535 18
840.0034.295 35L5B250-10 250 10 21 60 92 14 64.2 22
840.0035.295 35L5B315-10 315 10 24 60 92 14 64.2 30
840.0040.295 35L5B100-12 100 12 9 27 48 7 29.8 18
840.0041.295 35L5B125-12 125 12 12 40 58 10 435 18
840.0042.295 35L5B160-12 160 12 15 40 68 10 435 18
840.0043.295 35L5B200-12 200 12 18 50 80 12 535 18
840.0044.295 35L5B250-12 250 12 21 60 92 14 64.2 22
840.0045.295 35L5B315-12 315 12 24 60 92 14 64.2 30

7 35L5A, 35LE5BRINHEITRINL. AFW. HHTHNEEGRE. ERTRMSHI R, WHEIREME, $tIERTHER

R, EBHIK. EHRRREIIHRKE,
*$% 71 35 EEB=12mmHy 4 F A IRET,

WHHI1/3H 153 SM40-07424T,



37 5 A B 5t 7]

Molds Indexable Milling Cutters

B RR -FFF

RAIEENLFE L T] (E ivmm)

Indexable Wide Slotters

B S

35J9B
35J9B
35J9D
35J9D
35J9D
35J9K
35J9K
35J9K
35J9K

% 2
840.0100.295
840.0101.295
840.0102.295
840.0103.295
840.0104.295
840.0114.295
840.0106.295
840.0107.295
840.0108.295
840.0109.295
840.0110.295
840.0111.295
840.0112.295
840.0113.295
840.0105.295
840.0115.295
840.0116.295
840.0117.295
840.0118.295
840.0119.295

B

14
16
18
20
22
24
26
28
30

B S
35J9B160-14- |
35J9B200-14- |
35J9B250-14- |
35J9B315-14— |
35J9B200-14- ||
35J9B250-14- ||
35J9B315-14— |
35J9B400-14— |
35J9B500-14- |
35J9B630-14— ||
35J9B160-16- |
35J9B200-16- |
35J9B250-16- |
35J9B315-16- |
35J9B200-16- I
35J9B250-16- |
35J9B315-16- ||
35J9B400-16- |
35J9B500-16- I
35J9B630-16- |

7R

CNE323
CNE323
CNE44
CNE44
CNE44
CNE454
CNE454
CNE454
CNE454

160
200
250
315
200
250
315
400
500
630
160
200
250
315
200
250
315
400
500
630

ig%: =&
J B+15
7 47
SM40 - 09
SM40 - 09
SM50 - 16
SM50 - 16
SM50 - 16
SM50 - 16
SM50 - 16
SM50 - 16
SM50 - 16
B TJTIR¥=E
14 10
14 12
14 16
14 20
14 12
14 16
14 20
14 22
14 24
14 28
16 10
16 12
16 16
16 20
16 12
16 16
16 20
16 22
16 24
16 28

d
40

50
60
60
60
60
60
60
60
60
40
50
60
60
60
60
60
60
60
60

I F ] F L
78120 -417 78120 -417/2-2
78120 - 417 78120 - 417/2-2
78120 - 417 78120 - T20
78120 - 417 78120 - T20
78120 - 417 78120 - T20
78120 - 417 78120 - T20
78120 - 417 78120 - T20
78120 - 417 78120 - T20
78120 - 417 78120 - T20
ZE R
d1 de b t
— 68 10 43.5
= 80 12 53.5
— 92 14 64.2
= 92 14 64.2
101.6 130 25.7 —
101.6 130 25.7 —
101.6 130 25.7 —
101.6+177.8 221 25.7 =
101.6+177.8 221 25.7 —
101.6+177.8 221 25.7 =
— 68 10 43.5
= 80 12 53.5
— 92 14 64.2
— 92 14 64.2
101.6 130 257 —
101.6 130 25.7 =
101.6 130 25.7 —
101.6+177.8 221 25.7 —
101.6+177.8 221 25.7 —
101.6+177.8 221 25.7 —

= &F Ak R



SES IS

SR FR L T]

Molds Indexable Milling Cutters

RAI¥EALFE L T] ()

Indexable Wide Slotters

“©& =
L2

840.0120.295
840.0121.295
840.0122.295
840.0123.295
840.0124.295
840.0145.295
840.0126.295
840.0127.295
840.0128.295
840.0129.295
840.0130.295
840.0131.295
840.0132.295
840.0133.295
840.0134.295
840.0136.295
840.0137.295
840.0138.295
840.0139.295
840.0135.295
840.0140.295
840.0141.295
840.0142.295
840.0143.295
840.0144.295
840.0125.295
840.0146.295
840.0147.295
840.0148.295
840.0149.295

840.0150.295
840.0151.295
840.0152.295
840.0153.295
840.0154.295
840.0156.295
840.0155.295
840.0157.295
840.0158.295
840.0159.295
840.0160.295
840.0161.295

T

35J9D160-18- |
35J9D200-18- |
35J9D250-18- |
35J9D315-18- |
35J9D200-18- I
35J9D250-18- Il
35J9D315-18- I
35J9D400-18- I
35J9D500-18- I
35J9D630-18- Il
35J9D160-20- |
35J9D200-20- |
35J9D250-20- |
35J9D315-20- |
35J9D200-20- I
35J9D250-20- Il
35J9D315-20- I
35J9D400-20- Il
35J9D500-20- I
35J9D630-20- |I
35J9D160-22- |
35J9D200-22- |
35J9D250-22- |
35J9D315-22- |
35J9D200-22- I
35J9D250-22- |l
35J9D315-22— ||
35J9D400-22- |l
35J9D500-22- I
35J9D630-22- |l

35J9K160-24- |
35J9K200-24- |
35J9K250-24- |
35J9K315-24- |
35J9K200-24- I
35J9K250-24- |
35J9K315-24— ||
35J9K400-24- I
35J9K500-24- I
35J9K630-24- I
35J9K160-26- |
35J9K200-26- |

D

160
200
250
315
200
250
315
400
500
630
160
200
250
315
200
250
315
400
500
630
160
200
250
315
200
250
315
400
500
630

160
200
250
315
200
250
315
400
500
630
160
200

B

18
18
18
18
18
18
18
18
18
18
20
20
20
20
20
20
20
20
20
20
22
22
22
22
22
22
22
22
22
22

24
24
24
24
24
24
24
24
24
24
26
26

NR#E

10
12
16
20
12
16
20
22
24
28
10
12
16
20
12
16
20
22
24
28
10
12
16
20
12
16
20
22
24
28

10
12
16
20
12
16
20
22
24
28
10
12

40
50
60
60
60
60
60
60
60
60
40
50
60
60
60
60
60
60
60
60
40
50
60
60
60
60
60
60
60
60

40
50
60
60
60
60
60
60
60
60
40
50

d1

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

d2
68

80
92
92
130
130
130
221
221
221
68
80
92
92
130
130
130
221
221
221
68
80
92
92
130
130
130
221
221
221

68
80
92
92
130
130
130
221
221
221
68
80

b
10

12
14
14

25.7

25.7

25.7

25.7

25.7

257
10
12
14
14

25.7

25.7

25.7

25.7

257

25.7
10
12
14
14

257

25.7

25.7

257

25.7

25.7

10
12
14
14

25.7

257

25.7

25.7

257

25.7
10
12

t
43.5

53.5
64.2
64.2

43.5
53.5
64.2
64.2

43.5
53.5
64.2
64.2

43.5
53.5
64.2
64.2

43.5
53.5



37 5 A B 5t 7]

Molds Indexable Milling Cutters

B RR -FFF

AL T) (E s

Indexable Wide Slotters

% 2
840.0162.295
840.0163.295
840.0164.295
840.0166.295
840.0165.295
840.0167.295
840.0168.295
840.0169.295
840.0170.295
840.0171.295
840.0172.295
840.0173.295
840.0174.295
840.0176.295
840.0175.295
840.0177.295
840.0178.295
840.0179.295
840.0180.295
840.0181.295
840.0182.295
840.0183.295
840.0184.295
840.0185.295
840.0186.295
840.0187.295
840.0189.295
840.0188.295

v XMEGTNEERRETRTN/LASE (FRANRA. BEENR). RALSERIFVIEHS, fERiEETESEBIRk
ETHTERHE. ZBNERTFENER. ERARETEGRKS. ERARBSHITIFAHEIR, HHREHE,

I

35J9K250-26- |
35J9K315-26- |
35J9K200-26- I
35J9K250-26- I
35J9K315-26- I
35J9K400-26- |l
35J9K500-26- I
35J9K630-26- I
35J9K160-28- |
35J9K200-28- |
35J9K250-28- |
35J9K315-28- |
35J9K200-28- I
35J9K250-28- I
35J9K315-28- I
35J9K400-28- I
35J9K500-28- I
35J9K630-28- I
35J9K160-30- |
35J9K200-30- |
35J9K250-30- |
35J9K315-30- |
35J9K200-30- I
35J9K250-30- I
35J9K315-30- I
35J9K400-30- I
35J9K500-30- I
35J9K630-30- I

D

250
315
200
250
315
400
500
630
160
200
250
315
200
250
315
400
500
630
160
200
250
315
200
250
315
400
500
630

B

26
26
26
26
26
26
26
26
28
28
28
28
28
28
28
28
28
28
30
30
30
30
30
30
30
30
30
30

TNR#E

16
20
12
16
20
22
24
28
10
12
16
20
12
16
20
22
24
28
10
12
16
20
12
16
20
22
24
28

60
60
60
60
60
60
60
60
40
50
60
60
60
60
60
60
60
60
40
50
60
60
60
60
60
60
60
60

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8
101.6+177.8
101.6+177.8

d2
92

92
130
130
130
221
221
221

68

80

92

92
130
130
130
221
221
221

68

80

92

92
130
130
130
221
221
221

b
14

14
25.7
257
25.7
25.7
257
25.7
10
12
14
14
257
257
25.7
25.7
257
25.7
10
12
14
14
257
25.7
25.7
25.7
25.7
25.7

t
64.2

64.2

43.5
53.5
64.2
64.2

43.5
53.5
64.2
64.2

= &F Ak R



SESS

73 Al Rt T]

Molds Indexable Milling Cutters

RAI¥ENLIE S T] uEars)

Indexable Wide Slotters

B

= =g
L B+6
B S B 7k
35J9X 14 CDE313R01 CDE313L01
35J9X 16 CDE313R01 CDE313L01
35J9X 18 CDE323R05 CDE323L05
35J9X 20 CDE323R05 CDE323L05
35J9X 22 CDE323R05 CDE323L05
35J9X 24 CDE323R05 CDE323L05
35J9X 26 CDE323R05 CDE323L05
35J9X 28 CDE323R05 CDE323L05
35J9X 30 CDE323R05 CDE323L05
8B s B 5 D
840.0200.295 35J9X100-14- | 100
840.0201.295 35J9X125-14— | 125
840.0212.295 35J9X160-14- | 160
840.0203.295 35J9X200-14- | 200
840.0204.295 35J9X250-14- | 250
840.0205.295 35J9X315-14- | 315
840.0206.295 35J9X200-14- Il 200
840.0207.295 35J9X250-14— || 250
840.0208.295 35J9X315-14- || 315
840.0209.295 35J9X400-14- || 400
840.0210.295 35J9X500-14- | 500
840.0211.295 35J9X100-16- | 100
840.0202.295 35J9X125-16- | 125
840.0213.295 35J9X160-16- | 160
840.0214.295 35J9X200-16- | 200
840.0215.295 35J9X250-16- | 250
840.0216.295 35J9X315-16- | 315
840.0217.295 35J9X200-16- |l 200
840.0218.295 35J9X250-16- Il 250
840.0219.295 35J9X315-16- Il 315
840.0220.295 35J9X400-16- Il 400

B

14
14
14
14
14
14
14
14
14
14
14
16
16
16
16
16
16
16
16
16
16

| B e ]
1, |
d

=

L 3]

SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11
SM40 - 11

ThR#

L. A&3
i, AE4
&, A&S5
&, H&6
i, H&8
. HE10
&, H&6
i, B8
. A&10
. A&
£, AE12
. HE3
. B&4
£, BES5
&, H%&6
. &8
. A&10
., HE6
&, HE8
. H&10
. A&

B+15

27
40
40
50
60
60
60
60
60
60
60
27
40
40
50
60
60
60
60
60
60

ZHERR

d1

101.6

101.6

101.6
101.6+177.8
101.6+177.8

101.6

101.6

101.6
101.6+177.8

d2
48

68
68
80
92
92
130
130
130
221
221
48
68
68
80
92
92
130
130
130
221

b

10
10
12
14
14

25.7

257

25.7

257

25.7

10
10
12
14
14

25.7

25.7

257

25.7

t
29.8

43.5
43.5
53.5
64.2
64.2

29.8
43.5
43.5
53.5
64.2
64.2



37 5 A B 5t 7]

Molds Indexable Milling Cutters

¥R -FEE

AT LS T) uEsis)

Indexable Wide Slotters

£ =
5=

840.0221.295
840.0222.295
840.0223.295
840.0224.295
840.0225.295
840.0226.295
840.0227.295
840.0228.295
840.0229.295
840.0230.295
840.0231.295
840.0232.295
840.0233.295
840.0234.295
840.0235.295
840.0236.295
840.0237.295
840.0238.295
840.0239.295
840.0240.295
840.0241.295
840.0242.295
840.0243.295
840.0244.295
840.0245.295
840.0246.295
840.0247.295
840.0248.295
840.0249.295
840.0253.295
840.0254.295
840.0252.295
840.0250.295
840.0251.295
840.0257.295
840.0258.295
840.0259.295
840.0260.295
840.0261.295
840.0262.295
840.0263.295
840.0264.295
840.0265.295

B S

35J9X500-16- I
35J9X100-18- |
35J9X125-18- |
35J9X160-18- |
35J9X200-18- |
35J9X250-18- |
35J9X315-18- |
35J9X200-18- I
35J9X250-18- I
35J9X315-18- I
35J9X400-18- I
35J9X500-18- I
35J9X100-20- |
35J9X125-20- |
35J9X160-20- |
35J9X200-20- |
35J9X250-20- |
35J9X315-20- |
35J9X200-20- I
35J9X250-20- |l
35J9X315-20- I
35J9X400-20- Il
35J9X500-20- I
35J9X100-22- |
35J9X125-22- |
35J9X160-22- |
35J9X200-22- |
35J9X250-22- |
35J9X315-22- |
35J9X200-22- |
35J9X250-22- |
35J9X315-22- I
35J9X400-22- |
35J9X500-22- I
35J9X160-24- |
35J9X200-24- |
35J9X250-24- |
35J9X315-24- |
35J9X200-24- I
35J9X250-24- |
35J9X315-24- ||
35J9X400-24- I
35J9X500-24- I

500
100
125
160
200
250
315
200
250
315
400
500
100
125
160
200
250
315
200
250
315
400
500
100
125
160
200
250
315
200
250
315
400
500
160
200
250
315
200
250
315
400
500

16
18
18
18
18
18
18
18
18
18
18
18
20
20
20
20
20
20
20
20
20
20
20
22
22
22
22
22
22
22
22
22
22
22
24
24
24
24
24
24
24
24
24

TR#

. H&12
. AE3
i, AE4
&, A&5
. A6
i, 78
. H&10
. H%&6
i, RS
. H&10
. AEN
. HE12
£, HE3
. H&4
. A&5
., H&6
. h&8
. H&10
i, H&6
. A8
. H&10
. A&
&, A&12
&, HE3
. BH&4
. AES5
i, HE6
., H&8
. H&10
i, 76
. H&8
. H&10
. A&
. H&12
%6, A3

%8, H4

%10, &5
%12, A6
%8, H4

%10, &5
12, A6
14, &7
%16, A8

60
27
40
40
50
60
60
60
60
60
60
60
27
40
40
50
60
60
60
60
60
60
60
27
40
40
50
60
60
60
60
60
60
60

50
60
60
60
60
60
60
60

ZER

di d2
101.6+177.8 221
— 48

— 68

— 68

— 80

— 92

— 92
101.6 130
101.6 130
101.6 130
101.6+177.8 221
101.6+177.8 221
— 48

— 68

— 68

— 80

— 92

— 92
101.6 130
101.6 130
101.6 130
101.6+177.8 221
101.6+177.8 221
— 48

— 68

— 68

— 80

— 92

— 92
101.6 130
101.6 130
101.6 130
101.6+177.8 221
101.6+177.8 221
— 68

— 80

— 92

— 92
101.6 130
101.6 130
101.6 130
101.6+177.8 221
101.6+177.8 221

25.7

10
10
12
14
14

25.7

25.7

257

25.7

25.7

10
10
12
14
14

25.7

25.7

25.7

257

25.7

10
10
12
14
14
25.7
257
25.7
257
25.7
10
12
14
14
257
25.7
25.7
25.7
25.7

29.8
43.5
43.5
53.5
64.2
64.2

29.8
43.5
43.5
53.5
64.2
64.2

29.8
43.5
43.5
53.5
64.2
64.2

43.5
53.5
64.2
64.2

SES IS



SESS

73 Al Rt T]

Molds Indexable Milling Cutters

RAI¥EALIE S T s ais)

Indexable Wide Slotters

o = 1 = Rk R~
=z 25 D | et d di & b t
840.0268.295 35J9X160-26—- | 160 26 A6, A3 40 — 68 10 43.5
840.0269.295 35J9X200-26- | 200 26 =8, H4 50 — 80 12 53.5
840.0270.295 35J9X250-26—- | 250 26 #10. A5 60 — 92 14 64.2
840.0271.295 35J9X315-26—- | 315 26 12, £H6 60 — 92 14 64.2
840.0272.295 35J9X200-26- |l 200 26 A8, H4 60 101.6 130 25.7 —
840.0273.295 35J9X250-26- || 250 26 #£10. A5 60 101.6 130 25.7 —
840.0274.295 35J9X315-26- || 315 26 12, /6 60 101.6 130 25.7 —_
840.0275.295 35J9X400-26- |l 400 26 E14, /7 60 101.6+177.8 221 25.7 =
840.0276.295 35J9X500-26- || 500 26 #x16. A8 60 101.6+177.8 221 25.7 —
840.0279.295 35J9X160-28- | 160 28 A6, A3 40 — 68 10 43.5
840.0280.295 35J9X200-28- | 200 28 A8, H4 50 — 80 12 53.5
840.0281.295 35J9X250-28- | 250 28 #£10. A5 60 — 92 14 64.2
840.0286.295 35J9X315-28- | 315 28 12, /6 60 — 92 14 64.2
840.0284.295 35J9X200-28- Il 200 28 =8, H4 60 101.6 130 25.7 =
840.0285.295 35J9X250-28- || 250 28 #10. A5 60 101.6 130 25.7 —
840.0282.295 35J9X315-28- || 315 28 12, H6 60 101.6 130 25.7 —
840.0283.295 35J9X400-28- |l 400 28 K14, /7 60 101.6+177.8 221 25.7 —
840.0287.295 35J9X500-28- || 500 28 #x16. A8 60 101.6+177.8 221 25.7 —
840.0299.295 35J9X160-30- | 160 30 A6, A3 40 — 68 10 43.5
840.0291.295 35J9X200-30- | 200 30 =8, H4 50 — 80 12 53.5
840.0292.295 35J9X250-30- | 250 30 #10. A5 60 — 92 14 64.2
840.0293.295 35J9X315-30- | 315 30 12, H6 60 — 92 14 64.2
840.0294.295 35J9X200-30- I 200 30 %8, H4 60 101.6 130 25.7 —
840.0295.295 35J9X250-30- || 250 30 #£10. A5 60 101.6 130 25.7 —
840.0296.295 35J9X315-30- || 315 30 12, H6 60 101.6 130 25.7 —_
840.0297.295 35J9X400-30- |l 400 30 E14, /7 60 101.6+177.8 221 25.7 =
840.0298.295 35J9X500-30- |l 500 30 #16. A8 60 101.6+177.8 221 25.7 —
$HF78120-417 . HFX78120-417/2-2
b S5JOXEBEWERNBLASE, MEAMN, TAIMEG, BEBNEENE, EATMIHESNE.

* BEMARBSHIRE, TUMIN. %, $6€. FTENREEMSEGEIARERES,



A

I3 A S5 {5t 7]

Molds Indexable Milling Cutters

B RR -FFF

AT VIESET)
Indexable Finishing Wide Slotters
B

U
35FBB -
35FBB -
35FBB -
35FBB -
35FBB -
35FBB -
35FBB -
35FBB -
35FBB -

B 5
840.0300.295
840.0301.295
840.0302.295
840.0303.295
840.0304.295
840.0305.295
840.0306.295
840.0307.295
840.0310.295
840.0311.295
840.0312.295
840.0313.295
840.0314.295
840.0315.295
840.0316.295
840.0317.295
840.0320.295
840.0321.295
840.0325.295
840.0323.295

B

14
16
18
20
22
24
26
28
30

B+6
B & &
I 257

CNES323R08 SM40-09
CNE323R08 SM40 - 09
CNE44R08 SM50-16
CNE44R08 SM50-16
CNE44R08 SM50-16
CNE454R08 SM50-16
CNE454R08 SM50- 16
CNE454R08 SM50- 16
CNE454R08 SM50-16

i
35FBB160-14- |
35FBB200-14- |
35FBB250-14- |
35FBB200-14~ ||
35FBB250-14~ ||
35FBB315-14- ||
35FBB400-14- I
35FBB500-14- |
35FBB160-16- |
35FBB200-16- |
35FBB250-16- |
35FBB200-16- |l
35FBB250-16- Il
35FBB315-16- |
35FBB400-16- |l
35FBB500-16- |l
35FBB160-18- |
35FBB200-18- |
35FBB250-18- |
35FBB200-18- |

D

160
200
250
200
250
315
400
500
160
200
250
200
250
315
400
500
160
200
250
200

B f—
;-
= —@:1— =
i )
7] 52 5T
YDA323R110 YDA323L110 SM40 —11
YDA323R110 YDA323L110 SM40 - 11
YDA323R110 YDA323L110 SM40 - 11
YDA323R110 YDA323L110 SM40 — 11
YDA323R110 YDA323L110 SM40 - 11
YDA323R110 YDA323L110 SM40 - 11
YDA323R110 YDA323L110 SM40 —11
YDA323R110 YDA323L110 SM40 — 11
YDA323R110 YDA323L110 SM40 — 11
- bk z ¥ R <
EA%E wm&E d d1 do b
14 8 &2 40 — 68 10
14 8 &2 50 — 80 12
14 12 &2 60 — 92 14
14 8 &2 60 101.6 130 25.7
14 12 &2 60 101.6 130 257
14 12 &2 60 101.6 130 257
14 16 &2 60 101.6+177.8 221 257
14 20 &2 60 101.6+177.8 221 257
16 8 &2 40 — 68 10
16 8 &2 50 — 80 12
16 12 &2 60 — 92 14
16 8 &2 60 101.6 130 257
16 12 &2 60 101.6 130 25.7
16 12 &2 60 101.6 130 25.7
16 16 &2 60 101.6+177.8 221 257
16 20 &2 60 101.6+177.8 221 257
18 &2 40 — 68 10
18 &2 50 — 80 12
18 12 &2 60 — 92 14
18 &2 60 101.6 130 25.7

t
435

53.5
64.2

43.5
53.5
64.2

43.5
53.5
64.2

= &F Ak R



SR FR L T]

Molds Indexable Milling Cutters

R AL AE VIR HE T

Indexable Finishing Wide Slotters

SES IS

® = o= D TFR# ¥ R =F
BEREE Wi d d1 de2 b t
840.0324.295 35FBB250-18- | 250 18 12 &2 60 101.6 130 25.7 —
840.0322.295 35FBB315-18- | 315 18 12 &2 60 101.6 130 25.7 =
840.0326.295 35FBB400-18- || 400 18 16 £2 60 101.6+177.8 221 25.7 —
840.0327.295 35FBB500-18- | 500 18 20 &2 60 101.6+177.8 221 25.7 —
840.0330.295 35FBB160-20- | 160 20 8 &2 40 — 68 10 43.5
840.0331.295 35FBB200-20- | 200 20 8 £2 50 — 80 12 53.5
840.0332.295 35FBB250-20- | 250 20 12 &2 60 — 92 14 64.2
840.0333.295 35FBB200-20- || 200 20 8 &2 60 101.6 130 25.7 =
840.0336.295 35FBB250-20- || 250 20 12 £2 60 101.6 130 25.7 —
840.0335.295 35FBB315-20- Il 315 20 12 &2 60 101.6 130 25.7 —
840.0334.295 35FBB400-20- || 400 20 16 &2 60 101.6+177.8 221 25.7 —
840.0337.295 35FBB500-20- Il 500 20 20 £2 60 101.6+177.8 221 25.7 =
840.0340.295 35FBB160-22—- | 160 22 8 &2 40 — 68 10 43.5
840.0341.295 35FBB200-22- | 200 22 8 &2 50 — 80 12 53.5
840.0344.295 35FBB250-22- | 250 22 12 £2 60 — 92 14 64.2
840.0345.295 35FBB200-22—- | 200 22 8 &2 60 101.6 130 25.7 —
840.0342.295 35FBB250-22—- || 250 22 12 &2 60 101.6 130 25.7 —
840.0343.295 35FBB315-22— || 315 22 12 £2 60 101.6 130 25.7 =
840.0346.295 35FBB400-22- || 400 22 16 &2 60 101.6+177.8 221 25.7 —
840.0347.295 35FBB500-22— || 500 22 20 &2 60 101.6+177.8 221 25.7 =
840.0350.295 35FBB160-24- | 160 24 8 £2 40 — 68 10 43.5
840.0351.295 35FBB200-24- | 200 24 8 &2 50 = 80 12 53.5
840.0352.295 35FBB250-24- | 250 24 12 &2 60 — 92 14 64.2
840.0353.295 35FBB200-24- Il 200 24 8 &2 60 101.6 130 25.7 =
840.0356.295 35FBB250-24- || 250 24 12 &2 60 101.6 130 25.7 —
840.0355.295 35FBB315-24— || 315 24 12 &2 60 101.6 130 25.7 =
840.0354.295 35FBB400-24- || 400 24 16 £2 60 101.6+177.8 221 25.7 —
840.0357.295 35FBB500-24— || 500 24 20 &2 60 101.6+177.8 221 25.7 —
840.0360.295 35FBB160-26- | 160 26 8 &2 40 — 68 10 43.5
840.0361.295 35FBB200-26- | 200 26 8 £2 50 — 80 12 53.5
840.0362.295 35FBB250-26- | 250 26 12 &2 60 — 92 14 64.2
840.0363.295 35FBB200-26- || 200 26 8 &2 60 101.6 130 25.7 =
840.0364.295 35FBB250-26- || 250 26 12 £2 60 101.6 130 25.7 —
840.0365.295 35FBB315-26- Il 315 26 12 &2 60 101.6 130 25.7 —
840.0366.295 35FBB400-26- || 400 26 16 &2 60 101.6+177.8 221 25.7 —
840.0367.295 35FBB500-26- Il 500 26 20 £2 60 101.6+177.8 221 25.7 =
840.0370.295 35FBB160-28- | 160 28 8 &2 40 — 68 10 43.5
840.0371.295 35FBB200-28- | 200 28 8 &2 50 — 80 12 53.5
840.0372.295 35FBB250-28- | 250 28 12 £2 60 — 92 14 64.2
840.0373.295 35FBB200-28- || 200 28 8 &2 60 101.6 130 25.7 —
840.0374.295 35FBB250-28- || 250 28 12 &2 60 101.6 130 25.7 —
840.0375.295 35FBB315-28- Il 315 28 12 &2 60 101.6 130 25.7 =
840.0376.295 35FBB400-28- || 400 28 16 &2 60 101.6+177.8 221 25.7 —



S A ERIEET] 2 A R = S 3

Molds Indexable Milling Cutters

RIEEALIE YIRS

Indexable Finishing Wide Slotters

% = o2 D B TR # Z % R ~f
BEE wm&E d d1 d2 b t
840.0377.295 35FBB500-28- Il 500 28 20 £2 60 101.6+177.8 221 25.7 —
840.0380.295 35FBB160-30- | 160 30 8 &2 40 — 68 10 43.5
840.0381.295 35FBB200-30- | 200 30 8 &2 50 — 80 12 53.5
840.0382.295 35FBB250-30- | 250 30 12 £2 60 — 92 14 64.2
840.0383.295 35FBB200-30- Il 200 30 8 &2 60 101.6 130 25.7 —
840.0384.295 35FBB250-30- Il 250 30 12 &2 60 101.6 130 25.7 =
840.0385.295 35FBB315-30- Il 315 30 12 &2 60 101.6 130 25.7 —
840.0386.295 35FBB400-30- Il 400 30 16 &2 60 101.6+177.8 221 25.7 =
840.0387.295 35FBB500-30- Il 500 30 20 &2 60 101.6+177.8 221 25.7 —

{RF78120-417 . HFL78120-417/2-2 . 78120-T20
v 35FBBZRFIEMA T3 THMER BTSN I, ErmMNEiEREERARal3.2 - Ral.6,
Yo SR EERTAZFRERPAERBITIZTHIE,

= &F Ak R



€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

o SF A% Rt

AR A TI 5L 7] (wEwia)

Indexable Half Side Milling Cutters

L
i 3
1o o I
= —L =g
— | B
3 ZRRT

= iU = D B d2 H#H JTHES 847 7 2 ;
840.0200.294  25J9X125 125 20 58 8 CDE323R05 SM40-11 40 10 435
841.0201.294  25J9X125L 125 20 58 8 CDE323L05 SM40-11 40 10 435
840.0202.294  25J9X160 160 20 68 10 CDE323R05 SM40-11 40 10 435
841.0203.294  25J9X160L 160 20 68 10 CDE323L05 SM40-11 40 10 435
840.0204.294  25J9X200 200 25 80 12 CDE323R05 SM40-11 50 12 535
841.0205.294  25J9X200L 200 25 80 12 CDE323L05 SM40-11 50 12 535
840.0206.294  25J9X250 250 25 92 16 CDE323R05 SM40-11 60 14 64.2
841.0207.294  25J9X250L 250 25 92 16 CDE323L05 SM40-11 60 14 642

WF78120-417 . RF%78120-417/2-2
w25JOXRFIERTRAMNAEGMITEMENERFE, ZHRNEFERNEMALMSH, MHNDN, RESHREIRE. ERTEME
SHMIIR, AHMIN., F%. KE6E. TERNRETHSEGS. GAeHFRERS,



37 5 A B 5t 7]

Molds Indexable Milling Cutters

B R ARA-FEE

AR AL E TIBET] (Efnwrsm)

Indexable Half Side Milling Cutters

%# 8 m=s D
840.0300.294 25J9D125 125
841.0301.294 25J9D125L 125
840.0302.294 25J9D160 160
841.0303.294 25J9D160L 160
840.0304.294 25J9D200 200
841.0305.294  25J9D200L 200
840.0306.294 25J9D250 250
841.0307.294 25J9D250L 250

B

20
20
20
20
25
25
25
25

d2

58
58
68
68
80
80
92
92

IHF78120-417

#RF£78120-T20

_jefl] | = I
B
e 7 )23 i 4T ZERRS
s d b t
8 CNE44 SM50-16-T20 40 10 43.5
8 CNE44 SM50-16-T20 40 10 43.5
10 CNE44 SM50-16-T20 40 10 43.5
10 CNE44 SM50-16-T20 40 10 43.5
12 CNE44 SM50-16-T20 50 12 53.5
12 CNE44 SM50-16-T20 50 12 53.5
16 CNE44 SM50-16-T20 60 14 64.2
16 CNE44 SM50-16-T20 60 14 64.2

*25JODRFIEAFREMFASMIZHANERTE, ZHENEFENMEERA. HNREERA, THRIEH, TASREHEIER

R BeREME,

SES S



SESS

73 Al Rt T]

Molds Indexable Milling Cutters

RI 353 B2 e ST HET)

Indexable Helical End Mills

26J3L

DINZ0&D

% 8 n g D L L L namm 2%
SPE55R02
840.0171.293 26J4P063 - 065 63 240 113 65 4 8
840.1124.293 26J4P063 — 090 63 265 138 90 4 14
840.1183.293 26J4P080 - 100V 80 277 150 100 4 16
840.0123.293 26J4P080 - 100W 80 277 150 100 6 24
840.0169.293 26J4P100 - 118W 100 297 170 118 6 30
AN Ey
840.1125.293 26J4P063 - 140 63 320 193.5 140 4 26
840.1126.293 26J4P080 - 200V 80 380 253 200 4 38
840.1257.288 26J4P080 - 200W 80 380 253 200 6 57
% 2 T D L L L 7 2
SPE55R02
840.0135.293 26J4P063-065 WST50 63 215 113 65 4 8
840.1156.293 26J4P063-090 WST50 63 240 138 90 4 14
840.1157.293 26J4P080-100V WST50 80 252 150 100 4 16
840.0136.293 26J4P080-100W WST50 80 252 150 100 6 24
840.1197.293 26J4P100-118W WST50 100 272 170 118 6 30
i< By
840.1155.293 26J4P063-140 WST50 63 295 193.5 146 4 26
840.0137.293 26J4P080-200V WST50 80 355 253 200 4 38
840.0138.293 26J4P080-200W WST50 80 355 253 200 6 57
% = o2 D L L Lo 713 Ak
SPE 55R02
840.1193.293 26J4P063 - 065 JT50 63 215 113 65 4 8
840.0176.293 26J4P063 - 090 JT50 63 240 138 90 4 14
840.0178.293 26J4P080 - 100V JT50 80 252 149.5 100 4 16
840.0174.293 26J4P080 - 100W JT50 80 252 149.5 100 6 24
840.0185.293 26J4P100 - 118W JT50 100 272 170 118 6 30
N4 Ay
840.1192.293 26J4P063 - 140 JT50 63 295 193.5 140 4 26
840.1148.293 26J4P080 - 200V JT50 80 360 258 200 4 38

840.9187.293  26J4P080 - 200W JT50 80 360 258 200 6 57



S FE Rl ERAIEET)

Molds Indexable Milling Cutters

3RS U SR & e 3

A SR YERESL 55T

Indexable Helical End Mills

* = B 5 D L L1 L2 7] 8 B R
SPE55R02

840.1195.293  26J4P063 - 065 BT50 63 235 133 65 4 8
840.1186.293  26J4P063 - 090 BT50 63 260 158 90 4 14
840.0166.293  26J4P080 - 100V BT50 80 270 168.4 100 4 16
840.0167.293  26J4P080 - 100W BT50 80 270 168.4 100 6 24
840.1196.293  26J4P100 - 118W BT50 100 292 190 118 6 30
fni<E
840.1152.293  26J4P063 - 140 BT50 63 316 213.5 146 4 26
840.1145.293  26J4P080 - 200V BT50 80 377 275 200 4 38
840.1194.293  26J4P080 - 200W BT50 80 377 275 200 6 57

% 2 Whame D 7 8 2 i 0 42 4T

SPE55R02 SPE55R03
840.0131.293 26J3L063-030 63 4 4 2 70070-434
840.0130.293 26J3L080-030V 80 4 4 2 70070-435
840.2257.288 26J3L080-030W 80 6 6 3 70070-435
840.0132.293 26J3L100-030W 100 6 6 3 70070-435
= o = . 7] )23 . K 0 5T

% =5 CIE: S %k D 7IiA# — 7 T i EH2ET WS ME
840.0143.293 26J3M063-030 63 4 2 2 2 70070-434M GB71-85M5%x8 2
840.0140.293 26J3M080-030V 80 4 2 2 2 70070-435M GB71-85M5x8 2
840.0141.293 26J3M080-030W 80 6 3 3 3 70070-435M GB71-85M5x8 2
840.0142.293 26J3M100-030W 100 6 B 3 S 70070-435M GB71-85M5%x8 2

B24TSM50 — 16 — T20 3RF78120 - 417 |/FL78120 - T20
% 26J4PR%, EATFEMYKLHITAVIR. KETNHKIELEME. HIBEIHETILIMETHRE, &4

SLERIRIART, FIAREE R, EAAFEWMERKIES, AI#kH26J3LF126J3MAEHH, 26J3LIiE A FHEHI
N EREHEREIERKHNAEME, 26J3MimEYIEIEEm—E, SR THAlTRSREHERANEME,
TIH T B ARG AT Sk Fndy SR RST, AP RIRIEE KRB miT 5%,

26J4P R FIHIIREREI R A DIN2080 ( 5GB / T3837. 1S0297%%] ) 5054, MAFAEEH
RITEEHEERWREIRERS

ERRERRERE

SES IS



SR FE (U T

Molds Indexable Milling Cutters

@ﬁms RIBEL

NS
GENERTEC HMC

¥

A SR (ISR RESL R T)

Indexable Helical End Mills

840.0100.293 26J1J032-044 2 1

840.0101.293 26J1J040-051 40 40 150 80 51 4 2 12
840.0102.293 26J1J050-059 50 50 170 90 59 4 2 14
840.0103.293 26J1J050-080 50 50 190 110 80 4 2 20

12$TSM40-09 . #RF78120-417 . IRFK78120-417/2-2
w 26JIURSIETESHMUUKR ESHIYE, ANHEH. ERARBSHIIATNIEMN, %, FELE, SRKGETREERES,

]l



—Jﬂ:
Molds ;gﬁgé%zg Cutters 'k:j- 1i 7]‘ . 'k:j' :‘t 7;%

EX AR RE L BET]

Indexable Helical End Mills with Hole

840.0300.293  26UIM063-047 63 70 14.4 2 2
840.0301.293 26UIM080-064 80 80 64 18 45 32 18 26 144 6 15 3 3
840.0302.293 26UIM100-084 100 100 84 22 55 40 22 56 164 6 21 3 3
840.0303.293 26U1M125-092 125 110 92 26 60 50 26 82 184 8 30 4 4
840.0304.293 26U1M160-070 160 104 70 30 60 60 33 100 257 10 30 5 5

#2£TSM50 - 16 - T20 . #RF78120-417 . HF%78120-T20
#26UTMZRFI, EAFEXRIENAEK L, ARAETHNELMENE, FRARBNTIF, AERARIEMNIHER,
wEMARMSWIIE, AIMIHE., H%k. GBEEESMMHE,




SR FE (U T

Molds Indexable Milling Cutters

@%ﬁmm&g

\
GENERTEC HMC

¥

AT 35 (3L 755 S R 1 37 558 7]

Indexable High Efficiency Helical End Mills

6

840.0200.293  29J2A032-050V21 135 2 2 SM40-11
840.0201.293  29J2A032-050W21 32 32 135 75 48 3 3 SM40-11
840.0202.293  29J2A040-050V22 40 40 150 80 48 3 3 SM40-11
840.0203.293 29J2A040-050W22 40 40 150 80 48 4 4 12 SM40-11

RF78120-417 . HF 78120 - 41

[l



S A EE IR T B R R-F %%

Molds Indexable Milling Cutters ¢

R 35 3L 155 MR HE 37 558 7]

Indexable High Efficiency Helical End Mills

DINGSBT7I-A

B H
% = ME D L L L gy AEAR BREIR
ZDE324K08 CDE322LKH03

840.0207.293 29J2A050-060V07 50 202 100 60 3 3 12 SM40-11
840.0205.293 29J2A050-060WO07 50 202 100 60 4 4 16 SM40-11
840.0206.293 29J2A050-060X07 50 202 100 60 5 5 20 SM40-11
840.0209.293 29J2A063-072V07 63 215 113 72 4 4 20 SM40-11
840.0211.293 29J2A063-095V07 63 240 138 95 4 4 28 SM40-11
840.0210.293 29J2A063-072WO07 63 215 113 72 5 5 25 SM40-11
840.0213.293 29J2A063-095W07 63 240 138 95 5 5 35 SM40-11
840.0214.293 29J2A063-072X07 63 215 113 72 6 6 30 SM40-11
840.0215.293 29J2A063-095X07 63 240 138 95 6 6 42 SM40-11
840.0216.293 29J2A080-095V07 80 252 150 95 5 5 35 SM40-11
840.0217.293 29J2A080-095W07 80 252 150 95 6 6 42 SM40-11

WF78120-417 . |WF%78120-417/2-2
¥ 20J2ARFIE R FEKRNRYEK L SHEEIIE. aME. EERME, ERARBSHIRTNIEMHN, Hik. 68€E, 818
KREENHEEE, 5S—RWEMBRIGTILE, ZRDANEEN—ES, FHEGEIEM2 ~ 2,515, $HIMHEK, 7R
¥R PR KT #liE,

S S 3 et



€ BRBARELD 37 3¢ A $E 5t )

GENERTEC HMCT Molds Indexable Milling Cutters

= SF ikt

AR LI 5% T)

Indexable End Mills

Lt

[a——
\
= fifffifif—ffft’
|
\
£ =5 B S D d L Lt & kR 25T Y1iRa

840.0003.293 16J1A025 25 25 95 39 3 CDE322R01=CDE322R04 SM40 - 07 10
840.0004.293 16J1A032 32 25 95 39 3 CDE322R01=CDE322R04 SM40 — 07 10
840.0005.293 16J1A040 40 25 95 39 4 CDE322R018{CDE322R04 SM40 - 07 10
840.0012.293 16J1D025 25 25 95 39 2 CDE334R01=CDE334R04 SM40 — 09 18
840.0013.293 16J1D032 32 25 95 35 3 CDE334R01=CDE334R04 SM40 — 11 18
840.0014.293 16J1D040 40 32 100 40 4 CDE334R018;{CDE334R04 SM40 - 11 18

IRF78120-417. WF£78120-417/2-2
ZHNEEHARTREYIEHS, ZZVIETIES, ES5RENETIETEIP LIRS, ERABHARNTIFATMI SR, %
ﬁu%ﬁuﬁ BMFE. ARE. CEMIG,
YR TI16J1ARFIH T $5CDE322R01 71 K, MFHEEIT TR 3 E £ 71 F CDE322R04,
*$£T116J1DRFIH [ 3CDE334R01 71 i, 4% T EITLRFAR % J1HFCDE334R04,



37 5 A B 5t 7] AR -FE2F

Molds Indexable Milling Cutters

AT TEVRESE T

Indexable T-type Grooving Mills

L1

%« =2 ®=2 D d & L L Lz%ﬂﬁ&%ﬁ%ﬂﬁﬂ%ﬁ%

840.0001.294 16T18 31 32 16 112 46 13 2/1 CDE313R01 1 CDE313L0O1 1
840.0002.294 16T22 38 32 20 121 55 17 4/2 CDES313R01 2 CDE313L01 2
840.0003.294 16T28 48 32 26 129 65 21 4/2 CDE323R05 2 CDES323L05 2
840.0004.294 16T32 55 32 30 132 70 23 4/2 CDE323R05 2 CDES323L05 2
840.0005.294 16T36 58 32 31 133 71 26 6/2 CDE313R01 2 CDE313L01 4
840.0006.294 16T42 70 40 39 157 85 33 12/3 CDE313R01 6 CDE313L01 6
840.0007.294 16T48 82 40 39 167 95 38 12/3 CDE323R05 6 CDE323L05 6

#25TSM40 — 09 $RF78120-417 IRFL78120-417/2 -2
FIGTRIIEFUTHE S MEFEENIARANEBE, TUNIN. 6<M. #%.
(2B TIINEE R T IRIEE RAFAGB158-84181T, MTHMTREEFEERTE,
* RATEREGEE THEASEN T, BERSENNITEEN, BEHESSET D HSER A THE,

SES S



o SF A% Rt

37 3 Al BE {5t T

Molds Indexable Milling Cutters

AIEE LI 3R T] (Emmase )

Indexable End Mills

£ =
L=

840.0030.293
840.0031.293
840.0032.293
840.0033.293

B s D
670C10 25
670C15 40
670C20 50
670C20-16 50

H2£TSM40 - 09 |

YRS TTRARIFHNME, &
B FAEVIHI

R BEHABERIOVRESRIBERERE,

YR BETIERIE M T A0 EF AEEMEAMI T RFLE45° #lf, SistHIEEENEO,

D1

46
61
71
92

25
25
32
50

90
90
90
120

RFE78120-417 .
BHIBIXE, ERTAERNEGMARER AR LSEHTESE A, EMIE&ERRBENER

™

L1

30
30
30
39

TIRE/ERAE
4/4
4/4

6/6
6/3

MFL78120-417/2 -2

16

TRES

LSE323R02
LSE323R02
LSE323R02
LSE323R02



—4:|:
Molds ;ﬁggé%zg Cutters 'k:j' 1)}( 7]‘ . ‘!6‘ .'fE }‘%

ISR Rt T

Indexable Chamfer Mills

840.0040.293 670C15-30° 4  LSE323R02 SM40-09
840.0041.293 670C15-45° 40 60 25 45° 9 90 34 4  LSE323R02 SM40-09
840.0042.293 670C15-60° 0° 4  LSE323R02 SM40-09
840.0043.293 670C15-30° A 4 LND424K05 SM50-13
840.0044.293 670C15-45° A 40 72 32 45° 12 94 34 4 LND424K05 SM50-13
840.0045.293 670C15-60° A 0° LND424K05 SM50-13
840.0046.293 670C15-30° B 113 4/2  LNE323-02 SM40-09
840.0047.293 670C15-45° B 40 75 40 45° 17 113 43 4/2  LNE323-02 SM40-09
840.0048.293 670C15-60° B 40 64 40 60° 21 113 43 4/2  LNE323-02 SM40-09

WF78120-417 . #RFK78120-417/2-2
ﬁﬁ%ﬁﬂﬂﬁaﬂﬁ’mu'& BERBIEFEBRIIIRIRE, EATMI30° | 45° | 60° i, =MRIIFRERVIRATFHERE, ZE
AENTHET), REATMIER,




o SF A% Rt

€ BRBARELD 37 3¢ A $E 5t )

Molds Indexable Milling Cutters

AT i (MR LA L 7T

Indexable Internal Thread Mills

Li

SK
|
1

— s Tg*aﬁ? NBE mpig

840.0100.296 NLD032-41  ABS32 52-63 5.5 41 225 20
840.0101.296 NLD040-51 ABS40 64-76 5.5 51 285 25
840.0102.296 NLD050-60 ABS50 77-95 6.5 60 285 25
840.0103.296 NLD063-80 ABS63 96-115 6.5 80 28.5 25
840.0104.296 NLD080-96 ABS80 116-140 6.5 96 285 25
840.0105.296 NLD100-112 ABS100 141-180 6.5 112 385 35
840.0106.296 NLD80-112A ABS80 141-180 10 112 40 35

® o o O » b B

WAL NIBGER G TR AT, BMIAREENBEIHNSHIIEI TR, mERTIEMIe0 HERANIRE, &
ERIFIHHIE
KBTI RATAEMAIR, ZTIEEGHLHRS.

24T

EEEE PradrdE o NRES BEPER
92.40.001.04/92.40.003.04 15-3/3-55 SM35-09
92.40.101.04/92.40.103.04 15-3/3-65 SM50-16-T20
92.40.101.04/92.40.103.04 15-3/3-65 SM50-16-T20
92.40.101.04/92.40.103.04 15-3/3-65 SM50-16-T20
92.40.101.04/92.40.103.04 15-3/3-65 SM50-16-T20
92.40.101.04/92.40.103.04 15-3/3-65 SM50-16-T20
92.40.203 04/92.40.206.04 4-65/6-10 SM50-19-T20

ERERERR



SR FE (U T B RARA-FEE

Molds Indexable Milling Cutters

RIEEALAHEE T]

Indexable Rough Mills

<
& =

wAEAHEE T A FRELZDV. ABIUSEREEEHLANENT., BFIAVIERE, ARZRANTIEA, SEETNEE
0.5mm, HREHTIHINE, ITHEAAFRIFLOMIER, RERT. WNIHRE EITRHERES




SESS

@, AR ABEAT I 3E R]EREALEET]

Molds Indexable Milling Cutters

%< Al R St 714 A i3t AR

AERPEAEMIEA. EARAAEFTWIIETEMSRT, BBER. ERAFLEB2MERAIE
Ti5RR
1. ZEMEMENREADNERAERIGITEMHARDMNERT, ERMERBUTERLERE:
(1) ERVKRIIRA KRN,
(2) MIEZENIE,
(3) MURTIEBER,
(4) MITHR#E. IR, MIL£E. MIBEERE,
RIEAPARNERRERL, BRARATHBEHSENAR, EHINEAESIEFNLIE, AAPCEEY
HI&E TR
2. BEADBFRIINETIEM. RIS, IFEHEARNER. BE. RERTREECRETIE, AIREA
FPHIEZE R ACAD/CAMtTIZITHIE, HAFHNTIERSEE L'WALRT], RERE"E'RAMKE,
3. NEFEMBEIMERANIIEATATNE, RARSIHTHOESE, MIHMTIERTHEETRIESTIN
ZARKERME, EARAAESHNIIE, THIREAFEAR AT RE,
4. STEFEMSKETINMYE, ARATNEIRE, i, BHE. RFLEEFNREOMNEARER,
5 $kTMMERERES, ZEEIMIRER, RAFARBIRTANERL, AR HITEE,
6. PETMERETER, KEBETHIERIEAIEIR, NRERBITRET] R AIRENEST, WARH LA TSRS
BICRRAM T AERE
(1) RN FEIZSTAEITH —F RGO, REBFESTHFEZHT, MFEET,
(2) BETIRIF BRI IZETHT RAE TIE R RITER, "TRE KR HURGBETITH,
7. ARIETIREEBETERNERRERASEFESEHFE, BIERT EAE. BRriEEE, e

ZHER A,

MEF RS TIVIEIAEEER
SEHAR (BHR/E)

W OE *EEEﬁEfE MHIEE (K/5) TEGET]. T e
RUBEE w4 B % mwR  EWR
7223 HB
1RREE <170 60-90 90 - 120 05-1.2 0.3-0.9 0.15-0.4
HREE 170-180 55-80 75-105 0.3-1.0 0.3-0.8 0.1 -0.3
S 220 - 300 45 - 60 60 - 90 0.2-0.8 0.2-0.6 0.1 -0.2
| N/mm2
— 55K 400 - 700 120 - 240 150 — 300 0.3-1.0 0.2-0.8 0.15- 0.4
REEA £ 500 - 800 90 - 180 120 - 240 0.3-0.9 0.2-0.8 0.1 -0.3
g & & 800 — 1100 60 — 120 60 - 120 0.3-0.8 0.2-0.6 0.1 - 0.25
EEE LW 1100 - 1400 25 - 60 30 - 90 0.2-0.8 - 0.08- 0.15
N 400 - 700 45 - 90 75 - 140 0.3-1.0 0.3-0.8 0.1 - 0.3
# W 150 - 600 300 - 900 - 0.25-0.50 0.25-0.50
& 90 - 300 150 — 300 - 0.25-0.50 0.25-0.50
A 900 - 4500 =1500 - 0.15-1.00 0.15-1.00

% 1500 — 4500 =1500 = 0.15—-1.00 0.15—-1.00



37 5 A B 5t 7]

Molds Indexable Milling Cutters

R RK-F x5

AR A EEALEET] T RSN R~F

Inserts Dimentions for Indexable Mills

NEWS

BDE223R02/20
BDES323R06/25
BDE323R07/32
BDE323R08/40
BDES323R09/50
BDE323R09/60
BDE434R01
CDE212L01
CDE212L02
CDE313R01
CDE313L01
CDE322L14
CDE322R01
CDE322L01
CDE322R04
CDE322R05
CDE322L05
CDE322LKHO03
CDE322LKH03T13
CDE323R05
CDE323L05
CDES333R01
CDE334R01
CDE334R04
CNE323
CNE323 - R0.8
CNE44
CNE44 - R0.8
CNE454
LNE322 — KO5PH12
LNE323 - KO5PH12
LNE323 - 02
LNE424R01
LNE434 - 02
LNE446R01
LNE446L01
LND424K05

=
B

x KE x E
L
7.9%x13.4%x5.1
9.5x12.7x4.8
9.5x12.7x4.8
9.5x12.7x4.8
9.5x14.2%x4.8
9.5x14.2x4.8
12.7x20.6 x 6.4
7.9x%x11.1%x3.8
7.9x9.5x3.8
11.1x9.5%x4.8
11.1x9.5x4.8
9.5%x13.9%3.8
9.5x12.7%x3.8
9.5x12.7x3.8
9.5x12.7x 3.8
9.5x12.7x 3.8
9.5x12.7x3.8
9.5%x12.7x 3.8
9.5x12.7%x3.8
9.5x12.7x4.8
9.5x12.7x4.8
11.1x17.5x4.8
9.5x19.1x6.4
9.5%x19.1x6.4
9.5x12.7x4.8
9.5x12.7x4.8
12.7x12.7x6.4
12.7x12.7x 6.4
14.3x16.3x6.4
9.56x15.9%3.9
9.5x15.9%x4.8
12.7x15.9% 6.4
14.3x19.1x6.4
14.3x28.6x9.5
14.3x28.6%x9.5
14.3%x19.1x9.5
11.5x19.1x6.4

E
H

o &F A R



SESS

73 Al Rt T]

Molds Indexable Milling Cutters

AR A EEALEETI T RSN R~F

Inserts Dimentions for Indexable Mills

T hRES

LNE336R01M1
LNE446R01M

LSE323R02
LSE323L02
LSE434R01
LSE434L01
LSE435R100
LSE446R01
LSE446L01
LSE346R01 - M
LPE435R100
LSE446R01 - M
LPE446R100
SNE33 - 01
SNC44 - 60

SNC55

SNC55K08PH10X6

SPE33R01
SPE33R02
SPE44 - 102
SPE55R02
SPE55R03
SPE55R04
JPE33RO01
YCES323 - 01

YCE434 - 01

92.
92,
92,
028
92.

92,

40.
40.
40,
40.
40.

40,

001.
003.
101,
108.
203.

206.

ZDE324K08

04

04

04

04

04

04

ZDE324K08T13

14.3x19.1x9.5
16x28.6x9.5

9.5x15.9x4.8
9.5x15.9x4.8
14.3x19x 6.4
14.3x19x 6.4
13x19x8.5
14.3x28.6x9.5
14.3x28.6x9.5
14.3x24x9.5
14.3x19x 8.5
16x28.6x9.5
16x28.6x9.5
9.5x9.5x4.8
12.7 x 12.7 x 6.35(M4)
15.9x 15.9%7.9
15.9x15.9%7.9
11.1x11.1x 4.8 x80°
11.1x11.1x 4.8 x 80°
15x 15 x 6.4 x 90°
14.3x14.3% 6.4 x 80°
12.7x 14.3% 6.4 x 80°
14.3x22.8 % 6.4 x 80°
11.1x11.1x4.8x70°
9.5x15.9x4.8

14.3x19.1 x6.4

9.5x15.9x4.8

9.5x15.9x4.8

12.7x19x6.4

12.7x19x6.4

14.3x28.6x9.5

14.3x28.6 x9.5

9.5x15.9x6.4

9.5x15.9x6.4

el T
AET




73 Al R T]

Molds Indexable Milling Cutters

R A - L2

SE AT RIS T T R AME R T

Inserts Dimentions for Indexable Mills

EExKExEE

TREES B 1 " il &
LSE323R02 95x159x4.8

LSE323L02 95x15.9x4.8

LSE434R01 143x19x6.4 L H
LSE434L01 143x19x 6.4 i ! %
LSE435R100 13x19x85 m' | @ i
LSE446R01 14.3x28.6x9.5

LSE446L01 14.3x28.6x9.5

LSE346R01 - M 14.3x24x95

LPE435R100 143x19x85

LSE446R01 — M 16x28.6x9.5

LPE446R100 16x28.6x9.5

SNE33 - 01 95x9.5x4.8

SNC44 - 60 12.7 x 12.7 x 6.35(M4) L !
SNC55 15.9x15.9x 7.9 - __» H
SNC55K08PH10X6 15.9x15.9x 7.9 [

SPE33R01 11.1x 11.1 x 4.8 x 80°

SPE33R02 11.1x 11.1 x 4.8 x 80°

SPE44 - 102 15x 15 x 6.4 x 90° &° L H
SPE55R02 14.3% 14.3 % 6.4 x 80° \

SPE55R03 12.7 % 14.3 % 6.4 x 80° @ @
SPE55R04 14.3%22.8 x 6.4 x 80° 3 \

JPE33R01 11.1x11.1x 4.8 x 70°

YCE323 - 01 95x15.9x4.8 r oy
YCE434 - 01 14.3x19.1x 6.4 =1 O H
92. 40. 001. 04 95x159%x4.8

92. 40. 003. 04 95x15.9x4.8

92. 40, 101, 04 12.7x19x 6.4

92. 40. 103. 04 12.7x19x 6.4

92. 40. 203. 04 14.3x28.6x9.5

92, 40, 206. 04 14.3x28.6x9.5

ZDE324K08 95x159x6.4 i iy
ZDE324K08T13 95x159x6.4 g

>~ SF <k



http://www.links-china.com
HAF SR =%

BRRAERAR RERRTAEREEAT

GENERTEC HARBIN MEASURING & CUTTING TOOL CO ., LTD.
Hifk: MB/REM XA TFER445 Add: NO.44 HePing Road Harbin China
B1E (Tel) : 400-008-1952
HLYB2303

SINCE1952




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




